
���������	��

�	��� ��� �	������������


��� ��� � ����� ��!"����!$#��%�
#&�'!��&�)(��'*�!"����!$#��%� +-,.!"���/��� �%�

� +-��� ,&�1032 !4� #65 ,&7�598:7;��� � � ��,%530=<?>A@
���/�&@ +;(�� 7�� 53�1� +-@&� ����� ��!"����!$#��

B�C
DFEAG DIH	D EAJKD H	L M
DIM DIM N%OPH	JKQ L RTSIM DIC
H	L R�L

UWVYX[Z]\_^]`badcWegfhXjilkmVYn]op\

qsr tvuxwzyv{}|~r ���s�z����{x��� {
t������}t��}��uv�~���}������|�����yv�xyv{s��|�{}|~r ��|~r ���x����{vrs������{}u�r ��|~r ���x�
�bt�r ��|��xyv�x��|����� ¡{x¢��[t�r ��|��xy�� ���� ¡��r ��{vr £z�%wz�%yv¤¥������|¥wz¢
{}t�{vr |��x���[wz¢ ��r { |��x¢ {}t�¦v��|��x��� |���� §Y�[|�{}tv|��x¨�r {}����©

ª qsr tvux£zyv{}|����«�mr ¬~� ���¥�x���x�­��|��x¢W�z��{x��yv����yv¤¥¢��s��|�{}|~r ��|~r ���

 ¡��r ��{vr ®x�
q��[��¤¥y~���~r ���W¯}°x°v±



ª

� t�{x����©x��{ qsr tvuxwzyv{}|~r ���d�z����{x��� { �[� ���~� ���}���]��yv¦���wz¢�{d{}t�¦d|��x¢ ���~r yv�[uv� �����[|�{x��|~r ���
�bt�r |����vt�� t����Y���~� � ���}����{}t�¦Y|���� � �m�-|���� ��yv�xyv{}|�������|�{}|~r ��|~r ���x����{vr$������{}u�r ��|~r ���x���bt�r �
��|��xyv�x� |����  ¡{x¢��[t�r ��|��xy�� ���d ¡��r ��{vr £z� ��|��x¢ �}t��b{x�~r ��y ª�ª ª ª ª ª ���x¢��¥¬��~� {x��� |���� ��©xyv��wz¢�{ yv�|��x¢��z��wb|��¥�~r ��¦	�­{x¢��x¢~r ��yv¦�
 ��r |����x����� {x�W|����st����~����®xyvyv{}|���� §Y�[|�{}tv|��x¨�r {}��£z¢s��t����x¬�£z¢���|��x¢
�z��{x��yv����yv¤¥¢��s��|�{}|~r ��|~r ��� ª ��{syv¤[uv�g|��x�­�[t�r |����vt��x�­�}|�{x¢
�

�  ¡�~u�� |��x��� ª�� �bt�r ��uv¤[tvwz¢�����­��©}|���{x�­§ ª� § t���©}|���r ��{x�«§ ª
� ¤[� ���~r ���s|��x�­qsr tvuxwzyv{}|~r ���x�­�z����{x��� {x�«{}t�¦�|��l��yv�xyv{s��|�{}|~r ��|~r ���x�­��{vr�������{}u�r ��|~r ���x�­�bt�r �
��|��xyv�x� |����W ¡{x¢��[t�r ��|��xy�� ���W ¡��r ��{vr £z�¡¬��¥¢��}t���¬��}ux£z¢���r�{}t���¬��}¨ �W|¥wz¢���¢�wzyx£z¢�|����W���}� ����{x��¤¥{ ª



UNIVERSITY OF PIRAEUS

DEPARTMENT OF STATISTICS

AND INSURANCE SCIENCE

POSTGRADUATE PROGRAM

IN APPLIED STATISTICS

BOUNDS FOR THE
RENEWAL FUNCTION

By

Vaios N. Dermitzakis

MSc Dissertation

submitted to the Department of Statistics and Insurance
Science of the University of Piraeus in partial fulfillment of
the requirements for the degree of Master of Science in

ª Applied Statistics

Piraeus, Greece
December 2005





ª

��|����x�­���x¢���� �«yv���
� � ���l��{vr���¢�{x��|�{x��� {
��{vr���|~r �­{x¬��[uv��¤¥��yv���
�mr ���x¢�� ��{vr�§Y®x��|����

i



ii



���������
	���
������

� {��~���[uv{�¢�{��¥�x¨ {x�~r ��|��x��w |��x¢ ��r ���~��¤¥¢���r {pyv���s���vt���� {l{}t��}|�¤[uv�¥�������xyv{x¢�|~r ��¦l���xyxt�{x��{ �
��|�®}|�����{~� � ¦~uv��|���¬~r ®x������r {l���}� ����{x���x�­|��x�«t�{x����©x��{x�«�¥����{x��� {x� ª�� ¬~r {v� |��¥���¥�g�¥�x¨ {x�~r ��|~� �¥�­��{
�~���[uv{K¢�{K�[������®x��w ��|��x¢ �[t�r ��uv¤[t��x¢�|�{¡��{~���}���}|���yv���K� ª � ª  ¡�~u�� |��K��r {¡|��x¢ ®x�~r ��|��K���x¢��¥����{x��� {
t����p��� ¨ {xyv�«��{vr���r {�|��x¢��}t���yv�x¢��lt����p�[t�¤¥¬���r ��� ª�� r�t��~uv©}|~r yv�¥�Wt�{x��{}|��x���x����r ��� ¬~r ������£z����r �g��{vr
���xy~�����}uv¤¥�­|����s��{~��£z�«��{vr���yv� ����¬~r ��¦}|��}|�{�t�����|��x¢�¬~r {}���~� ¢���r���|��x¢ �¥����{x��� {s|������ ���x¢�¤j��{}uv{x¢
���x��r {x��|~r ��®Y��|��x¢p� ��¤[u�r ���Y��{vr �~uv�v��uv�x��wz���]{x�}|��x��|��x��qsr tvuxwzyv{}|~r ���x���¥����{x��� {x� ª �bt�� ���x�s��{
�~���[uv{g¢�{ �¥�x¨ {x�~r ��|��x��w ��{vr�|�{ �}t�¦~uv��r t�{�yv¤[uv�W|��x�¡|��~r yv�[uv��©x���[t�r |����vt��x��� ª § ª �­��©}|���{g��{vr�� ª
§ ª § t���©}|���r ��{���r {�|��x¢W�[t�� ��uv����� |��x���¥����{x��� {x� ª

iii



iv



� � �
���������

� ��y�r {«{x¢�{x¢��[wb|~r ���«{x¢�¤[u�r ���«�­t�����¦}|��}|�{«yv� |��gyv�[��{}uv©}|��¥���g�¥¢�¬~r {x��¤¥���x¢���� ¢�{vr��«{x¢�{x¢��[wb|~r ���
���x¢�®x��|��x�����

U(t)
�b�]�vt���� { �[������® ����r |�� {x¢�{xyv�¥¢�¦�yv�¥¢�� tvuv�~�����s|¥wz¢p���[���x¢�¦}|¥wz¢ ��|�� ¨ ���x¢~r ��¦

¬~r ®x��|��xyv{
[0, t]
¦}|�{x¢���r��¥¢�¬~r ®xyv�¥����r�¨ ��¦x¢���r�{x¢�®xyv�¥��{­��� ¬~r {x¬��}¨�r ��®g���[���x¢�¦}|�{W��� ¢�{vr�{x¢�� ��®x��|��}|��¥�

|��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥� ª � ���x¢�®x��|��x����{x�}|���¨ ���x��r yv�vt���r ��� |�{vr���� ¬~r ®x���������x� ��uv®x¬����x� |��x� �¥��{x��yv���
��yv¤¥¢��x�«¤¥���¥�x¢�{x�W¦vtvwz�g�����[wz�~� {l{ �~r �vt�r ��|~� {x��� �s���[wz�~� {s��r ¢�¬�©x¢�wz¢ � �s���[wz�~� {����x��£z¢�{x¢�{xyv�x¢��x�
��{vr � ¬��xyv�~����{x��� { ª �­©x�~r ���]��|�¦}¨ ���]|��x�Y���}� ���[���~r yv¤¥¢��x�]¬~r tvuxwzyv{}|~r ���x�]��� ¢�{vr�� t�{x�����x��� {x���
|¥wz¢ ���xyv{x¢�|~r ��¦}|��¥��wz¢g����{}��yv®}|¥wz¢gt�����¤¥¨ ���x¢gt����}|�{~��������r {s|��x¢ {x¢�{x¢��[wb|~r �������x¢�®x��|��x��� {}uxuv®
��{vr��s���}� ���~r |~r ���p{ �~r �~uv¦~���x���l{x�}|�£z¢W|¥wz¢ ����{}��yv®}|¥wz¢g|�¦��������[wz���}|~r ��®�¦����l��{vr�yv�¡��®x������® �
t���r { {x�~r ��yv�}|~r ��®pt�{x��{x¬���� ��yv{}|�{�� r ¬~r {v� |��¥��{ ��|��x¢�t��¥�~� tv|¥wz���pt���� �l��{}|�{x¢���yv�p|¥wz¢s�¥¢�¬~r ®xyv�¥��wz¢
¨ ��¦x¢�wz¢

F
yv�[|�{ ��©]|¥wz¢Y���xy~��®x¢�|¥wz¢ {x¢��}����rz������®}t���r { ��uv®x��� { �~r �vt�r ��|~� {x� � t ª ¨ ª IFR-DFR,

NBU-NWU, IMRL-DMRL
� ª

v



vi



Abstract

In a renewal process the quantity with the major interest is the renewal function,

U(t), which expresses the expected number of the renewals in the interval [0,t] when the

intermediate times between successive events are independent random variables. This

function has applications in various branches of applied research such as reliability the-

ory, risk theory, queuing theory and demography. The main purpose of this thesis is the

presentation of the most important bounds, which have been suggested for the renewal

function and also the comparative study of these bounds both theoretically and numeri-

cally, especially in the case where the distribution of the intermediate times F belongs to

an aging class of distributions (e.g. IFR-DFR, NBU-NWU, IMRL-DMRL ).
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X : Ω → R
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X−1 ((−∞, x]) = {ω ∈ Ω : −∞ < X(ω) ≤ x} ∈ F , ∀x ∈ R.
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� {��T\xP
s < t
HT`,AZtwSIP
vxP(kmfnAbP7zjuY`aA�p

Nt −Ns
Hr[ZP7WY\ @BAei^OQfQ\YA7CrO(P7WY\ ] km_(A7CrOy@YtekazYi^O^A7CrO [ZXnt

[�W�Pn� kYP AbX
[ZXZ\ pq]j`qgjP^O�@BAbX�SMWYX�OZ\~gj_"�Z\xi
@BA�` kYP
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(t, t+ h]
HB\ @�S��
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Pr (N(t, t + h) = k |N(s), 0 ≤ s ≤ t) =





λh+ o(h),
P^O
k = 1

1 − λh + o(h),
P^O
k = 0

o(h),
P^O
k ≥ 2

� ¯ ª25 �

_
[ZXnt
N(t, u) = N(u) − N(t), 0 ≤ t ≤ u
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T1, T2, T3, ...
� y�r { {}���~uv���~� � { {}t�¦]yv� {x��¢��}|~r ��¤¥�����x¢��¥¨ ��� ��� {x¢�� ��®x��|��}|��¥�g��{vr r ��¦x¢���yv�¥�

|��x¨ {v� �¥�gyv�[|�{���uv�}|�¤¥�«yv�­����r ¢��p{~������r ��|~r ���p���x¢�®x��|��x���s��{}|�{x¢���yv�x�
FTi

(t) = Pr(Ti ≤ t), i =

1, 2, 3, ... ª ��¢����[wz���x�����xyv�gtvwz��� |��x¨ {v� { yv�[|�{���uv�}|�� Ti

{x¢�|~r ��|���r ¨ ���"��|��x¢p�¥¢�¬~r ®xyv�¥��� ¨ ��¦x¢��
yv�[|�{ ��©g|¥wz¢g¬~r {x¬��}¨�r ��£z¢ {x¢�{x¢��[£z���[wz¢

i
�
i+ 1

�
i = 0, 1, 2, ...

��{vr��}t��x��¤¥�����xyv�¡tvwz��|���¨ ���x¢~r ���
��|~r ��yv��yv�x¬�¤¥¢W¤¥¨ ���xyv��y�r {s{x¢�{x¢�¤[wz���g|�¦}|������~� �����xyv��|~r ��|��x¨ {v� �¥�­yv�[|�{���uv�}|�¤¥���

5xª ;���¦x¢����«yv¤¥¨ �~r�|��x¢ n � ����|�� {x¢�{x¢�¤[wz�����

Sn =
n−1∑

i=0

Ti � ¯ ª ¯ �

¯ ª  Kuv�~������{x¢�{x¢��[£z���[wz¢W��|��l¨ ��¦x¢�� [0, t]
�

N(t) = Nt = 1 +max {n : Sn ≤ t} , (t ≥ 0) � ¯ ª 8 �

§Y�K��®x��� |¥wz¢«t�{x��{}t�®x¢�w:���xy~���~u�r ��yv¦ ��r ��¨ ©x���x¢W|�{�� ���x���

5xª � ��|��}¨ {x��|~r ����{x¢�¤[u�r ��� {Sn, n ∈ N} ��{}uv��� |�{vr����x¢��~���x�­�s{}tvuv�s{x¢�{x¢��[wb|~r ����¬~r {x¬~r ��{x��� {
¬~r {}���~r |���©�¨ ��¦x¢����syv�����x¢��¥¨ � ¨�£z���l��{}|�{x��|�®x���[wz¢ ª
¯ ª � ��|��}¨ {x��|~r ��� {x¢�¤[u�r ��� {Nt, t ≥ 0} ��{}uv��� |�{vr�{}t�{x�~r ��yv�}|��~r {�{x¢�{x¢��[wb|~r ��� ¬~r {x¬~r ��{x��� {���� �
¢��¥¨ ��©x�­¨ ��¦x¢�����yv��¬~r {}���~r |�¦p¨�£z������{}|�{x��|�®x���[wz¢ ª

8�ª � yv¤¥���s|~r yv�l|��x�«|��x¨ {v� {x�gyv�[|�{���uv�}|��x� Nt, U(t) = E(Nt) t ≥ 0
����{}uv��� |�{vr4{x¢�{x¢��[wb|~r ���

���x¢�®x��|��x���W��{vr�{x¢�|~r ��|���r ¨ ������|��x¢g{x¢�{xyv�¥¢�¦�yv�¥¢���{x�~r ��yv¦l{x¢�{x¢��[£z���[wz¢W��|��
[0, t] ª

9 ª � ��¨ ©x���x¢W��r�t�{x��{}��®}|¥w=r ����¬�©x¢�{xyv�¥�«r ��¦}|��}|��¥���

� {	� � {Nt ≥ n} = {Sn ≤ t}

� �
� � {Nt ≤ n} = {Sn+1 > t}

� ��� � {Nt = n} = {Sn ≤ t < Sn+1}

-
-� -� -� -�

¨ ��¦x¢����
t = 0

T0 T1 Tn−2 Tn−1

Sn−1S1 S2 Snt0
Sn−2

tt t t t t tt
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��|��s���xyv��� �s{x�}|�¦ t���¤[t���r�¢�{g{x¢�{x��¤¥�����xyv��tvwz���[��|�¦��¡|��x�¡���x¢��~�����x� � ordinal
�m{x¢�{x¢��[wb|~r ���x�

¬~r {x¬~r ��{x��� {x� t���� {x¢�{x��¤¥��{xyv�lyv¤¥¨ �~rz|�£z��{����}t�®x��¨ ��rb��{vrm� ��{~���x��|��¥���xyv¤¥¢�� {x¢�{x¢��[wb|~r ��� ¬~r {x¬~r �
��{x��� { � delayed renewal process

� �b��|��x¢��vt���� {]� ¨ ��¦x¢����st����Y���xy~��{v� ¢���r$� t���£b|�� {x¢�{x¢�¤[wz���
yxt���������¢�{s¤¥¨ ��r�¬~r {x�������[|~r ������{}|�{x¢���yv�s{}t�¦p�[����� ¢��st����s¤¥¨ ���x¢ ��r

T2, T3, ...
����r��vt���� �¥�Wt�{x��{xyv¤ �

¢����x¢Yr ��¦x¢���yv�¥� ª �zyv��� �p��|��Y���x¢�¤¥¨ ��r {Y|����]���¥��{}uv{v� ���]yv{x�s��{Y{x��¨ �~uv�~����©xyv�syv��|~r �l���x¢��~����r �
{x¢�{x¢��[wb|~r ��¤¥�­¬~r {x¬~r ��{x��� �¥� ª

� A�9 'T����X �<;�� P
]7WYXZ\ @BAe\~g�p @Yt^OZi7WBA�`q@B` gjP AbP^OeXbkrpqR�A�`qR�AZtwSIP
vxP
R�kmfnAbP7zjuY`aA�pqR
Sn
Hl�Zv OQfnAbP
\

P^[Z_ �
Pr[Sn ≤ t] = F ∗n(t) � ¯ ª 9 �

_
[ZXnt
F ∗n fQv OQP
\ ` n-

Aei^�
`qR>@Yt^OZN�uK\ �
`�A�`qR
F
kmf}AbX�O"f7P
tjAe_(A�`qR(D zjuKN�[Zf��1P7W�i7WBA�` kYP��TL {

� A�9 'T����X �Y;�� @Yt^OZi7WBA�`q@B`,[
t
gaOZ_�A�`aAbP
R1A�`qR�AZtwSIP
vxP
RhkmfnAbP7zjuY`aA�pqR
Nt
HM�Zv OQfnAbP
\BP^[Z_ �

Pr[Nt = t] = F ∗n(t) − F ∗(n+1)(t) � ¯ ª ± �

_
[ZXnt �
n = 0, 1, 2, ...

gjP
\
F ∗0(t) = 1, ∀t ≥ 0

 H 9��$%3�21TX

Pr[Nt = n] = Pr[Nt ≥ n] − Pr[Nt ≥ n+ 1]

= Pr[Sn ≤ t] − Pr[Sn+1 ≤ t]

= F ∗n(t) − F ∗(n+1)(t)

� A�9 'T����X >Y; �T\xPsA�`qO"P^OQP^OQfcC3Ae\~g�ps@Yt^OZi7WBA�`q@B` HM\ @�S��
Xnt^O �
� { ∀t ≥ 0

HMN S&Xntekmf �
U(t) =

∞∑

n=0

F ∗n(t) � ¯ ª L �

� { ∀t ≥ 0 : F (t) < 1
H:N S&Xntekmf �

U(t) ≤ 1

1 − F (t)
� ¯ ª�= �
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5xª � � tvwz����� ¢�{vr���¢�wz��|�¦ ��r {g|��gyv¤¥���W|~r yv�gy�r {x��yv� {x��¢��}|~r ���x�¡{}��¤¥��{vr �x��|��x¨ {v� {x��yv�[|�{���uv�}|��x�
; ��r ��¨ ©x��r �

E(X) =

∞∑

k=1

Pr(X ≥ k) =

∞∑

k=0

Pr(X > k)

�[t���yv¤¥¢�wz����¤¥¨ ���xyv� �

U(t) = E(Nt) =

∞∑

n=1

Pr[Nt ≥ t | T0 = 0] =

∞∑

n=1

Pr[Sn ≤ t | T0 = 0]

=

∞∑

n=1

Pr[Sn−1 ≤ t] =

∞∑

n=1

F ∗(n−1)(t) =

∞∑

k=0

F ∗k(t) � ¯ ª M �

¯ ª ;����x��r yv�vt���r £z¢�|�{x�­|��W��{x��r ���sr ¬~r ¦}|��}|�{�|¥wz¢W���x¢��[u�� ���[wz¢ �

f ∗ g ≤ fg ⇒ f ∗n ≤ fn

¦vt����
f, g
{x© �����x���¥�����x¢�{x��|��x����r ����{vr�{x����©

F (t) < 1
��¤¥¨ ���xyv� �

U(t) =

∞∑

n=0

F ∗n(t) ≤
∞∑

n=0

F n(t) =
1

1 − F (t)

� A�9 'T����X N:;��lflk:\xP P^OQP^OQfcC3Ae\~g�ps�Z\xP
�Z\~gjP
@�vxP HMP^O
F (0) = Pr[Ti = 0] < 1

H Ae_�Abf}`5P^OQP^OQfcC3Ae\~g�p
@Yt^OZi7WBA�`q@B`

U(t) =
∑∞

n=0 F
∗n(t)
@Yt �ageuKv OQfQ\KXbk:XZ\x_bk:X�W��KP @�fhgji
]
f}[Zf�[ZfGW�P
@akmN�OeX1�Z\xi
@BA�` kYP(A�`qR

k:X�W��YpqR
[0, τ ]
H ∀τ ≥ 0

{&=�3W�P HM@Yt �ageuKv OQfQ\BgjP
\ �a\xP gji
]
f ∀t ≥ 0
{

� A�9 'T����X 4Y; �(O1XZ\<f�OZ�Z\xiQkmf7@�XZ\nSMW�_�OeXZ\
Ti
kmfnAbP^� �"�Z\xP
�ZXxS&\~g UrO1P^OQP^OQfcUr@�fcCrO1N S&Xnt^O}P
]7WYXZ\ @BAe\~g�p

@Yt^OZi7WBA�`q@B`sgjP AbP^OeXbkrpqR
F
kmf}Ae\ R}fc�
pqR}\x�Z\x_�A�`aAbfQR �

� {
FTi

(0) = 0, i = 1, 2, ...

� {�= ?YSIfQ\�� W�Pn� kmN�O^`,[�W<U3A�`�[ZP7W�in��CB�aXnH
F

′
= f

Ae_�AbfbH:\ @�S��
fQ\ �
U

′
(t) =

∞∑

i=1

f ∗ F ∗(i−1)(t) = f(t) + (f ∗ U)(t) , ∀t ≥ 0 � ¯ ª K �

_
[ZXnt �
n = 0, 1, 2, ...

gjP
\
F ∗0(t) = 1, ∀t ≥ 0.

�¡t�¦l|��x¢«t�{x��{}t�®x¢�w t���¦}|�{x����� t����v��©}tv|���r��l� ���x�­���~r ��yv¦����
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8 A�����S:90+��Y; ��[ZP7W�in��CB�aXZRVA�`qR3P^OQP^OQfcC3Ae\~g�pqR3@Yt^OZi7WBA�`q@B`qR�@�fTk:\xPhP^OQP^OQfcC3Ae\~g�p1�Z\xP
�Z\~gjP
@�vxPh_
[ZXnt
XZ\Tf�OZ�Z\xiQkmf7@�XZ\<SMW�_�OeXZ\ � C3pqR5N S&Xnt^O�P
]7WYXZ\ @BAe\~g�p�@Yt^OZi7WBA�`q@B`�gjP AbP^OeXbkrpqR

F
HIkmf�@Yt^OQf Shp [�W<U3A�`

[ZP7W�in��CB�aX gjP
\
FTi

(0) = 0, i = 1, 2, ...
H1gjPcuqfQv AbP
\&[
t
gaOZ_�A�`aAbP P^OQP^OQfcUr@�fcCrO�p P^OQP^OQfcC3Ae\~g�p

[
t
gaOZ_�A�`aAbP�D
renewal density

LnHM@YtekazMXwuKv �7fnAbP
\akmf
u(t)
gjP
\K\ @�X��jAbP
\<kmf �

u(t) =
∞∑

n=1

f ∗ F ∗(n−1)(t) = f(t) + (f ∗ U)(t), ∀t ≥ 0 � ¯ ª25 ° �

8 A�����S:90+ ��� ; �(O {Sn, n ∈ N} HlfQv OQP
\mk:\xP�P^OQP^OQfcC3Ae\~g�p��Z\xP
�Z\~gjP
@�vxP�gjP
\ {Nt : t ≥ 0} `�P^O^Aev �@BAbXZ\ Sh`sP^[ZP7WY\ ] krpaAoWY\xPyP^OQP^OQfcC3Ae\~g�p5�Z\xP
�Z\~gjP
@�vxP HdAe_�AbfhX�W�v �7Xntekmf}Ae\ R"[ZP7W�P
gji A7C AZtwSIP
vxfQRhkmfnAbP7zjuY`
�
AeNQR �
� {��IWYX�OZ\~g�p�@BAe\ � krp�A�`qR�Abf�uqfQtjAbP
vxP
R>P^OQP^OZNcCr@B`qR>@BAbX

[0, t]
�

SNt = T0 + T1 + T2 + ...+ TNt−1 � ¯ ª2535 �

� {��IWYX�OZ\~g�p�@BAe\ � krp�A�`qR"[�W<U3A�`qR>P^OQP^OZNcCr@B`qRlHM@BAbX
[t,∞]

�

SNt+1 = T0 + T1 + T2 + ...+ TNt
� ¯ ª25 ¯ �

� {��-[ZXwuqfQ\~[Z_bkmf�OeXZRTSMW�_�OeXZR � C3pqRhk:X�OZi
�eP
R"[ZXnt�pq�^`1uqfQ\ AbXnt7Wa�afQv�SMW�_�OeX
t
�

Yt = SNt − t � ¯ ª25 8 �

� { �IuK\~gjvxP�A�`qR�k:X�OZi
�eP
R [ZXnt(z
W�v @�gjfnAbP
\r@�f}uqfQ\ AbXnt7Wa�avxP gjP Aei `�SMWYX�OZ\~g�p�@BAe\ � krp
t
Do_
[ZXnt

t
H

@Yt^OeXwuK\~gj_ZRrSMW�_�OeXZRIuqfQ\ AbXnt7Wa�avxP
R1AbXnt(@Yt
@BA�p kYP AbXZRwL �

Xt = t− SNt−1 � ¯ ª25:9 �

� { �}t^OeXwuK\~g�p � C3p�A�`qRhk:X�OZi
�ZXZRy[ZXntVz
W�v @�gjfnAbP
\K@�fruqfQ\ AbXnt7Wa�avxP�A�`lSMWYX�OZ\~g�p�@BAe\ � krp
t
�

Zt = Xt + Yt � ¯ ª25 ± �

-

-�

-� -�

¨ ��¦x¢����
t = 0

Zt

Xt Yt

tS1 S2 SNt+1SNt

tt t t t t tt
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��|~r �l{x¢�{x¢��[wb|~r ��¤¥��¬~r {x¬~r ��{x��� �¥�s|�� ���[���x¢�¦��l¦}|~r yv�[|�®Y{}t�¦ ��®~����{x¢�{x¢�¤[wz��� ���¥¢�¢~r ¤[|�{vr y�r {Y¢�¤¥{
{x¢�{x¢��[wb|~r ��� ¬~r {x¬~r ��{x��� { yv�g|�{Y� ¬~r { ¨ {x��{}��|��x�~r ��|~r ��® t����Y��� ¨ � � t������}����©xyv�¥¢����4�����~���x���W��|��x¢
¬~r {}|�©}tvwz����|����­uv�[��¦�yv�¥¢����­{x¢�{x¢��[wb|~r ����©«�[t�r ¨ ��r ���xyv{}|���� ª � ©xyv��wz¢�{­yv� {x�}|�¦«yxt�������©xyv� ¢�{­�}t����
uv�~��� �����xyv� ¬~r ®x������{ ¨ {x��{}��|��x�~r ��|~r ��® |��x� ¬~r {x¬~r ��{x��� {x����¬��¥��yv�¥©x�x¢�|�{x�pwz� t������ |��d¨ ��¦x¢�� |��x�
t���£b|��x�l{x¢�{x¢�¤[wz���x� ª �¡���~uv���~��£z¢�|�{x�l|�� yv� ����¬��~uv�~��� { {x�}|��]¬~r {}|��}tv£"���}��{x¢ t��~uxuv® {}t��}|��[uv¤ �
��yv{}|�{­��|��x¢K��¢�{x¢��[wb|~r ��� � �[wz�~� { ª ��{«���xyv{x¢�|~r ��¦}|��¥��{­{}t�¦g{x�}|�®­{x¢�{x��¤¥���x¢�|�{vr���� {x�}|�����{vrv|��x¢
�[t�¦�yv�¥¢���t�{x��®}����{x��� ª
� A�9 'T����X �Y; ��P^OQP^OQfcC3Ae\~g�ps@Yt^OZi7WBA�`q@B`

U(t)
\~gjP^OeX
[ZXZ\xfQvYA�`5@�S&N7@B`��

U(t) = 1 + (F ∗ U)(t)

= 1 +

∫ t

0

U(t− x)dF (x),

∀t ≥ 0
{

 H 9��$%3�21TX
� r {s|��x¢g{}t�¦�¬���r ���s|��x�­t���¦}|�{x���x����{s¨ ���x��r yv�vt���r �x�����xyv�­|��p{x¢�{x¢��[wb|~r ��¦p�[t�r ¨ ��� ���xyv{ ª � �b|���r ��{x¢
¬��¥��yv�¥©x�����xyv��|��pyv¤¥���s|~r yv�l|����p{x�~r ��yv��©�|¥wz¢s{x¢�{x¢��[£z���[wz¢ wz�Wt������g|�� ¨ ��¦x¢�� t����p���xy~��{v� ¢���r
� t���£b|���{x¢�{x¢�¤[wz��� � yv�[|�® |���¨ ���x¢~r ���s��|~r ��yv��yv�x¬�¤¥¢�� ¤¥¨ ���xyv� �

E(Nt | T1 = x) =





0,
{x¢
x > t

U(t− x),
{x¢

0 < x ≤ t
1,

{x¢
x = 0

� ¯ ª25 L �

� �¥��{x��yv�~��� |���� ���[wz���xyv{}|�����|��x�­�~u�r ���x�­t�r ��{x¢�¦}|��}|�{x����|��s¯ ª25 L ��yv{x��¬~� ¢���r �

U(t) = E(Nt) =

∫ t

0

E(Nt | T1 = x)dF (x)

= 1 +

∫ t

0

(U(t− x))dF (x)

= 1 + (F ∗ U)(t)

8 A�����S:90+,���<; �(O
Q
HYfQv OQP
\�k:\xPy@Yt^OZi7WBA�`q@B` � W�Pn� kmN�O^`qRhg �ekYP^OZ@B`qRl@BAbX����ZH

t� gjP
\ F HKk:\xPy@Yt^OZi7W��A�`q@B`,gjP AbP^OeXbkrpqRcH-AeNnAbXZ\xfQR"Ur@BAbf(OQP�X�W�v �7X�O^AbP
\MXZ\:@Yt^OQf�uKv �QfQ\ R
H ∗ F

gjP
\
Q ∗ F
H�Ae_�Abf �a\xP�gji
]
f
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in�qOQCr@BA�`s@Yt^OZi7WBA�`q@B`
H
@BAbX ���ZH

t� HMX�W�v �7Xntekmf1A�`qO"fc� v @qCr@B` �

H = Q+H ∗ F � ¯ ª25.= �

p5\ @�XZ���^OQPQkYP
H(t) = Q(t) +

∫ t

0−
H(t− x)dF (x) (t ≥ 0) � ¯ ª25 M �

`5X
[ZXZvxP(gjPcuqfQv AbP
\�P^OQP^OQfcC3Ae\~g�p5fc� v @qCr@B`�{
?#% �BATX0S�� �<; � P^OQP^OQfcC3Ae\~g�p fc� v @qCr@B`ED � { � � LnH"N SIfQ\Ik:\xP gjP
\Ik:X�OQP
�Z\~g�p u �
@B` ` X
[ZXZvxP fQv OQP
\
� W�Pn� kmN�O^`5@�f1[Zf�[ZfGW�P
@akmN�OQPy�Z\xP
@BA�p kYP AbPygjP
\K�Zv OQfnAbP
\BP^[Z_yAbX�O(A �q[ZX �

H = Q ∗ U � ¯ ª25 K �

p5\ @�XZ���^OQPQkYP
H(t) =

∫ t

0

Q(t− x)dU(x) � ¯ ª ¯}° �
_
[ZXnt

U(x) =
∑∞

n=0 F
∗n(x)
`5P^OQP^OQfcC3Ae\~g�ps@Yt^OZi7WBA�`q@B`

� A�9 'T����X 
B; �lf�k:\xP}P^OQP^OQfcC3Ae\~g�p��Z\xP
�Z\~gjP
@�vxP HK_
[ZXnt>XZ\bSMW�_�OeXZ\ kmfnAbP^� �1A7CrOl�Z\xP
�ZXxS&\~g UrOhP^OQP^OQfcUd�
@�fcCrO-N S&Xnt^O3P
]7WYXZ\ @BAe\~g�p>@Yt^OZi7WBA�`q@B`>gjP AbP^OeXbkrpqRcH

FTi(t)Pr[Ti ≤ t]
H�kmfT@Yt^OQf Shp�[�W<U3A�`�[ZP7W�in��CB�aX

D
F

′
= f
LnHmAe_�Abf1�a\xPsA�`�[
t
gaOZ_�A�`aAbPsA7CrO"P^OQP^OQfcUr@�fcCrOnH

u(t)
\ @�S��
fQ\�_�Ae\ �

u(t) = lim
δt→0+

1

δt
Pr[
P^OQP^OZNcCr@B`qRh@BAbX

(t, t+ δt)] � ¯ ª ¯ 5 �

����� � 032�+3! � ! �s#A�
/1�(/10V� !"�*)5�s#_< �7���"�*),�(��47�(# ��0�� ����0&�	�1%
2
��� /1%

��|~r � t������}����©xyv�¥¢��¥� t�{x��{}����®x�����x���$yv�[uv�[|��x��{xyv�­|��x¢�¤¥¢�¢���r {p|��x� {x¢�{x¢��[wb|~r ���x� ¬~r {x¬~r ��{x��� {x�����
¤¥¢�{ t��[t��¥��{x��yv¤¥¢�� ¨ ���x¢~r ��¦d¬~r ®x��|��xyv{ ª ��|��x¢Yt���® ��� ¦�yxwz�Yyv{x� �¥¢�¬~r {x��¤¥����rz��{vrm� yv�[uv¤[|�� |��x�
¬~r {x¬~r ��{x��� {x�­��|��gt��¥�~� tv|¥wz����¦vt����s�l¨ ��¦x¢����­��� ¢�{vr�{x�����[|�®�yv�[��®}uv���������[wz���}|~r ��®�®}t���r ��������uv¦~� w
|����Y¦}|~r$yv¦x¢�� ¤[|���r$yxt�������©xyv��¢�{ t���������yv��r £z�����xyv� |�� ���xyxt��¥�~r ������®Y���x��|��xyv®}|¥wz¢ � t����Y¤¥¨ ���x¢
�x¬�� uv��r |����x�����x����r�� t���¦v����r |�{vr�¢�{ uv��r |����x�����x�����x¢W��r {syv�[��®}uv��¨ ���x¢~r ��¦ ¬~r ®x��|��xyv{ ª
?#% �BATX0S��W�Y; �lf&k:\xPyP^OQP^OQfcC3Ae\~g�p��Z\xP
�Z\~gjP
@�vxP H _
[ZXntyXZ\nSMW�_�OeXZ\akmfnAbP^� �(A7CrO��Z\xP
�ZXxS&\~g UrO�P^OQP^OQf7�
Ur@�fcCrO"N S&Xnt^O}kmN7@B`�Ae\ krp

µ = E(Ti) <∞ gjP
\��Z\xP
@Y[ZX�W�i σ2 = V ar(Ti) <∞ Hm�a\xP�A�`�kmfnAbP7zYPZ�Ae\~g�p(gjP AbP^OeXbkrp
N(t)
[ZXnt}P^O^Ae\ @BAbXZ\ SIfQv�@BA�`qOhP^[ZP7WY\ ] krpaAoWY\xP}@BAbXxSIP
@BAe\~g�pyP^OZN�uK\ �
` {N(t), t ≥ 0} H
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\ @�S��
fQ\ �
lim
t→∞

Pr


N(t) − t

µ√
1
µ3 tσ2

≤ x


 = Φ(x), ∀x ∈ R � ¯ ª ¯x¯ �

_
[ZXnt
Φ(x)
`5@Yt^OZi7WBA�`q@B`sgjP AbP^OeXbkrpqR�A�`qR�AZtq[ZX
[ZXZ\x` kmN�O^`qR1gjP^OeX�OZ\~g�pqR�gjP AbP^OeXbkrpqR�� D �ZH � L {

?#% �BATX0S�� >�� � 'TFI��CE%3� � �$%&+  #"$��"$%&��'��)(:9�?#% �BATX0S����Z; �lf5k:\xP�P^OQP^OQfcC3Ae\~g�p �Z\xP
�Z\~gjP
@�vxP H
_
[ZXnt�XZ\^SMW�_�OeXZ\BkmfnAbP^� �5A7CrO(�Z\xP
�ZXxS&\~g UrO�P^OQP^OQfcUr@�fcCrOyN S&Xnt^O�kmN7@B` Ae\ krp

µ = E(Ti) < ∞ Hr�a\xPA�`qO P^[ZP7WY\ ] krpaAoWY\xP P^OQP^OQfcC3Ae\~g�p �Z\xP
�Z\~gjP
@�vxP {N(t), t ≥ 0} gjP
\3A�`qO P^OQP^OQfcC3Ae\~g�p @Yt^OZi7WBA�`q@B`�H\ @�S��
Xnt^O(AbP(fc�
pqR��
� {

limt→∞

[
N(t)

t

]
= 1

µ
, (
kmf1[
\ ]
P^OZ_�A�`aAbP �

)

� {
limt→∞

[
U(t)

t

]
= 1

µ8 A�����S:90+ � �Y; � \xP�AZtwSIP
vxPhkmfnAbP7zjuY`aA�p �1H:DoP^O^Aev @BAbXZ\ SIP}gjP
\�`"gjP AbP^OeXbkrp(A�`qRcH
F
LlgjPcuqfQv AbP
\ P7WY\ ]Z�

kr`aAe\~g�p
(lattice)

H:P^O(tq[Zi7WcSIfQ\
d > 0

�-XZ\BAe\ kmNQR�A�`qR�OQP(P^O^pqgjXnt^O"@BAbX�@ �^OeXwuKX {0,±1d,±2d, ...}kmf1[
\ ]
P^OZ_�A�`aAbP � �^`nuqP
�^p HmOQP(\ @�S��
fQ\ �
∞∑

n=−∞

Pr[X = nd] = 1 � ¯ ª ¯ 8 �

� yv�[��{}uv©}|��¥�����W���[|~r ��¦�� d �$��r { |��x¢l�vt���� � r ��¨ ©x��r$� � ¯ ª ¯ 8 � �$��{}uv��� |�{vr$®x¢���r ��yv{ � span
��|��x�

F
��{vr�|�¦}|����

F
��{}uv��� |�{vr

d-
{x�~r ��yv�}|~r ��� ª ��|���t��¥�~� tv|¥wz����t����s¬��¥¢ �}t�®x��¨ ��r�|�¤[|���r ���W{x�~r ��yv¦�� d �

|�¦}|����
F
����{}uv��� |�{vr�yv��{x�~r ��yv�}|~r ��� ª

� ��A$��'T�0ATX0��X
�­®~�������x¢��¥¨ �x��|��x¨ {v� {�yv�[|�{���uv�}|�� ��� ¢�{vr�yv��{x�~r ��yv�}|~r �������¥¢�£:¬~r {}���~r |�¤¥�­|��x¨ {v� �¥�­yv�[|�{���uv�}|�¤¥��yv�
|~r yv¤¥�­��|�����©x¢��~uv��|¥wz¢g���x��r ��£z¢W{x�~r ��yx£z¢g��� ¢�{vr 5 � {x�~r ��yv�}|~r ��¤¥� ª
?#% �BATX0S��WN�� � ���V�)(:9  #"$��"$%&��'��)(:9 ?#% �BATX0S����Z; �(O {Sn, n ∈ N} HMfQv OQP
\�k:\xP P^OQP^OQfcC3Ae\~g�p�Z\xP
�Z\~gjP
@�vxP(kmf}P^[ZP7WY\ ] krpaAoWY\xP P^OZN�uK\ �
` {Nt, t ≥ 0} HdP^OQP^OQfcC3Ae\~g�p�@Yt^OZi7WBA�`q@B` U(t) = E(Nt

gjP
\
gjP AbP^OeXbkrp A7CrO f�OZ�Z\xiQkmf7@qCrOySMW�_�OQCrO

F
kr` P7WY\ ] kr`aAe\~g�p Ae_�Abf �a\xP�k:\xP @Yt^OZi7WBA�`q@B`

Q
H�iQkmf7@qP

XwuKXZgeuY`QW<Ur@�\ kr`5gjP Aei
Riemann � HM\ @�S��
fQ\ �

lim
t→∞

∫ t

0

Q(t− x)dU(x) =
1

µ

∫ ∞

0

Q(x)dx � ¯ ª ¯ 9 �
�
	!� �1).������� ����).�

f 5 ����� ).�������1)
��� [0,∞] 5 	���"���% �����
������).�/��"���	�"������9)*� ��� 	������ Riemann
��� 5 � ).0
-������

sup {L(f, P ), P
��� � ' � ��������� ).�/����� [0,∞]} = inf {U(f, D), D

��� � ' � ��������� ).� ����� [0,∞]} < ∞
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?#% �BATX0S�� 4 �
Blackwell

�Z; �(O {Sn, n ∈ N} H3fQv OQP
\ k:\xP�P^OQP^OQfcC3Ae\~g�p �Z\xP
�Z\~gjP
@�vxPskmf"P^[ZP7WY\ ]Z�krpaAoWY\xP(P^OZN�uK\ �
` {Nt, t ≥ 0} gjP
\BP^OQP^OQfcC3Ae\~g�ps@Yt^OZi7WBA�`q@B` U(t) = E(Nt)
H Ae_�AbfbH:\ @�S��
Xnt^O �

� { �(O(`5gjP AbP^OeXbkrp�A7CrOyf�OZ�Z\xiQkmf7@qCrO3SMW�_�OQCrO
Ti
fQv OQP
\<kr`5P7WY\ ] kr`aAe\~g�p HmAe_�Abf �

lim
t→∞

[U(t + h) − U(t)] =
h

µ
, ∀h > 0 � ¯ ª ¯x± �

� { �(O(`5gjP AbP^OeXbkrp�A7CrOyf�OZ�Z\xiQkmf7@qCrO3SMW�_�OQCrO
Ti
fQv OQP
\

d
��P7WY\ ] kr`aAe\~g�p HmAe_�Abf �

lim
t→∞

[U(t + nd) − U(t)] =
nd

µ
, ∀n > 0 � ¯ ª ¯ L �

����� +���� ����%�� +-#
��|��x¢�t�{x����©x��{ t�{x��®}����{x���K��{�{x��¨ �~uv�~����©xyv�"yv� |��x¢ �}t��~uv�~��r ��yv¦�|��x�b{x¢�{x¢��[wb|~r ���x�z���x¢�®x��|��x���x�
��|��x¢Wt��¥�~� tv|¥wz����t�������r��¥¢�¬~r ®xyv�¥����r�¨ ��¦x¢���r�yv�[|�{ ��©�|¥wz¢ ¬~r {x¬��}¨�r ��£z¢s���xy~��®x¢�|¥wz¢W{}���~uv���~����©x¢ �
� { �b|��x¢­�[�v���[|~r ���W��{}|�{x¢���yv�W��{vr � � �z|�� �$®xyvyv{«��{}|�{x¢���yv� ª � r {W|��s�����vt�¦s{x�}|�¦W��{W¨ ���x��r yv�vt���r �
�x�����xyv�¡|��lyv�[|�{x��¨ �xyv{}|~r ��yv¦

Laplace-Stieltjes (L-S) � y�r {x�­���x¢�®x��|��x���x� F �

F̂ (λ) =

∫ ∞

0

e−λxdF (x)

� t�������� { t���� ��{ {}���~uv���~���x�����xyv�lt����v����r yv¤¥¢���� ¢�{ ��{}|�{}uv� �����xyv�p��|��x¢Y{x¢�{x¢��[wb|~r ��� ���x¢�®x� �
|��x��� ��� ¢�{vr���� ���x���m{x��¨�r ��® ��{«������©xyv�¡|��lyv�[|�{x��¨ �xyv{}|~r ��yv¦

Laplace-Stieltjes
|��x�����x¢�®x��|��x���x�

��{}|�{x¢���yv�x�«|¥wz¢ �¥¢�¬~r ®xyv�¥��wz¢ ¨ ��¦x¢�wz¢
F̂
����|��s���x¢�¤¥¨ ��r {���{s�}t��~uv�~��� �����xyv�«|�� yv�[|�{x��¨ �xyv{}|~r ��yv¦

L-S
��r {p|��x¢�{x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x���s��{vr |�¤[uv���«��{s������©xyv�«|��x¢�{x¢�|~� ��|�������� yv�[|�{x��¨ �xyv{}|~r ��yv¦

t����v����r yv¤¥¢���� ¢�{Wt�®x�����xyv��|��x¢
U(t) =

∑∞
n=0 F

∗n(t) ª  ¡{x�~r ��|�®x¢��x¢�|�{x�K|��«t�{x��{}t�®x¢�w ¬~r {x¬~r ��{x��� {
��¨ �xyv{}|~r ��®���¤¥¨ ���xyv� �

F → F̂ → Û = F̂

1−F̂

�
	���
 ������������������������ "!$#�����% ��#�&��
L−S

��' t��~uv�~��r ��yv¦��­|��x����¢�{x¢��[wb|~r ���x�«� �x¢�®x��|��x���x�

��OJ )( � 8+*-, �<; � (�� %.'��)(Y� (���'T��"$F0SY�
� �z��|¥w � ¦}|~r ��r �¥¢�¬~r ®xyv�¥����r ¨ ��¦x¢���r4yv�[|�{ ��©�|¥wz¢�{x¢�{x¢��[£z���[wz¢�{}���~uv���~����©x¢�|��x¢��b�v���[|~r ���l��{}|�{ �
¢���yv� �

f(x) = ae−ax, ∀x ≥ 0 ª ��¦}|�� ��¤¥¨ ���xyv� �

F̂ (t) =

∫ ∞

0

e−txae−axdx =
a

a+ t
= MX(−t)

.
2�"��
���0/ ������� �������21
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�bt���yv¤¥¢�wz���

m̂(λ) =

[
∞∑

k=1

F (k)

]̂
(λ) =

∞∑

k=1

[
F (k)

]̂
(λ) =

∞∑

k=1

[
F̂ (λ)

]k

=
F̂ (λ)

1 − F̂ (λ)
=
a

λ
� ¯ ª ¯ = �

��{vr

m̂(λ) =
a

λ
=

∫ ∞

0

ae−λxdx � ¯ ª ¯ M �
� � yxwz������¢�wz�~� �����xyv��tvwz�

m̂(λ) =

∫ ∞

0

e−λxdm(x) � ¯ ª ¯&K �
�¡t�¦�|���yv�x¢�{x¬~r ��¦}|��}|�{�|����syv�[|�{x��¨ �xyv{}|~r ��yv��©

L-S
��{vr�yv����®x��� |��x� � ¯ ª ¯ M � � � ¯ ª ¯&K � ��¤¥¨ ���xyv� �

dm(x) = adx⇒ m(s) =

∫ s

0

dm(x) =

∫ s

0

adx = as

� ����{���{x����©
U(x) = 1 +m(x)

��¤¥¨ ���xyv� �

U(x) = 1 + ax

��OJ )( � 8+*-, �Y; * R�S�S��W(���'T��"$F0SY�
� �z��|¥w �­¦}|~r���rK�¥¢�¬~r ®xyv�¥����rK¨ ��¦x¢���r¡yv�[|�{ ��©d|¥wz¢ {x¢�{x¢��[£z���[wz¢ {}���~uv���~����©x¢ |��x¢ �$®xyvyv{ � ¯ �¡u �
��{}|�{x¢���yv� � ��©x¢����¥���g¬�©x�s�[�v���[|~r ��£z¢�� yv� f(x) = λ2xe−λx, ∀x ≥ 0 ª ��¦}|�� ����yv�[|�{x��¨ �xyv{}|~r ��yv¦��
L-S
|��x��{~������r ��|~r ���x�«���x¢�®x��|��x���x�K��{}|�{x¢���yv�x�

F
����� ¢�{vr �

F̂ (s) =

∫ ∞

0

e−sxλ2xe−λxdx = λ2

∫ ∞

0

xe−(s+λ)xdx � ¯ ª 8 ° �
� � tvwz������¢�wz�~� �����xyv��{}t�¦�|~r �«r ¬~r ¦}|��}|��¥��|��x����{}|�{x¢���yv�x���$®xyvyv{ � {���� � ��¤¥¨ ���xyv� �

• Γ(α) =
∫∞
0
xα−1e−xdx

• θα

Γ(α)

∫∞
0
xα−1e−θxdx = 1

� ����{���{}t�¦�|~r ��t������}����©xyv�¥¢��¥�«¬�©x����¨ ¤¥����r ����¤¥¨ ���xyv� �
∫ ∞

0

xα−1e−θx

Γ(α)
dt =

1

θα
� ¯ ª 8$5 �
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�bt���yv¤¥¢�wz������¤[|��x¢�|�{x�­��|��x¢ � ¯ ª 8$5 � � α = 2
��{vr

θ = s+ λ
� � ¯ ª 8 ° � ��yv{x�­¬~� ¢���r �

F̂ (s) =
λ2

(λ+ s)2
� ¯ ª 8 ¯ �

� yv�[|�{x��¨ �xyv{}|~r ��yv¦�� L-S
��r {�|��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x��������� ¢�{vr �

m̂(s) =

[
∞∑

k=1

F (k)

]̂
(s) =

∞∑

k=1

[
F (k)

]̂
(s) =

∞∑

k=1

[
F̂ (s)

]k

=
F̂ (s)

1 − F̂ (s)
� ¯ ª 838 �

=

λ2

(λ+s)2

1 − λ2

(λ+s)2

� ¯ ª 8&9 �

��{vr�¨�wz�~� ���x¢�|�{x�«����¬�©x����uv®x��yv{}|�{�� ¤¥¨ ���xyv� �

m̂(s) =
λ

2s
− λ

2(s+ 2λ)

=

∫ ∞

0

λ

2
e−sxdx−

∫ ∞

0

λ

2
e−(s+2λ)xdx

=
λ

2

∫ ∞

0

e−sx[1 − e−2λx]dx � ¯ ª 8 ± �

� � yxwz������¢�wz�~� �����xyv��tvwz�
m̂(λ) =

∫ ∞

0

e−λxdm(x) � ¯ ª 83L �
�¡t�¦�|��Wyv�x¢�{x¬~r ��¦}|��}|�{W|����Wyv�[|�{x��¨ �xyv{}|~r ��yv��©

L-S
��{vr�yv����®x���«|��x� � ¯ ª 8 ± � � � ¯ ª 83L � ��¤¥¨ ���xyv� �

dm(x) =
λ

2
[1 − e−2λx]dx⇒

m(s) =

∫ s

0

dm(x) =

∫ s

0

λ

2
[1 − e−2λx]dx

=
λs

2
+

λ

2 · 2 · λ

∫ s

0

(e−2λx)
′
dx

=
λs

2
− 1

4
(1 − e−2λs) � ¯ ª 8T= �

� ����{���{x����©
U(x) = 1 +m(x)

��¤¥¨ ���xyv� �

U(x) = 1 +
λx

2
− 1

4
(1 − e−2λx)

=
3

4
+
λx

2
− e−2λx

4
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t����syv{x�
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��� wz¢�t����W�[��|�¦���{}t�¦g|�{«t����v��{~�����~r ��yv¤¥¢�{g��|���r ¨ ��� { � ¤¥����¬�{ �"¤ ����¬�{ � ��t��¥�~r ¤¥¨ ���x¢���{vr�t�����¦}|��}|��¥�
��r}�vt���� �¥� ¤¥¨ ���x¢ |��x¨ {v� �­yv¤[��� �����m��{vr~|��x¨ {v� �­���~��yv¦��¥yv��®x¢~r ���x� ª ��¤[|���r ���­��� ¬����x��¨ {x��|������}uv®}��r {��
���x¢�{x¢�|�£z¢�|�{vrx����{x����{}u�r ��|~r ��¤¥� �[|�{vr ����� �¥����¨ ���xyv{}|�����r ���x¢���y�r ��¤¥�¡�[|�{vr ����� �¥����{}uxuv®���{vrx���¥¢~r ��¦}|��¥��{
���K��®~���¡��r ���x¢���y�r �����[t�r ¨ ��� ���x��� t����g|���¨ {x��|������}uv®}��r ��|��x��¬��¥¢«��� ¢�{vr t����}��uv¤���r yv��{}uxuv®g�[t��x��� �
® ���[|�{vr�{}t�¦�|��x¨ {v� { ��r {�t�{x��®x¬���r ��yv{s¤ ����¬�{ ª

� r {Y|�� ��{}uv©}|��¥��� ��{}|�{x¢�¦��x��� |��x��{x¢�¤[u�r ���x��|����Ytvuv�¥�x¢�®x��yv{}|�������{ yv�[uv�[|��x�����xyv� |�� ¨ {x� �
|������}uv®}��r �py�r {x�«{x����{}u�r ��|~r ���x�­�[|�{vr ����� {x� ª � � tvwz����¢�wz�~� �����xyv� ����r�{x����{}u�r ��|~r ��¤¥�­�[|�{vr ����� �¥�«{x¢�{ �
uv{xy~��®x¢����x¢«|��g��®}uv� ��� ��r ¢�¬�©x¢�wz¢g¤¥¢�{x¢�|~r t����v��{~�����~r ��yv¤¥¢�wz¢ {x����{}u�� ��|���wz¢­t���� uv{xy~��®x¢����x¢ ª � r
��� ¢�¬��x¢���r�t����­��{}uv��� |�{vr�¢�{«��{}uv© ����r��«�[|�{vr ����� {W{x¢�{}����®x���x¢�|�{vr���|�� ���xy~��¦~uv{vr �Wt����W�}t��~����®x����r�yv�
|��x¢Wt��[uv®}|�� |��x� ª ��¢Wt���{}��yv{}|��vt���r �~������¤¥¢�{x�­� ��{vr�t��¥�~r ����¦}|��¥����r���� ¢�¬��x¢���r�|�¦}|�����{x����{}u�r ��|~r ���
�[|�{vr ����� {p{x¢�{}uv{xy~��®x¢���r�¢�{l��{}uv© ����r�|�{p¤ ����¬�{lt����lt����v��uv�~���}��{x¢s��|��x¢ ��®}|��}¨ � |��x�g{x����®}uv��r {x� ª
���g�}t��x��¤¥�����xyv��tvwz�gy�r {l{x����{}u�r ��|~r �����[|�{vr ����� {l|�����|~r ��yv��t����p�}t��~����®x����r���®}t���r �Y���xy~��¦~uv{vr �
¬~r {~��¤[|���r�{}t��x���¥yv{}|~r ��¦

u ª � {lyv�[uv�[|��x�����xyv��|�� ¨ {x��|������}uv®}��r � |��x�W��|�� ���x¢��¥¨ ¤¥�W¨ ���x¢~r ��¦]¬~r ® �
��|��xyv{

[0, t], ∀t > 0
� ¦vt����W���[wz����©xyv��|��W¨ ���x¢~r ��� ��|~r ��yv�Wt����g�}t��~����®x���[|�{vr�|������xy~��¦~uv{vr �s��{x¢

���xyv��� �s{x¢�{x������®x�¡{}t�¦�|����vt���� �l{x��¨�� ����r ¢�{gyv�[|���®x��r��s¨ ��¦x¢���� ª ��¤[uv������{x¢­�}t��x��¤¥�����xyv��tvwz�K|�{
¤¥����¬�{p{}t�¦Y{x����®}u�r ��|���{st����ptvuv�x��£z¢���r �Y{x����{}u�r ��yv¤¥¢����W¤¥��¨ �x¢�|�{vr4yv�W���x¢��¥¨ �l|���¦vt�� ��{vr ��� ¢�{vr
���x¢��~u�r ��®

P (t)
��r {�|�� ¨ ���x¢~r ��¦Y¬~r ®x��|��xyv{

[0, t]
�¥¢�£ |�{l¤ ����¬�{�t�����t����v��©}tv|����x¢s��� ¢�{vr

S(t)
��r {
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|�� � ¬~r � ¨ ���x¢~r ��¦ ¬~r ®x��|��xyv{ |�¦}|�����{}|�®Y|��]¨ ���x¢~r ��� ��|~r ��yv�
t
�z�]{ �~� {]|���� ¨ {x��|������}uv{}��� ���]|��x�

{x����{}u�r ��|~r ���x���[|�{vr ����� {x�­��� ¢�{vr �

R(t) = u+ P (t) − S(t) � 8�ª25 �

��|������xyv��� �s{x�}|�¦ ��{Wt���¤[t���r ¢�{g|��x¢~� �����xyv�Ktvwz���gt�����¦}|��}|�{
S(t)
��{vr��[t���yv¤¥¢�wz�¡��{vr��

R(t)
��� ¢�{vr |��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥���4��r { ���}� ���[���~r yv¤¥¢��¥� |~r yv¤¥�g|����

t
�$�¥¢�£ {x¢s|~r �W���[wz���x�����xyv�«��{}|�®p|��

¬~r ®x������r { |���� ¨ ��¦x¢������ � t���£b|�� yv{x�p¬~� ¢���rb|�� ��|��}¨ {x��|~r ��� {x¢�¤[u�r ��� |���� tvuv�¥�x¢�®x��yv{}|����l��{vrz�
¬��¥©}|��¥��� |�����|��}¨ {x��|~r ����{x¢�¤[u�r ����|¥wz¢W� ��¦�¬�wz¢Wt�����t����v��©}tv|����x¢ ª
;����x��r yv�vt���r £z¢�|�{x�Wy�r {�{}���~uv���~� � {�{}t�¦l|��x¨ {v� �¥�«yv�[|�{���uv�}|�¤¥���

X1, X2, X3, X4, ....
t�����{x¢�|~r �

��|���r ¨ ��©x¢���|�{K© ���K|¥wz¢ � ��¦�¬�wz¢ t����Kt����v��©}tv|����x¢���|���¨ ���x¢~r ��¦«¬~r ®x��|��xyv{
[0, t]
��{vr}y�r {¡{}t�{x�~r ��yv� �

|��~r {���|��}¨ {x��|~r ���­{x¢�¤[u�r ��� {N(t), t ≥ 0} t����­�[������® ����rx|��«tvuv�~������|¥wz¢ ���xy�r �~��¦x¢�wz¢����xy~��®x¢�|¥wz¢
yv¤¥��{p��|��]� ¬~r � ¨ ���x¢~r ��¦ ¬~r ®x��|��xyv{l��{vr$� �vt���� { ��� ¢�{vr${x¢�� ��®x��|��}|��l{}t�¦Y|~r � |��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥�
Xi, ∀i

��yxt�������©xyv�¡¢�{g����® �����xyv�K|�� ��|��}¨ {x��|~r ��� {x¢�¤[u�r ���W|¥wz¢W� ��¦�¬�wz¢«��{x¢«y�r { ��©x¢����[|��W��|��}¨ { �
��|~r ����{x¢�¤[u�r ������¦vtvwz�­��{v� ¢��[|�{vr�t�{x��{}��®}|¥w �

S(t) =

{
0,

{x¢
N(t) = 0∑N(t)

i=1 Xi,
{x¢
N(t) ≥ 1��¤[uv���������x¢�� ��� ���x¢�|�{x�­¤¥¨ ���xyv��|��x¢Wt�{x��{}��®}|¥w:���~r ��yv¦ �

8 A�����S:90+W� >Y;�� @BAbXxSIP
@BAe\~g�psP^OZN�uK\ �
` H {R(t), t ≥ 0} HMgjPcuqfQv AbP
\K@BAbXxSIP
@BAe\~g�psP^OZN�uK\ �
` [ uqfQX�OZiZ�@akYP AbXZRcH:P^O(�a\xP gji
]
f
t ≥ 0
Hd`�Ae\ krp�AbXnt5[ uqfQX�OZi
@akYP AbXZRhX�W�v �7fnAbP
\KP^[Z_"A�`�AZtwSIP
vxP"kmfnAbP7zjuY`aA�p �

R(t) = u+ P (t) − S(t)

¦vt���� �

• u � ����¨�r ��¦p{}t��x���¥yv{}|~r ��¦ ª

• P (t) � � �x¢��~u�r ��®�{x����®}u�r ��|���{gt�����uv{xy~��®x¢���r����[|�{vr ����� {s��|���¨ ���x¢~r ��¦ ¬~r ®x��|��xyv{�� °�� t �
� ¤¥����¬�{ � ª

• S(t) � � �x¢��~u�r ��¤¥�«{}t�� ���xy�r £z����r �­t���� ��{}uv��� |�{vr�¢�{ ��{}uv© ����r����[|�{vr ����� {s��|���¨ ���x¢~r ��¦
¬~r ®x��|��xyv{�� °��

t � � ¤ ����¬�{ � ª

¯x¯
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� ¨ �xyv{ 8�ª25 �m��|��}¨ {x��|~r ���s{x¢�¤[u�r ����tvuv�¥�x¢�®x��yv{}|����
���b� #$2��(���*) � � % />!1+32�% ! �s#��
0V� �"47�(#.# � / ��� /�� /
��|�� t������}����©xyv�¥¢�� t�{x��®}����{x���¡¤[��r ¢��"��r ��{}� wb���K��|��x¢m¤¥¢�¢���r { |��x�b��|��}¨ {x��|~r ���x�b{x¢�¤[u�r ���x�"tvuv�¥�x¢�® �
��yv{}|���� yv¤¥��w |��x� �vt���� {x����{�¬��x�����x�«���~r ��yv¦�� |�������uv{x��r ����©�yv�x¢�|�¤[uv����|��x� � �[wz�~� {x� �«r ¢�¬�©x¢�wz¢ ª
��|��lyv�x¢�|�¤[uv�s{x�}|�¦ ��{x��� ���[|�{vr yv�[��®}uv��tvuv�~������|��x��¤¥���¥�x¢�{x��t���� ��� ¢��[|�{vr���|��s¨�£z����|�����{x¢�{}uv���
��r ��yv��© ��{vr ��{ {}t��}|��[uv¤¥����r�|�����{x��r ��¦��¥����{}uv��� ��t����g��{ ¨ ���x��r yv�vt���r �x�����xyv�¡��r {�|�� yv�[uv¤[|��g|��x�
t�r ��{x¢�¦}|��}|�{x�­¨ ���¥�v���vt�� {x� ª
8 A�����S:90+ �TN:; �(O�@�f1k:\xP�@BAbXxSIP
@BAe\~g�p P^OZN�uK\ �
` [ uqfQX�OZi
@akYP AbXZR {R(t), t ≥ 0} \ @�S��
Xnt^O�XZ\m[ZPZ�W�P
gji A7C tq[ZXZ]
N7@�fQ\ R �
� { �

P(t)
fQv OQP
\:�nW�PQkMk:\~g�p5@Yt^OZi7WBA�`q@B`�AbXnt-SMW�_�OeXnt HM�^`nuqP
�^p �

P (t) = ct, ∀t � 8�ª ¯ �

_
[ZXnt
c
fQv OQP
\�k:\xP ]
fnAe\~g�ps@BAbP
]
fGW�i {

� {��l\dAZtwSIP
vxfQR�kmfnAbP7zjuY`aAeNQR
Xi
H-[ZXnt5P^O^Ae\ @BAbXZ\ S&X��^O�@BAe\ R(P^[ZX �c` k:\ Ur@�fQ\ R�[ZXnt [�W�N�[ZfQ\dOQP�gjP AbPZ�

zjuY`q]
X��^O(gjP Aei5A�`��Z\xi7W�gjfQ\xP�AbXntlSMWYX�OZ\~gjX��s�Z\xP
@BA�p kYP AbXZR ���ZH
t� fQv OQP
\ ]
fnAe\~gjNQRcHmP^OQfc� i7WBA�`aAbfQRgjP
\K\ @�_�OeXbkmfQRn{

¯ 8



� { � P^[ZP7WY\ ] krpaAoWY\xP(@BAbXxSIP
@BAe\~g�psP^OZN�uK\ �
` {N(t), t ≥ 0} HMfQv OQP
\<k:\xP P^OZN�uK\ �
` Poisson
{

Ae_�AbfbH:N S&Xntekmf>AbX��&uqP
@�\~gj_ � X�O^AeN�uKX(A�`qR��lfcC�W�vxP
R��y\ OZ���^OeXnt5p � X�O^AeN�uKX
Cramér-Lundberg

� ��A$��'TX0AT�0��X

�¡t�¦�|��x¢«�}t�¦x���¥����¦}|~r�����|��}¨ {x��|~r ����{x¢�¤[u�r ��� {N(t), t ≥ 0} ����� ¢�{vr�y�r {�{x¢�¤[u�r ��� Poisson
��t������

��©}tv|����x¢W|�{�� ���x���

5xª � ��|��}¨ {x��|~r ����{x¢�¤[u�r ��� {S(t), t ≥ 0} t����lyv{x�«¬~� ¢���r�|�� ���x¢��~u�r ��¦ © �����«|¥wz¢�{}t�� ���xy�r £ �
���[wz¢W��|�� � °��

t � ����� ¢�{vr�y�r {���©x¢����[|�� {x¢�¤[u�r ��� Poisson ª
¯ ª �¡t���¬���r ��¢�©x�[|�{vr ¦}|~r�{x����©�� {N(t), t ≥ 0} ��� ¢�{vr�y�r {l��|��}¨ {x��|~r ����{x¢�¤[u�r ��� Poisson

��r �¥¢ �
¬~r ®xyv�¥����r"¨ ��¦x¢���rbyv�[|�{ ��©Y|¥wz¢ ���xy~��®x¢�|¥wz¢pt���� {}t�{vr |���©x¢ {}t�� ���xy�� wz��� {}���~uv���~����©x¢ |��x¢
�[�v���[|~r ������{}|�{x¢���yv� ª
§]r { ��r ��{}� wb��� ��|��x¢ � �[wz�~� {��«r ¢�¬�©x¢�wz¢ �4yxt��������4¢�{p��� ¢���r yv¤¥��{p{}t�¦ |�{p���}� ����®xyvyv{}|�{s|¥wz¢

Bowers et al � 5 K M3L � ��{vr Kaas et al � ¯}°x° 5 � �v�¥¢�£ y�r {­t�r �Wuv�[tv|���yv�¥���x� t�������¤[� ��r ���­|�������¤¥yv{}|����
��� ¢��[|�{vr�{}t�¦�|����x�

Rolski et al � 5 K3K3K ����{vr Asmussen � ¯}°x°x° � ª
8 A�����S:90+W� 4Y; �>AbX"geuqP
@�\~gj_1k:X�O^AeN�uKX(`s@BAbP
]
fGW�i �

c =
P (t)

t
� 8�ª 8 �

[ZXntsP^[ZfQ\~gjX�OZv �7fQ\MAbX P
@��KicuK\ @BAoWYX�[ZXnt}uqPQkazYi^OQfnAbP
\B@BA�`sk:X�OZi
�eP,AbXntlSMW�_�OeXnt HrX�OeXbkmi �7fnAbP
\ N�O^AbP
@B`
AbXnt(P
@��KPcuKv @BAoWYXnt {
8 A�����S:90+W� �Y; ��@BAbP
]
fGW�i �

θ =
c

λp1

− 1 � 8�ª 9 �
_
[ZXnt �

p1 = E(Xi) =

∫ ∞

0

xdF (x) � 8�ª ± �
gjPcuqfQv AbP
\M@Yt^O^Abf�uqf7@BA�pqRyP
@��KPcuqfQvxP
R p�[ZfGWY\ ]^U�WY\ XsP
@��KPcuqfQvxP
R5D

premium loading factor
LsgjP
\MfQg^�

� W�i �7fQ\YAbP(P^OQPQkmf�OZ_bkmf�OeX([ZXZ@�XZ@BAe_�gjNGW��ZXnt
R�AbXnt(P
@��KPcuK\ @BA�p�{
¯ 9



� ��A$��'T�0ATX0��X

5xª�� ���x¢�|��[uv�¥��|��x��{x����{}uv��� {x����� ¢�{vr t�®x¢�|�{g���[|~r ��¦�����{x����©��

E(ct) > E(

N(t)∑

i=0

Xi)

ct > λp1t

c

λp1

− 1 > 0

¯ ª�� ���x¢�|��[uv�¥��|��x��{x����{}uv��� {x����¦vtvwz�W¤¥¨ ��r�{x¢�{x���¥��������yxt���������¢�{ ���[wz���~������¦}|~r��[������® ����r�|��
{x¢�{xyv�¥¢�¦�yv�¥¢�� ��¤¥��¬����p|���� {x����{}u�r ��|��]�[t���yv¤¥¢�wz�p��|��Yt���® ��� ��r"|~r yv¤¥��t���� t�{v� ��¢���rb��� ¢�{vr
yv�[|�{ ��©�° ��{vr 5 �s{x¢­��¤[uv���xyv��¢�{��[������{x��|���©xyv��yv��t���������|�®�yv�[|�{ ��©�° ��{vr 5 °x°�� ª

����� , ��� �(/��y! � !&�
2
�10-%s),% �,47�(#
;����¥�v���vt�� {]�x¢���yv® ���[|�{vr �p��{}|�®x��|�{x��� ��|��x¢��vt���� {Y�}t���r ��¤¥��¨ �[|�{vr � �[t�r ¨ ��� ���x��� |�� ��|~r ��yv� t����
¤¥¨ ��r ¨ ®x����rm|��x¢ r ��{x¢�¦}|��}|�{ ¢�{ � ������uv�x����rm|~r �]�}t��}¨ ���[£z����r �Y|��x� t������]|��~� |����x� ª �­®}|~rm|�¤[|���r �
yxt��������$¢�{ ���xy~����� ��|��x¢�t��¥�~� tv|¥wz��� t����p|��]���x¢��~u�r ��¦]{}t��x���¥yv{}|~r ��¦Yt���� ¬~r {~��¤[|���r4¬��¥¢��[t�{x�������
��r {­|��x¢K� ��¦���uv�x���­������r ux£z¢¡t�����t����v��©}tv|����x¢�{}t�¦«|�{ ���xy�r �~��¦x¢�{W���xy~��®x¢�|�{ ª ��|��­���}� ���[���~r yv¤¥¢��
t�{x��®}����{x���l��{l¬�£z�����xyv��|��x¢s���~r ��yv¦ |��x�«t�r ��{x¢�¦}|��}|�{x�W¢�{l���xy~������¤¥¢�{�|�¤[|���r � ���[���x¢�¦��W��r {l|��
��uv{x��r ��¦lyv�x¢�|�¤[uv� ��{x¢�®}uv�~��{syv�¡|��l¨ ���x¢~r ��¦p���~� ���x¢�|�{st����syv�[uv�[|�®xyv�¡{x�}|�¦s|��l�¥¢�¬��¥¨ ¦�yv�¥¢�� ª
��¢«���[wz���x�����xyv�K|�����uv{x��r ��¦pyv�x¢�|�¤[uv�s|��x� � �[wz�~� {x���«r ¢�¬�©x¢�wz¢ �

R(t) = u+ P (t) − S(t), ∀t ≥ 0

|�¦}|�� ����t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�«��r {�¨ ���x¢~r ��¦ ���~� ���x¢�|�{	�

A = { t ��r {�|�{��vt���� {���¤[uv���xyv��¢�{�yv�[uv�[|��x�����xyv�K|���tvuv�¥¦x¢�{x��yv{ R(t)} ⊆ R+
�

���~� ���[|�{vr ��wz�­� ���x���

ψ(u) � Pr( R(t) < 0,
��r { ��®}t���r �

t ∈ A | u) � 8�ª L �

= Pr( u+ P (t) − S(t) < 0,
��r { ��®}t���r �

t ∈ A | u)
��¢�®}uv�~��{pyv�«|�� ��� ¬����W|����p���x¢�¦~uv��� A ��t����p�[������® ����r�|�� ¨ ���x¢~r ��¦]¬~r ®x��|��xyv{st�������¤[uv���xyv�

¢�{syv�[uv�[|��x�����xyv�¡|��x¢g{x¢�¤[u�r ��������t�r ��{x¢�¦}|��}|�{s¨ ���¥�v���vt�� {x�g¨�wz�~� ���[|�{vr���|~r �«� ���x��|�¤¥�����¥�~r ����{}|�� �
�����~� �¥���

¯x±



5xª ��¢ A ��� ¢�{vr�|��¡��©x¢��~uv�K|¥wz¢z���[|~r ��£z¢zt���{}��yv{}|~r ��£z¢�{x�~r ��yx£z¢�¬��}uv{x¬���� A = {t : t ∈ [0,∞)} |�¦}|��
¤¥¨ ���xyv��|�� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W�������x¢��¥¨ �g��{vr�®}t���r ���l¨ ��¦x¢�� �

ψ(u) = Pr( R(t) < 0,
��r { ��®}t���r �

t ∈ A | u)

¯ ª ��¢ A ��� ¢�{vr�¤¥¢�{����x¢��¥¨ ¤¥�"�}t�����©x¢��~uv�¡|¥wz¢z���[|~r ��£z¢mt���{}��yv{}|~r ��£z¢ {x�~r ��yx£z¢�yv� t��[t��¥��{x��yv¤¥¢�{
®}����{�� ¬��}uv{x¬�� A = {t : t ∈ [a, b], 0 < a < b∞} |�¦}|�� ¤¥¨ ���xyv� |�� t�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x�
�������x¢��¥¨ � ��{vr�t��[t��¥��{x��yv¤¥¢���¨ ��¦x¢�� �

ψ(u, t) = Pr( R(
|
) < 0,

��r { ��®}t���r �l|
: 0 <
| ≤ t | u)

8�ª ��¢ A = {t : t ∈ [0, h1, h2, h3, ...], hi ∈ N} ��¬��}uv{x¬��­¤¥¢�{W�}t�����©x¢��~uv�g|¥wz¢����x��r ��£z¢�{x�~r � �
yx£z¢«|�¦}|���¤¥¨ ���xyv��|�� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W����¬~r {}���~r |�¦l��{vr�®}t���r ���p¨ ��¦x¢�� �

ψh(u) = Pr( R(t) < 0,
��r { ��®}t���r �

t ∈ A)

9 ª ��¢ A = {t : t ∈ [0, h1, h2, h3..., hn], hi ∈ N} ��� ¢�{vr ¤¥¢�{Yt��[t��¥��{x��yv¤¥¢�� �}t�����©x¢��~uv� |¥wz¢
���x��r ��£z¢�{x�~r ��yx£z¢ �~|�¦}|��"¤¥¨ ���xyv� |�� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�����"¬~r {}���~r |�¦���{vr�t��[t��¥��{x��yv¤¥¢��
¨ ��¦x¢�� �

ψh(u, t) = Pr( R(
|
) < 0,

��r {���®}t���r �l| ∈ A)

� ��A$��'T�0ATX0��X

��|�� ���x¢�¤¥¨ ��r {«��{g�[t�r ���¥¢�|���w"����©xyv�¡��|��Wyv�[uv¤[|��W|����g��uv{x��r ����© yv�x¢�|�¤[uv���g���¡¨ ��¦x¢��s���x¢��¥¨ �W��{vr
®}t���r ��� ª
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δ(u) = Pr( R(t) ≥ 0,
�a\xP gji
]
f

t | u) � 8�ª�= �

= Pr( u+ P (t) − S(t) ≥ 0,
�a\xP(gji
]
f

t | u)

= 1 − ψ(u)

¯ L
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��|��s��uv{x��r ��¦lyv�x¢�|�¤[uv��t����v����r yv¤¥¢����s¢�{�{}t�����©}�����xyv�¡|��g��� �����x����¨ ���¥�v���vt�� {��¥¢�¦���¨ {x��|������}uv{ �
��� ���������[wz����©xyv��¦}|~r�t���¤[t���r�¢�{�r ��¨ ©x��r�� t�{x��{}��®}|¥w:{x¢~� ��wz��� �

c > λp1 � 8�ª M �

¦vt�����u���� ¢�{vr}��¤¥¢�|�{x���K|��x��{x¢�¤[u�r ���x�
Poisson ª � �b|���r �v� ��{x����{}u�� �����xyv�m¦}|~r}yv¤¥���K|~r yv�¡|¥wz¢��¥��¦�¬�wz¢

|�����{x����{}u�r ��|��s��|��syv�x¢�®x¬�{�|����l¨ ��¦x¢����s��{s��� ¢�{vr�yv�[��{}uv©}|��¥���s{}t�¦l|��x¢ {x¢�|~� ��|���r ¨ ��yv¤¥���s|~r yv�
|¥wz¢g� ��¦�¬�wz¢W|���� ª
� ��A$��'T�0ATX0��%3��+

5xª ��¢g¬��¥¢gr ��¨ ©x��r������x¢����}��� c > λp1

� |�¦}|���� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W��� ¢�{vr���� �����x���s{x����©
���W��®~��� ¨ ���x¢~r ���Y��|~r ��yv� |�{ {x¢�{xyv�¥¢�¦�yv�¥¢�{ ¤ ����¬�{ ��� ¢�{vr$yv�[��{}uv©}|��¥��{ {}t�¦Y|�{ {x¢�|~� ��|���r ¨ {
¤ ����¬�{���¬��}uv{x¬�� �

ψ(u) = 1, ∀u

¯ ª � t�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x� ��� ¢�{vr ��� � ¢����x��{ ���x¢�®x��|��x��� |���� u {x����© ¦���� yv�[��{}uv©}|��¥���
��� ¢�{vr |��Y{x��¨�r ��¦Y{}t��x���¥yv{}|~r ��¦ |�¦����Yy�r ����{v� ¢���r$�lt�r ��{x¢�¦}|��}|�{l��r { ¨ ���¥�v���vt�� { ª ��¢�|~� ���[|�{��
� t�r ��{x¢�¦}|��}|�{�yv��¨ ���¥�v���vt�� {x�W��� ¢�{vr�{x© �����x��{����x¢�®x��|��x���W|����

u ª �bt���yv¤¥¢�wz����r ��¨ ©x���x¢ �

� {	� �
lim

u→∞
ψ(u) = 0

� �
� �
lim

u→∞
δ(u) = 1

8�ª � t�r ��{x¢�¦}|��}|�{ yv� ¨ ���¥�v���vt�� {x�]¬ � u ��yxt��������m¢�{ ���[wz���~�����z��{x¢]���x¢�®x��|��x���]��{}|�{x¢���yv�x���
{x����© �

� {	� �Y��� ¢�{vr�{x© �����x��{ wz��t������ u
� �
� �p��� ¢�{vr����x¢��¥¨ �x��{}t�¦l¬�� �~r ®

� ��� �
lim

u→∞
δ(u) = 1

¯ =



9 ª � ¬ � u � {x¢�|~r ��|���r ¨ ��������y�r ��|�����{}|�{x¢���yv����{x����© �

� {	� �Y¬ � ° � > °

� �
� �p¬ � u � ¤¥¨ ��r�t��}��¢�¦}|��}|�{s��|�� � °��∞ � ��®x��{���� ¢�{vr����x¢��¥¨ �x����|�� � °��∞ � ª
��|�{ � ¨ �xyv{}|�{ 8�ª ¯ ��{vr 8�ª 8 ��{v� ¢��[|�{vr � ����{x��r ���Yt�{x��®x��|�{x���p|��x��t�r ��{x¢�¦}|��}|�{x�s¨ ���¥�v���vt�� {x�

��{vr�|��x��t�r ��{x¢�¦}|��}|�{x�­yv��¨ ���¥�v���vt�� {x�W���x¢�{x��|��x����r�|����s{}t��x���¥yv{}|~r ����©
u
��{x¢�|~� ��|���r ¨ { ª

6

-

5
ψ(u)

u

θ
1+θ

� ¨ �xyv{ 8�ª ¯ ���$��{x��r ����t�{x��®x��|�{x���g|��x��t�r ��{x¢�¦}|��}|�{x�­¨ ���¥�v���vt�� {x�

6

-

5
δ(u)

u

1
1+θ

� ¨ �xyv{ 8�ª 8 ���$��{x��r ����t�{x��®x��|�{x���W|��x��t�r ��{x¢�¦}|��}|�{x��yv��¨ ���¥�v���vt�� {x�

¯ M
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� {
δ′(u) =

λ

c
δ(u) − λ

c

∫ u

0

δ(u− x)f(x)dx � 8�ª K �

� {
δ(u) = δ(0) − λ

c

∫ u

0

δ(u− x)F (x)dx � 8�ª25 ° �
_
[ZXnt H

F (x) = 1 − F (x)
Hd`5Xnt7W�i�A�`qR}gjP AbP^OeXbkrpqR�A7CrO"P^[ZX �c` k:\ Ur@�fcCrO

Xi
{

� {
δ(0) = 1 − λ1p

c
=

θ

1 + θ
� 8�ª2535 �

gjP
\
ψ(0) =

λ1p

c
=

1

1 + θ
� 8�ª25 ¯ �

����� , ��� �(/��y! � !&�12
�10-%s),% �,47�(# ),�����
/1�(/10V� !"�*)5�9+ 6"4�� � ���

� � tvwz����¢�wz�~� �����xyv��� ���¥¢~r ����yv������� |��x��{x¢�{x¢��[wb|~r ���x�­� �~� ��wz���x�­��� ¢�{vr �

µ(u) = g(u) +

∫ ∞

0

µ(u− y)f(y)dy

�¥¢�£=��|��x¢­t��¥�~� tv|¥wz����t������s� �~� ��wz����¤¥¨ ��r�|���yv���������

µ(u) = g(u) + φ

∫ ∞

0

µ(u− y)f(y)dy

� ¦vt���� � y�r {p��|�{~���¥��®�|�¤[|���r {p£z��|�� � 0 < φ < 1
�¡¤¥¨ ���xyv�W|��x¢s�[uv{}|�|¥wzyv{}|~r ���p�p�[uxuv��r yvyv{}|~r ���

{x¢�{x¢��[wb|~r ����� �~� ��wz��� � � defective renewal equation
�

��¢�|~r ��{~� r ��|�£z¢�|�{x����|�� |~r yv��¬ � ° � ��|��x¢W� �~� ��wz��� � 8�ª25 ° � ��¤¥¨ ���xyv� �

δ(u) = 1 − λp1

c
+
λ

c

∫ u

0

δ(u− x)F (x)dx � 8�ª25 8 �

 ¡{x��{}|��x��£z¢�|�{x��� |�� t�{x��{}t�®x¢�w:� �~� ��wz���������~� �����xyv��y�r {s¢�¤¥{����x¢�®x��|��x���
��� � )
��8 6����.��0
������� �����3���������
8 ��� 	��/����% )
89).� �

µ(u) = g(u) +
∫
∞

0
µ(u − y)dF (y)

��6���� �
� 4�� � ‖F‖ < 1 →

�
"���� ��89������� 	�� �1�
"�"���� ��������� 	��	�
defective 
 ���������
8 ��� 	��/����% )
89).�
4

� 4�� � ‖F‖ = 1 →
	���������� 	����

proper 
 ���������
8 ��� 	��1����% )
89).�
4

 4�� � ‖F‖ > 1 →

��������2���"�� 	����
excessive 
 ���������
8 ��� 	��/����% )
89).�
46��������

‖F‖ = limx→∞ F (x)

¯&K
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F (x) = 1 − F (x)

H Ae_�Abf
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H(x) =
1

p1

∫ x

0

F (y)dy � 8�ª25:9 �
� ����{���yv�K��®x���g|��x¢Wt������}����©xyv�¥¢��l���~r ��yv¦ ����� �~� ��wz��� � 8�ª25 8 � � ��� ¢��[|�{vr �

δ(u) = 1 − λp1

c
+
λp1

c

∫ u

0

δ(u− x)dH(x) � 8�ª25 ± �
��{vr�{x¢�|~� ��|���r ¨ {s��t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x������� ¢�{vr �

1 − δ(u) =
λp1

c
− λp1

c

∫ u

0

δ(u− x)dH(x) � 8�ª25 L �
� ����{��

ψ(u) =
λp1

c
− λp1

c

∫ u

0

[1 − ψ(u− x)]dH(x)

=

(
λp1

c
− λp1

c
H(x)

)
+
λp1

c

∫ u

0

ψ(u− x)dH(x)

=
λp1

c
H(u) + +

λp1

c

∫ u

0

ψ(u− x)dH(x) � 8�ª25.= �
¦vt����

H(x) = 1−H(x)
 ¡{x��{}|��x����©xyv� ��tvwz���g� �~� ��wz��� � 8�ª25.= �m��� ¢�{vr y�r { �[uv{}|�|¥wzyv{}|~r ���g{x¢�{x¢�� �

wb|~r ���s� �~� ��wz������{x����©�¤¥¨ ���xyv���}t��x��¤¥����r�¦}|~r�r ��¨ ©x��r��s���x¢����}��� �

λp1 < c⇒ λp1

c
< 1

��{vr��[t�r tvuv¤¥�x¢g¤¥¨ ���xyv� �
‖H‖ = lim

x→∞

1

p1

∫ x

0

F (x)dx =
p1

p1
= 1

��|��s���x¢�¤¥¨ ��r {g��{�{}t���¬���� �����xyv��tvwz�­��� �~� ��wz��� � 8�ª25.= ��yxt���������¢�{�yv�[|�{}|���{}t���������y�r {���{x¢����
¢~r ���p{x¢�{x¢��[wb|~r ���l� �~� ��wz��������®}|¥w {}t�¦p|��x¢ t������}t�¦x���¥������¦}|~r �}t�®x��¨ ��r����[|~r ��¦��

R
t���{}��yv{}|~r ��¦��

{x�~r ��yv¦���� £z��|���¢�{sr ��¨ ©x��r �
∫ ∞

0

eRxdH(x) =
c

λp1

=
1

1 + θ
� 8�ª25 M �

� �b|���r ��{x¢«t��~uxuv{}tvuv{x��r ®x�����xyv�¡|��x¢ � 8�ª25.= ��yv� eRu
��¤¥¨ ���xyv� �

ψ(u)eRu =
λp1

c
H(u)eRu +

λp1

c

∫ u

0

ψ(u− x)eRudH(x)

=
λp1

c
H(u)eRu +

λp1

c

∫ u

0

eR(u−x)ψ(u− x)eRxdH(x)

8 °
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F (x) = 1−F (x)
Ae_�Abf3X�W�v �7Xntekmf
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HR(x) =
λp1

c

∫ x

0

eRtF (t)dt � 8�ª25 K �

� ��A$��'T�0ATX0��X
���l¬~r {x�����~r ��¦p|��x�

HR(x)
����� ¢�{vr �

dHR(x) =
λ

p1c
eRxdH(x) � 8�ª ¯}° �

� ����{���yv�K��®x���g|��x¢ � �~r ��yv¦ 5 K�¤¥¨ ���xyv� �

ψ(u)eRu =
λp1

c
H(u)eRu +

λp1

c

∫ u

0

eR(u−x)ψ(u− x)eRxdHR(x) � 8�ª ¯ 5 �
¦vt���� �

‖HR‖ = lim
x→∞

λp1

c

∫ x

0

eRtF (t)dt =
λp1

c

c

λp1
= 1 � 8�ª ¯x¯ �

 ¡{x��{}|��x����©xyv�Wtvwz� � � �~� ��wz��� � 8�ª ¯ 5 � �${}t��}|��[uv��� |��x¢s��{x¢��x¢~r ���Y{x¢�{x¢��[wb|~r ��� � �~� ��wz���pt����Yr ��{ �
¢��vt���r ������t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x� � �}t�¦�|��x¢«t������}t�¦x���¥����¦}|~r�r ��¨ ©x��r�� � 8�ª25 M �

����� ��� />!1032�0-��!h�s#., �1%���� ����%����s#
��|��­t������}����©xyv�¥¢��«t�{x��®}����{x���g{x¢�{x���¥�����}��{xyv� ��|��x¢¡©}t�{x� ���«y�r {x� ���[|~r ���x����|�{~���¥��®x�

R
t����v����r �

yv¤¥¢�����¢�{��}t��~uv�~��� �����xyv�­|��x¢ {x¢�{x¢��[wb|~r ����� �~� ��wz����t����lr ��{x¢��vt���r ���4�st�r ��{x¢�¦}|��}|�{s¨ ���¥�v���vt�� {x� ª
� ��|�{~���¥��®g{x�}|��W��{}uv��� |�{vr����x¢�|��[uv�¥��|��x��t�������{x��yv�~���x� � adjustment coefficient

� ��{vr����}t��~uv���
��r ��yv¦��­|��x����� ¢��[|�{vr�yv¤¥��w |��x��t�{x��{}��®}|¥w:� �~� ��wz���x� ª

∫ ∞

0

eRxdH(x) =
c

λp1

⇒ 1

p1

∫ ∞

0

eRxF (x)dx =
c

λp1

⇒
∫ ∞

0

eRxF (x)dx =
c

λ
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�z��{x��yv¦ ���x¢�|�{x�­t�{x��{}���x¢�|~r ���s�~uv�v��uv�x��wz���s¤¥¨ ���xyv� �

∫ ∞

0

(
1

R
eRx)

′
F (x)dx =

c

λ

⇒
[

1

R
eRx

]∞

0

+

∫ ∞

0

1

R
eRxf(x)dx =

c

λ

⇒ − 1

R
+

∫ ∞

0

1

R
eRxf(x)dx =

c

λ

⇒ − 1

R
+MX(R) =

c

λ
� 8�ª ¯ 8 �

¦vt����
MX(R)

�������vt��~���¥¢�¢��}|��~r {s|��x����{}|�{x¢���yv�x��|¥wz¢
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�^`nuqP
�^p H
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ψ(u) =
1

1 + θ
e
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Weibull � | � � � � yv�­� < 5 ���l¬��¥¢�yxt�������� ¢�{������ ������{x¢�{}uv�}|~r ��¦��W|�©}t����
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Taylor
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MX(R) = E(eRx) = E(
∞∑

i=0

(Rx)i

i!
) =

∞∑

i=0

E(
(Rx)i

i!
)

=

∞∑

i=0

(R)iE(xi)

i!
) =

∞∑

i=0

(R)ipi

i!
� 8�ª 8 ° �

= 1 +Rp1 +
R2p2

2
+
R3p3

6
+ ... � 8�ª 8$5 �

� ����{���{x¢�|~r ��{~� r ��|�£z¢�|�{x��|��x¢ � 8�ª 8$5 ����|��x¢ � 8�ª ¯x± ����{vr�¨ ���x��r yv�vt���r £z¢�|�{x�­|����x��|������ ��t���£b|����x�
¦������x�­|��x������r ��®x����¤¥¨ ���xyv� �

1 +Rp1 + R2p2

2
+ R3p3

6
+ ... = (1 + θ)p1R + 1

(1 + θ)p1R + 1 > 1 +Rp1 + R2p2

2
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p2
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Taylor
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MX(R)

h(r) = 1 + (1 + θ)p1r
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T =

{
inf {t : R(t) < 0}
∞,
P^O
R(t) ≥ 0 ∀t
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[ZvxP
Rn{
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� {	� � Pr( ¢�{����xy~������¨ ���¥�v���vt�� { ) = Pr(T <∞) < 1

� �
� � Pr( ¢�{�yv�x¢W���xy~������¨ ���¥�v���vt�� { ) = Pr(T = ∞) > 0

¯ ª � ��¨ ©x��r ��¦}|~r � Pr(T = ∞) = Pr(R(t) > 0, ∀t) = 1 − ψ(u) = δ(u)
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\ N�u
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[ZvxP
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gjP
\K@YtekazMXwuKv �7fnAbP
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@�Xntekmfh@�fh]
fnAe\~g�p5geuKv kYP
gjPykmf

-U(T)
{
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gjPcuqfQv AbP
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[ZvxP @YtekazMXwuKv �7fnAbP
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�Zv OQfnAbP
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XZRlA�`qRh[^AQUr@B`qRlAbXnt"[ uqfQX�OZi
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u
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t1
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L3, L4, ..., Li
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¬~� ¢����x¢�|��]yv¤[��� ������|��x�gtv|�£z���x� |���� tvuv�¥�x¢�®x��yv{}|������ ¦}|�{x¢���r { t���£b|�� ������® t�¤¥����r4��®}|¥wh{}t�¦ �

u2, u3, ..., ui−1

��{x¢�|~� ��|���r ¨ { ª
� 90A�����S�� �<; �(O \ @�S��
fQ\:`�@Yt^OZ]jpqg�`

c > λp1
@BAbXygeuqP
@�\~gj_"k:X�O^AeN�uKX�A�`qR �lfcC�W�vxP
R �y\ OZ���^OQCrOnH

Ae_�Abf-AbX}[ uYpq]
XZRVA7CrO
Li
[ZXnt>fbk �KP^OZv �7X�O^AbP
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gjXwuKXnt
]
fQv

A�`qO �afcC:kmfnAoWY\~g�p�gjP AbP^OeXbkrp kmf�[
\ ]
P^OZ_�A�`aAbP(f�[
\ AZtwS&vxP
R
δ(0)
H:�^`nuqP
�^p �

K ∼ Geo(δ(0)) ⇒ � 8�ª 8&9 �

Pr(K = x) = [ψ(0)]xδ(0) ⇒ � 8�ª 8 ± �

Pr(K = x) =

(
1

1 + θ

)x
θ

1 + θ
� 8�ª 83L �
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fbkYP Ae\~gj_

u
{ ��`

@YtekazMXwuKv �7XntekmfVkmf
L
gjP
\K\ @�X��jAbP
\<kmf �

L = L1 + L2 + L3 + ...+ LK =
K∑

i=1

Li � 8�ª 8T= �

� ��A$��'TX0AT�0��%3��+

5xª � L
��� ¢�{vr���©x¢����[|��W���[wzyv�[|��~r ����|��x¨ {v� {�yv�[|�{���uv�}|�� ª

¯ ª � L
��� ¢�{vr�y�r ��|�� |��x¨ {v� {�yv�[|�{���uv�}|�� ª

8�ª Pr(L = 0) = Pr(K = 0) = δ(0)

� yv¤[��r ��|��W��wz���¥�}|~r ���W{}tv£buv��r {W���x¢�¬�¤¥�[|�{vr�yv� |��x¢�t�r ��{x¢�¦}|��}|�{W¨ ���¥�v���vt�� {x� ª � �}� ���[���~r yv¤¥¢�{��
t�{x��{}|��x����©xyv�Ytvwz� |��=�¥¢�¬��¥¨ ¦�yv�¥¢�� �d|��x¨ {v� {dyv�[|�{���uv�}|��

L
��¢�{dt�¤¥����r ��®}|¥w�{}t�¦=|��={x��¨�r ��¦

{}t��x���¥yv{}|~r ��¦l��� ¢�{vr�r ����¬�©x¢�{xyv�lyv�¡|��l�¥¢�¬��¥¨ ¦�yv�¥¢��p¢�{�¤¥¨ ���xyv��¨ ���¥�v���vt�� {���¬��}uv{x¬�� �

Pr(L > u) = ψ(u) � 8�ª 83M �

�sr ����¬�©x¢�{xyv{

Pr(L ≤ u) = δ(u) � 8�ª 8 K �
��|���t�{x��{}��®}|¥w=��¨ �xyv{ ��{v� ¢��x¢�|�{vr�����{x��r ��®s��r�|��x¨ {v� �¥�­yv�[|�{���uv�}|�¤¥���

L1, L,
��{vr

U(T ).

� A�9 'T����X �Y; �T\xP A�` AZtwSIP
vxP kmfnAbP7zjuY`aA�p
L1
H1`�X
[ZXZvxP X�W�v �7fnAbP
\3@BAbX,geuqP
@�\~gj_�k:X�O^AeN�uKX @BA�`qO

[ZfGW�v~[^A7Cr@B`([ZXnt>@YtekazMfQv�[^AQUr@B`yAbXnt�[ uqfQX�OZi
@akYP AbXZR3gji A7C�P^[Z_hAbX&P7WcS&\~gj_lP^[ZXZ]
fbkYP Ae\~gj_
u
HK\ @�S��
Xnt^O

AbP(fc�
pqR �
� { � P
]7WYXZ\ @BAe\~g�p5@Yt^OZi7WBA�`q@B`sgjP AbP^OeXbkrpqR�A�`qR}\ @�X��jAbP
\<kmf �

FL1(x) = Pr(L1 ≤ x) =

∫ x

0

1

p1
[1 − FX(t)]dt = H(x) � 8�ª 9 ° �

� { � WYX
[ZXZ�af�OZO^paAoWY\xP5A�`qR}fQv OQP
\Y` �

ML1(r) =
1

p1
(MX(r) − 1) � 8�ª 9�5 �

83L
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t1 t2 t3 t4 t5 t6 t7 t8 t9
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L1

L2

L3

L4
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6

?
?6

?

6
T

u

−U(T ) s

L

6

?

� ¨ �xyv{ 8�ª ± � �$��{x��r ���]t�{x��®x��|�{x��� |��x����|��}¨ {x��|~r ���x�l{x¢�¤[u�r ���x��tvuv�¥�x¢�®x��yv{}|�������{vr"{}t���r ��¦x¢~r ���|¥wz¢­�����~���}|~r ��£z¢«|��x¨ {v� wz¢Wyv�[|�{���uv�}|�£z¢
L1

��{vr
L.

� {V?-\x�Z\~gj_�AbfGW�P HV�a\xP,A�`qO�[ZfGW�v~[^A7Cr@B`�[ZXnt5XZ\mAZtwSIP
vxfQR�kmfnAbP7zjuY`aAeNQR
Xi
H�P
gjXwuKXnt
]
X��^O�fQgj]
fnAe\~g�p

gjP AbP^OeXbkrp Hykmf [ZP7W�iQkmfnAoWYX�z Ae_�Abf gjP
\}` AZtwSIP
vxP�kmfnAbP7zjuY`aA�p
L1
H P
gjXwuKXnt
]
fQvlfQgj]
fnAe\~g�p

gjP AbP^OeXbkrp�kmf}A�`qO"vx�Z\xP5[ZP7W�iQkmfnAoWYX {
� { �

r
Aei^�
`qRrWYX
[^p�A�`qR(D�� �7W<C P^[Z_yAbX1kr`q�ZN�O L"fQv OQP
\ �

E(Lr
i ) =

pr+1

p1(r + 1)
� 8�ª 9 ¯ �

� � tvwz�Y¤¥¨ ���xyv� {x¢�{x��¤¥����r�� yv¤[��r ��|�� ��wz���¥�}|~r ��� {}tv£buv��r {�� ��� ¢�{vr�y�r { ��©x¢����[|�� ���[wzyv�[|��~r ���
��{}|�{x¢���yv�����[t���yv¤¥¢�wz�­�����vt��~���¥¢�¢��}|��~r {s|��x��¬~� ¢��[|�{vr�{}t�¦�|��x¢W��¨ ¤¥��� �

ML(r) = MK(ln(MLi
(r)) � 8�ª 9T8 �

¦vt������
MK(r) = E(erK) =

δ(0)

1 − ψ(0)er
� 8�ª 939 �

{x����©	�
K ∼ Geometric(δ(0))

��¢�|~r ��{~� r ��|�£z¢�|�{x��|~r � � 8�ª 9�5 ����{vr � 8�ª 939 � ��|��x¢ � 8�ª 9T8 � ��¤¥¨ ���xyv� �

ML(r) =
θ

1+θ

1 − 1
1+θ

MLi
(r)

=
θ

(1 + θ) −MLi
(r)

� 8�ª 9 ± �

8T=



� A�9 'T����X ��� ; �>AbX"geuqP
@�\~gj_1k:X�O^AeN�uKX(�a\xP5A�` kmN��a\ @BA�`5@qC�W�fQtjAe\~g�p5P^[�UBuqfQ\xP(\ @�S��
Xnt^OyAbP(fc�
pqR �

� {>N SIfQ\akmN7@B`�Ae\ krp �
E(L) =

1

θ

p2

p1

� 8�ª 9TL �

gjP
\

� { �Z\xP
@Y[ZX�W�i �
V ar(L) =

p3

3θp1

+ (
p2

2θp1

)2 � 8�ª 9]= �

?#% �BATX0S�� 
B; �>AbX}geuqP
@�\~gj_hk:X�O^AeN�uKXnH P^O
L = L1 +L1 + ...+LK

H fQv OQP
\�`ykmN��a\ @BA�` @qC�W�fQtjAe\~g�p
P^[�UBuqfQ\xP HT_
[ZXnt

Li
fQv OQP
\:P^OQfc� i7WBA�`aAbfQR"gjP
\:\ @�_�OeXbkmfQR�AZtwSIP
vxfQR�kmfnAbP7zjuY`aAeNQR"gjP
\

K ∼ Geo(δ(0))
H

Ae_�Abf}`�[
\ ]
P^OZ_�A�`aAbP"kr`hSMW�fQXZgjX
[ZvxP
R}_�AbP^O"AbX"P7WcS&\~gj_"P^[ZXZ]
fbkYP Ae\~gj_}fQv OQP
\
u
H:�Zv OQfnAbP
\BP^[Z_yAbX�O(A �q[ZX

�

δ(u) =
θ

1 + θ

∞∑

k=0

H∗k(u)

(
1

1 + θ

)k

� 8�ª 9TM �

_
[ZXnt �
H∗k(u) = Pr(L1 +L2 + ...+LK = u)

HBfQv OQP
\<`yg^� Aei^�
`qR&@Yt^OZN�uK\ �
`�A�`qR �>H<kmflAbX�O>f7P
tjAe_
A�`qR(D �TuKN�[Zf �1P7W�i7WBA�` kYP �TL {

 H 9��$%3�21TX

δ(u) = Pr(L ≤ u) =

∞∑

k=0

Pr(L ≤ u|K = k)Pr(K = k)

= Pr(K = k) +
∞∑

k=0

Pr(L1 + L2 + ...+ LK ≤ u)Pr(K = k)

= δ(0) +
∞∑

k=1

H∗k(u)

(
1

1 + θ

)k
θ

1 + θ
� 8�ª 9 K �

¦�yxwz����{x¢W���~� �����xyv� �

H∗0(x) =

{
1,
{x¢
x ≥ 0

0,
{x¢
x < 0
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|�¦}|�� ��� � 8�ª 9 K � ����� ¢��[|�{vr �

δ(u) =
θ

1 + θ
+

∞∑

k=1

H∗k(u)

(
1

1 + θ

)k
θ

1 + θ

=
θ

1 + θ

(
1

1 + θ

)0

H∗0(u) +
∞∑

k=1

H∗k(u)

(
1

1 + θ

)k
θ

1 + θ

=
θ

1 + θ

∞∑

k=0

H∗k(u)

(
1

1 + θ

)k

� 8�ª ±}° �

� {Wt���¤[t���r�¢�{W|��x¢~� �����xyv��tvwz�¡|�� t������}����©xyv�¥¢�� ���[£z���xyv{Wyv{x�K��¬��}����� ��|������xyxt�¤¥��{x��yv{­tvwz�
� ���x��® |��x�p��©x¢����[|��x�����[wzyv�[|��~r ���x�l��{}|�{x¢���yv�x�p��{vrb� t�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x� ��� ¢�{vrz¤¥¢�¢���r �¥�
|�{x�}|�¦����xyv�¥� ª � �b|���r}��®~����r ¬~r ¦}|��}|�{�t�����{}t���¬���r ��¢�©x�[|�{vrx��r {¡|��x¢����x��®�|��x����©x¢����[|��x�z���[wzyv�[|��~r ���x�
yv�[|�{x��¤¥���[|�{vr ��{vr���|��x¢«t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�«��{vr�{x¢�|~� ��|�������{ ª
����� , ��� �(/��y! � !&� ' �10-%s),% �,47�(# ��0 � � /10-',� ),��� ��0 ��0 �1���

� ��+-/1% ' ��� /1%
� yv�[uv¤[|�� |��x� t�r ��{x¢�¦}|��}|�{x�Y¨ ���¥�v���vt�� {x� �¥¢�¦��]¨ {x��|������}uv{}��� ��� ��� ���x¢��¥¨ � ��{vr�t��[t��¥��{x��yv¤¥¢��
¨ ���x¢~r ��¦Y¬~r ®x��|��xyv{

[0, τ ]
� � ��{x��|�®}|�{vr��[��|�¦��W{}t�¦p|�� {x��¨�r ��¦ {}t��x���¥yv{}|~r ��¦

u
��{vr�{}t�¦p|�� yv�}�����

|���� ¬~r {x��|��xyv{}|����W| ª ���}|�� � �[t�r tvuv¤¥�x¢�t�{x��®xyv�[|�������� �¥yxt���¬~� ����r${}��¦�yv{ ��{vr$���g{}tvuv¤¥�gt��¥�~r tv|�£ �
����r � � ¦vtvwz�W���[�v���[|~r ���s��{}|�{x¢���yv� � |��x¢ {}���~r �����}t��~uv�~��r ��yv¦ |��x�­t�r ��{x¢�¦}|��}|�{x�«¨ ���¥�v���vt�� {x� ª � r {
|���uv¦~� w {x�}|�¦st��¥�~r ���~r ��¦�yv{x��|��­��|���¬��xy�r ���x����� {�t��������[� ��� ���[wz¢g��{vr�����{}��yv®}|¥wz¢W|��x��t�r ��{x¢�¦}|�� �
|�{x�

ψ(u, t) ª
� A�9 'T����X ���<; �>AbX�geuqP
@�\~gj_�k:X�O^AeN�uKX,A�`qR �lfcC�W�vxP
R �y\ OZ���^OQCrO,gjP
\��a\xP P7WcS&\~gj_�P^[ZXZ]
fbkYP Ae\~gj_
u=0
H:`s[
\ ]
P^OZ_�A�`aAbP>kr`-SMW�fQXZgjX
[ZvxP
R

δ(u, t) = 1−ψ(u, t)
@BAbX

[0, t]
HYN SIfQ\<AbX>fc�
pqR&i^OQC � W�in� kYP �

δ(u, t) ≤ θ

1 + θ
+

p2

θp1

1

ct
, ∀t ≥ 0. � 8�ª ± 5 �

 ¡��¤[t���r ¢�{l{x¢�{x��¤¥�����xyv��tvwz�g��t�r ��{x¢�¦}|��}|�{�yv�l¨ ���¥�v���vt�� {x�g��r {lt��[t��¥��{x��yv¤¥¢�� ¨ ���x¢~r ��¦Y���~� �
���x¢�|�{���{vr�� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W����®}t���r ��� ��¨ ��¦x¢��l���x¢�¬�¤¥�x¢�|�{vr�yv��|�����¨ ¤¥��� �

ψ(u, t) = ψ(u)Pr[T ≤ t | T <∞], � 8�ª ±x¯ �

¦�yxwz����r {syv�[��®}uv�¥��|~r yv¤¥��|����
u
��r ��¨ ©x��r�|��l� ���x� �

Pr[T ≤ t | T <∞] ∼= Φ

(
t−m

σ

)
,

8 K



¦vt����	�
Φ(·) �s���x¢�®x��|��x���W��{}|�{x¢���yv�x��|��x��|��}t��vt���r �xyv¤¥¢��x�­��{x¢��x¢~r ���x�«yv�[|�{���uv�}|��x�¡��{vr

m = E[T ≤ t | T <∞]

σ2 = V ar[T ≤ t | T <∞]

� A�9 'T����X � �Y; �>AbX�geuqP
@�\~gj_ k:X�O^AeN�uKX�A�`qR �lfcC�W�vxP
R �y\ OZ���^OQCrO�gjP
\l�a\xP kmf��aicuqfQR Ae\ kmNQR AbXnt
P7WcS&\~gjX�� P^[ZXZ]
fbkYP Ae\~gjX��

u
H&k:\xP�[�WYXZ@�N��K�a\ @B` A�`qR [
\ ]
P^OZ_�A�`aAbP
R�kr`sSMW�fQXZgjX
[ZvxP
R

δ(u, t) = 1 −
ψ(u, t)

@BAbX
[0, t]
H fQv OQP
\Y`5fc�
pqR �

δ(u, t) ∼= ψ(u)Φ

(
t− µ

σ

)
� 8�ª ± 8 �

����� � % �(/1�(/10V� !"�*) � ��% />!1+32�% ! �s#��
0V� �"47�(#.# � / ��� /1% �
��|��]��uv{x��r ��¦ yv�x¢�|�¤[uv�Y|��x�g���[wz�~� {x� �«r ¢�¬�©x¢����Y�}t��x��¤¥��{xyv�g¦}|~r$��r ¨ ��¦x¢���r yv�[|�{ ��©p|¥wz¢l{}t�� ��� �
y�r £z���[wz¢«��� ¢�{vr�{x¢�� ��®x��|��}|��¥�K��{vr�r ��¦x¢���yv�¥��|��x¨ {v� �¥��yv�[|�{���uv�}|�¤¥�¡t���� {}���~uv���~����©x¢«|��x¢«�[�v���[|~r ���
��{}|�{x¢���yv� ª �bt�r tvuv¤¥�x¢����[wz���x��{xyv�­¦}|~r �l��|��}¨ {x��|~r ���l{x¢�¤[u�r ��� {N(t), t ≥ 0} ��t����p{x¢�|~r ��|���r ¨ ���
��|���tvuv�~������|¥wz¢�{x¢�{x¢��[£z���[wz¢ t��������xy~��{v� ¢����x¢ ��|��

[0, t], ∀t > 0
��� ¢�{vr}y�r {�¬~r {x¬~r ��{x��� {

Poisson ª
§]r {�{}t�¦�|~r ��t��~uxuv¤¥�����¥¢~r ���¥©x����r ��|����g��uv{x��r ����©�yv�x¢�|�¤[uv���gt�����¤¥¨ ���x¢Wyv�[uv�[|��~����� ��{}t��}|��[uv������{vr
|��s��¢�{x¢��[wb|~r ��¦p§Y�x¢�|�¤[uv� ª � ©xyv��wz¢�{ yv�¡{x�}|�¦ ����r�¨ ��¦x¢���r�yv�[|�{ ��©g|¥wz¢ ���xy�r �~��¦x¢�wz¢g���xy~��®x¢�|¥wz¢
t�{x��{xyv¤¥¢����x¢s{x¢�� ��®x��|��}|��¥�W��{vr$r ��¦x¢���yv�¥�g|��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥�W�¥¢�£ {x�}|�¦ t���� {}uxuv® ����r ��� ¢�{vr ¦}|~r
�[��|�¦��­{}t��s|��x¢«�[�v���[|~r ����yxt�������©x¢g¢�{ {}���~uv���~����©x¢g�vt���r {x¬��}t��}|�����{}|�{x¢���yv� ��{vr��[t�r tvuv¤¥�x¢g¦}|~r��
��|��}¨ {x��|~r ���W{x¢�¤[u�r ��� {N(t), t ≥ 0} yxt���������¢�{«��� ¢�{vr�y�r {«�vt���r {x¬��}t��}|��K{x¢�{x¢��[wb|~r ���«¬~r {x¬~r ��{x��� { ª
� A�9 'T����X�� >Y;��>AbX(P^OQP^OQfcC3Ae\~gj_�k:X�O^AeN�uKX ` [
\ ]
P^OZ_�A�`aAbP�OQP�@YtekazMfQvZSMW�fQXZgjX
[ZvxP�A�`�@BAe\ � krp [ZXnt
NGWcSIfnAbP
\Y`,[�W<U3A�`sP^[ZX �c` kmv Cr@B`sfQv OQP
\ �

ψ1(u) =

∫ ∞

0

φ(t)[1 − F (u+ ct)]dt � 8�ª ± 9 �

_
[ZXnt H
φ(t)
`�@Yt^OZi7WBA�`q@B` [
t
gaOZ_�A�`aAbP
R([
\ ]
P^OZ_�A�`aAbP
R"A7CrO(f�OZ�Z\xiQkmf7@qCrO-SMW�_�OQCrOykmfnAbP^� ���Z\xP
�ZXxS&\ �

g UrOy@YtekazYi^O^A7CrO {
 H 9��$%3�21TX
� { ¨ ���x��r yv�vt���r �x�����xyv�¡|��suv�[��¦�yv�¥¢���{x¢�{x¢��[wb|~r ��¦��[t�r ¨ ��� ���xyv{���¬��¥��yv�¥©x�x¢�|�{x�¡wz��t�������|���¨ ��¦x¢��
t����g���xy~��{v� ¢���r��«t���£b|��W{}t�� ���xy�� wz��� ª ��¢��}t��x��¤¥�����xyv��¦}|~r�|���t���£b|���{x�}|�¦ ���xy�r �~��¦x¢��s���[���x¢�¦��

9 °



���xy~��{v� ¢���rx|��«¨ ���x¢~r ���g��|~r ��yv�
T1 = t

|�¦}|�� ¨ ���x��r yv�vt���r £z¢�|�{x�K|�� ¢�¦�yv�g|��x���~u�r ���x�Kt�r ��{x¢�¦}|��}|�{x���
¤¥¨ ���xyv� �

ψ1(u) =

∫ ∞

0

Pr(R(t) < 0|T1 = t)φ(t)dt

=

∫ ∞

0

Pr(u+ ct−X1 < 0)φ(t)dt

=

∫ ∞

0

Pr(X1 > u+ ct)φ(t)dt

=

∫ ∞

0

φ(t) [1 − FX1(u+ ct)] dt

��|���{x¢�{x¢��[wb|~r ��¦syv�x¢�|�¤[uv����r ���~r ��yv��� ��r {W|��x¢�|��x¨ {v� �¥��yv�[|�{���uv�}|�¤¥�
L1, L

��t�{x��{xyv¤¥¢����x¢«� ¬~r ��r
yv�¡|�����uv{x��r ��¦pyv�x¢�|�¤[uv� ��¤[|���r �

• L = L1 + L2 + ... + LK

• K ∼ Geo(δ(0))

• δ(u) = Pr(L ≤ u)

�¥¢�£ ��¬��¥¢gr ��¨ ©x��r���r ��¦}|��}|�{ �
ψ(0) = 1

1+θ

� A�9 'T����X �TN:; �>AbX P^OQP^OQfcC3Ae\~gj_,k:X�O^AeN�uKX ` [
\ ]
P^OZ_�A�`aAbP(SMW�fQXZgjX
[ZvxP
R,@�f�i^[ZfQ\ WYX gjP
\I@Yt^OQf Shp
SMW�_�OeXnHM\~gjP^OeX
[ZXZ\xfQv A�`qO [ZP7W�P
gji A7C f�uqP A�A7C:kYP Ae\~g�p�P^OQP^OQfcC3Ae\~g�psfc� v @qCr@B` �

ψ(u) = φ H(u) + φ

∫ u

0

ψ(u− y)dH(y) � 8�ª ±x± �
_
[ZXnt �

φ = ψ(0)
gjP
\

H(x)
` P
]7WYXZ\ @BAe\~g�p�@Yt^OZi7WBA�`q@B` gjP AbP^OeXbkrpqR5A�`qRsAZtwSIP
vxP
R(kmfnAbP7zjuY`aA�pqR

L1.

 H 9��$%3�21TX
� �z��|¥w ��|�� �¥¢�¬��¥¨ ¦�yv�¥¢�� ¢�{]�}t�®x��¨ ��r tv|�£z��� |���� tvuv�¥�x¢�®x��yv{}|����s��®}|¥w {}t�¦ |�� t������}����©xyv�¥¢��
{}t��x���¥yv{}|~r ��¦ ª ��¦}|�� ��¤¥¨ ���xyv� �

ψ(u) = Pr(R(t) < 0| u)

=

∫ ∞

0

Pr(R(t) < 0|u,K, L1 = x)Pr(K)Pr(L1 ≈ x)dx+

+

∫ ∞

0

Pr(R(t) < 0| u,K ′
, L1 = x)︸ ︷︷ ︸

=0

Pr(K
′
)Pr(L1 ≈ x)dx

= φ

∫ ∞

0

Pr(R(t) < 0|u,K, L1 = x) )Pr(L1 ≈ x)dx

9�5




 {xy~��®x¢��x¢�|�{x�����}t�¦ ��r ¢gyv{x��¦}|~r �

• ��¢ L1 = x
��|�¦}|�� �

Pr(R(t) < 0|u,K, L1 = x) = 1

• ��¢ L1 = x ≤ u
� |�¦}|�� �

Pr(R(t) < 0|u,K, L1 = x) = ψ(u− x)

��{vr
Pr(L1 = x) =

dH(x)

dx
⇒ dH(x) = Pr(L1 = x)dx

|�¦}|�� ��¤¥¨ ���xyv� �

ψ(u) = φ

∫ u

0

Pr(R(t) < 0|u,K, L1 = x)dH(x) +

+ φ

∫ ∞

u

Pr(R(t) < 0|u,K, L1 = x)︸ ︷︷ ︸
=1

dH(x)

= φ

∫ ∞

0

ψ(u− x)dH(x) + φ[1 −H(u)]

= φ H(u) + φ

∫ u

0

ψ(u− y)dH(y)

����� +���� ����%�� +-#
��|���t�{x����©x��{�t�{x��®}����{x��� �v��{�{x��¨ �~uv�~����©xyv��yv��|��x¢�{}���~r ���­�}t��~uv�~��r ��yv¦g|��x� t�r ��{x¢�¦}|��}|�{x� ¨ ��� �
�v���vt�� {x� ª � r {�t��~uxuv¤¥�«��{}|�{x¢���yv¤¥�����p�}t��~uv�~��r ��yv¦��g�¥¢�¦��W{x¢�{}uv�}|~r ����©�|�©}t����s��r {�|���t�r ��{x¢�¦}|��}|�{
¨ ���¥�v���vt�� {x����� ¢�{vr�¬�©x�����~uv���¡¤[wz����{vr�{}��{}|�¦�����wb|���� ª � r {«|��guv¦~����{x�}|�¦W��{­t��¥�~r ���~r ��|���©xyv�K��|��x¢
t�{x�����x��� {x��� ¬�©x� yv� ��¦�¬�wz¢Y�}t��~uv�~��r ��yv��©�� ��|~r �pt��¥�~r tv|�£z����r �pt���� |�{ © ��� |¥wz¢Y{}t�� ���xy�r £z���[wz¢
{}���~uv���~����©x¢gy�r {s{}t�¦�|~r ��t�{x��{}��®}|¥w ��{}|�{x¢���yv¤¥� �

5xª �b�v���[|~r ������{}|�{x¢���yv�

¯ ª �$®xyvyv{g��{}|�{x¢���yv�

8�ª � �x¢�¬��x{x��yv¦��b�v���[|~r ��£z¢g��{}|�{x¢���yx£z¢

9 ª §Y��� ��� �$®xyvyv{ ��{}|�{x¢���yx£z¢

9 ¯



� *�� F��$F0+U� �
Bowers et al (1986)

�

� t�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x�«�}t��~uv�~��� ���[|�{vr�®xyv�¥��{g{}t�¦s|�� ���x¢�®x��|��x���W��{}|�{x¢���yv�x��|��x��§Y¤[��r ��|��x�
��wz���¥�}|~r ���x���¡tv£buv��r {x�

L ª
� ��A$R��$%3� ��S��
� �z��|¥w �

Xi ∼
�b�v���[|~r ��� � b � ª ����¨�r ��®�����{s�}t��~uv�~��� �����xyv�«|������vt��~���¥¢�¢��}|��~r {l|��x�­|��x¨ {v� {x�«yv�[|�{ �

��uv�}|��x�
L
�

ML(r) =
θ

1 + θ −MXi
(r)

=
θ

1 + θ − b
b−r

, r < b

� 8�ª ± L �
��|��W���x¢�¤¥¨ ��r {«uv{xy~��®x¢��x¢�|�{x�K�}t�¦ ��r ¢­yv{x�K¦}|~r��«|��x¨ {v� {Wyv�[|�{���uv�}|��

L
����� ¢�{vr�y�r ��|�� � ��{«����® �����xyv�

|��­���vt��~���¥¢�¢��}|��~r {g��{x¢¡®~������r ��yv{«¬�©x�gyv�[ux£z¢ ��yv��|�� ¤¥¢�{«{}t�¦g{x�}|�®­¢�{«{x¢�|~r ��|���r ¨ ������|��g¬~r {}���~r |�¦
��{vr�|��l®}uxuv����|��l���x¢��¥¨ ¤¥������yvyv®}|~r�|��x� ª

ML(r) =
θ

1 + θ
+

θ

1 + θ − b
b−r

− θ

1 + θ

=
θ

1 + θ
+

θ(b− r)

(1 + θ)(b− r) − b
− θ

1 + θ

=
θ

1 + θ
+

1

1 + θ

[
(1 + θ)θ(b− r) − θ[b + θb− r − rθ − b]

b + bθ − r − rθ − b

]

=
θ

1 + θ
+

1

1 + θ

[
(1 + θ)(θb− θr) − θ2b + rθ + rθ2

θb− r(1 + θ)

]

=
θ

1 + θ
+

1

1 + θ

θb

θb− r(1 + θ)

=
θ

1 + θ
+

1

1 + θ

θb
1+θ

θb
1+θ

− r
� 8�ª ± = �

��|��x¢g� �~� ��wz��� � 8�ª ± = � � t�{x��{}|��x����©xyv�Ktvwz�­�l¦������ �
θ

1 + θ{x¢�|~r ��|���r ¨ ������|���¬~r {}���~r |�¦p����yvyv®}|~r |��x����{}|�{x¢���yv�x�­�¥¢�£ |�� �
1

1 + θ

θb
1+θ

θb
1+θ

− r
� � � 0
���*� �����1)
��� ��� ' ���	� ' ��� 
�� #�� �	� # 
 	����.��% �����.).������0
��
 )
��� ��� 5∞ 
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��|�� ���x¢��¥¨ ¤¥�W����yvyv®}|~r�|��x�«��{vr {}t��}|��[uv����|��l���vt��~���¥¢�¢��}|��~r {p|��x�W�[�v���[|~r ���x�W��{}|�{x¢���yv�x�Wt��~uxuv{ �
tvuv{x��r {x��yv¤¥¢�� yv� 1

1+θ
ª §Y�K��®x���g|�{ t�{x��{}t�®x¢�w ����|��x¨ {v� {�yv�[|�{���uv�}|�� L

¤¥¨ ��r �

5xª §Y® ��{���|��lyv�x¬�¤¥¢«t�����r ����©}|�{vr�yv� δ(0) = Pr(L ≤ 0) = 1
1+θ

¯ ª �m� ¢�{vr����x¢��¥¨ �x����|�� � °��∞ � � yv��t��}��¢�¦}|��}|�{ �

Pr(L = x) =
1

1 + θ

θb

1 + θ
e−

θb
1+θ

x , x ∈ (0,∞)

�bt���yv¤¥¢�wz������{~������r ��|~r ���s���x¢�®x��|��x���W��{}|�{x¢���yv�x��|��x�
L
����� ¢�{vr �

Pr(L ≤ u) = 1 − 1

1 + θ
e−

θb
1+θ

u

��{vr�®x��{�����t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W¬~� ¢��[|�{vr�{}t�¦�|��x¢Wt�{x��{}��®}|¥w ��|�©}t����

ψ(u) =
1

1 + θ
e−

θb
1+θ

u

¦�yxwz���4¦vtvwz�g¤¥¨ ���xyv�W{}t���¬���� ����r4� ¦������ θb
1+θ

�$r ����©}|�{vr yv�­|�� ���x¢�|��[uv�¥��|���t�������{x��yv�~���x�
R
��|��x¢

t��¥�~� tv|¥wz��� t�����|�{s© ����{}t�� ���xy�� wz���x��{}���~uv���~����©x¢W|��x¢W�[�v���[|~r ������{}|�{x¢���yv� ª � ����{���¤¥¨ ���xyv� �

ψ(u) =
1

1 + θ
e−Ru � 8�ª ± M �

��{vr�{x����©
ψ(0) = 1

1+θ

��r ��¨ ©x��r �
ψ(u) = ψ(0)e−Ru � 8�ª ±&K �

� ��A$��'T�0ATX0��X

�$�¥¢~r ��®���¢�wz�~� �����xyv��tvwz����r {�|��l���x¢�|��[uv�¥��|��Wt�������{x��yv�~���x�
R
r ��¨ ©x���x¢g��r�r ¬~r ¦}|��}|��¥���

5xª ψ(u) ≤ Ce−Ru , ∀u ≥ 0

¯ ª ∃ C > 0 : ψ(u) ∼= Ce−Ru , u→ ∞

��|��Wt��¥�~� tv|¥wz���gt����W|�{g© ���g{}t�� ���xy�� wz���x�¡{}���~uv���~����©x¢­|��x¢��[�v���[|~r ������|�¦}|��K��r�t������}����©xyv� �
¢��¥�«r ¬~r ¦}|��}|��¥�­{x¢�|~r ��{~� � ��|�{x¢�|�{vr�{}t�¦�|��x¢gr ��¦}|��}|�{ �

ψ(u) = Ce−Ru, ∀u ≥ 0
��{vr

C = ψ(0) =
1

1 + θ
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� *�� F��$F0+,�
� yv� ����¬��~uv�~��� { t����]��{]{}���~uv���~���x�����xyv����|��]¬��¥©}|��¥��� yv¤ ����¬�� t��¥�~r ����®x���}���l{}t�¦ |����x�

Ger-

ber, Goovaerts and Kaas � 5 K MT= � ��{vr �¥��{x��yv¦ ���[|�{vr$��|~r ��t��¥�~r tv|�£z����r �st���� |�{Y© ������|��x� ��®~���
{}t�� ���xy�� wz���x�­{}���~uv���~������yv��� �����[�v���[|~r ��£z¢ � ��{vr���®xyvyv{ ��{}|�{x¢���yx£z¢ ª
��¢W���[wz���x�����xyv��|~r �W���x¢�{x��|��x����r ��t��}��¢�¦}|��}|�{x�

pi(x)
t�����{x¢�|~r ��|���r ¨ ��©x¢�������{}|�{x¢���yv¤¥�«|����

� ¬~r ���Y|�©}t���� {}uxuv® yv� ¬~r {x�������[|~r ��¤¥��t�{x��{xyv¤[|������x��� |�¦}|�� ���~� �����xyv����{x¢����x¢�¬��x{x��yv¦ � combina-

tion
�b|¥wz¢���{}|�{x¢���yx£z¢�{x�}|�£z¢ ��|��­��{}|�{x¢���yv�W�[����� ¢��«t����g¤¥¨ ��r�|��x¢�� ���x�K���x¢�®x��|��x����t��}��¢�¦}|��}|�{x���

p(x) =

n∑

j=1

Ajpi(x) � 8�ª L ° �

¦vt����s��r���|�{~���¥��¤¥�
Aj

��¤¥¨ ���x¢W|��x¢gr ¬~r ¦}|��}|�{	�
n∑

j=1

Aj = 1

��|��x¢�t��¥�~� tv|¥wz���Wt����g��r ��|�{~���¥��¤¥�
Aj

��� ¢�{vr��[t�r tvuv¤¥�x¢­��{vr����[|~r ��¤¥����|�¦}|��K���~� ���[|�{vr �Wyv��� ��� � mix-

ture
� |¥wz¢«��{}|�{x¢���yx£z¢ ª

 ; �J[G"�� [G����S:90+ � (�� %.'��)(	�B",(���'T��"$F0S	�B"
� �z��|¥w=��r��[�v���[|~r ��¤¥����{}|�{x¢���yv¤¥� �

pj(x) = bje
−bjx, x > 0 � 8�ª L$5 �

��{vr��l���x¢�¬��x{x��yv¦���|����x�­��� ¢�{vr �

p(x) =

n∑

j=1

Ajbje
−bjx, x > 0 � 8�ª L ¯ �

yv�
n∑

j=1

Aj = 1

��¦}|�� �4��t�r ��{x¢�¦}|��}|�{l¨ ���¥�v���vt�� {x� ��r {l|�� ���x¢�¬��x{x��yv¦l|¥wz¢��[�v���[|~r ��£z¢s��{}|�{x¢���yx£z¢ � ¬~� ¢��[|�{vr {}t�¦
|��x¢Wt�{x��{}��®}|¥w |�©}t�� �

ψ(u) =
n∑

j=1

Cke
−rku � 8�ª L38 �

¦vt�������r {�� � 5 � ¯ � 8 � ª ª ª � n ��r���|�{~���¥��¤¥� Ck

�}t��~uv�~��� ���x¢�|�{vr�{}t�¦�|�����¨ ¤¥��� �

Ck =
n∑

j=1

Cjk

bj
� 8�ª L&9 �

9 ±



yv�

Cjm =

Aj

(bj−rm)∑n
i Ai

(bj−rm)2

� 8�ª L ± �
��{vr

r1, r2, ..., rn

��r��~� ���¥��|��x��t�{x��{}��®}|¥w:� �~� ��wz���x� �

λ

c

n∑

j=1

Aj

(bj − r)2
= 1 � 8�ª L3L �

wz��t������
r ª

� ��A$��'T�0ATX0��X
� � �~� ��wz��� � 8�ª L3L ����� ¢�{vr�� ¬~r {syv���[����� ¢���t����s¨ ���x��r yv�vt���r �x��{xyv����r { |��x¢g�}t��~uv�~��r ��yv¦p|��������x¢�|�� �
uv�¥��|��gt�������¬~r ���~r ��yv��©

R
�����x¢��[tv£z����y�r ����¦}|��¥���s{}t�¦l{x�}|�¤¥��|~r �«�~� ���¥�­���xyxt�� tv|���r�yv��|��x¢

R ª
� ; �J[G"�� [G����S:90+ * R�S�S��W(���'T��"$F0S	�B"
� �z��|¥w=��r���{}|�{x¢���yv¤¥���$®xyvyv{��

pi(x) = b2jxe
−bjx, x > 0 � 8�ª LT= �

��{vr��l���x¢�¬��x{x��yv¦���|����x���

p(x) =

n∑

j=1

Ajb
2
jxe

−bjx, x > 0 � 8�ª L3M �
yv�

n∑

j=1

Aj = 1

��¦}|�� � �st�r ��{x¢�¦}|��}|�{l¨ ���¥�v���vt�� {x�g��r {�|�� ���x¢�¬��x{x��yv¦�|¥wz¢ �$®xyvyv{ � ¯ � bj � � j=1,2,...n
¬~� ¢��[|�{vr�{}t�¦

|��x¢Wt�{x��{}��®}|¥w |�©}t�� �

ψ(u) =

2n∑

k=1

C
′

ke
−rku � 8�ª L K �

¦vt����	�

C
′

k =
n∑

j=1

∫ ∞

0

C
′

jk(y)e
−bjxdy � 8�ª�= ° �

=

∑n
j=1Aj

3−2rk
bj

(bj−rk)2∑n
j=1Aj

3bj−rk

(bj−rk)2

� 8�ª�= 5 �

��{vr
r1, r2, ..., rn

��r��~� ���¥��|��x��t�{x��{}��®}|¥w:� �~� ��wz���x� �

1 − λ

c

n∑

j=1

Aj
2bj − r

(bj − r)2
= 0 � 8�ª�= ¯ �
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� ��A$��'T�0ATX0��X

� � yv��r {lyv��|��x¢ �[�v���[|~r ���st��¥�~� tv|¥wz�������ly�r ����¦}|��¥����{}t�¦p|~r �W�~� ���¥�g{x¢�|~r ��|���r ¨ ������|��x¢����x¢�|��[uv�¥��|��
t�������{x��yv�~���x� ª
� ��A$���$%3/ ��S���'T� �

Gerber, Goovaerts and Kaas
� � ����
 � �

�<; �J[G"�� [G����S:90+ %.(�� %.'��)(	�B",(���'T��"$F0S	�B"
��¢«���[wz���x�����xyv�K|���yv��� ���s¬�©x���[�v���[|~r ��£z¢g��{}|�{x¢���yx£z¢ �

p(x) = A1p1(x) + A2p2(x) � 8�ª�=&8 �

yv� �

5xª p1(x) = 3e−3x

¯ ª p2(x) = 4e−4x

��{vr�{x¢W�[t�r tvuv¤¥�x¢ �}t��x��¤¥�����xyv��¦}|~r�u � 5 c � 5 � A1 = 4
��{vr

A2 = −3
��|�¦}|���¤¥¨ ���xyv� �

p(x) = 12e−3x − 12e−4x � 8�ª�= 9 �

�bt���yv¤¥¢�wz�«� uv©x���g|��x� � 8�ª ± = �mwz��t������ r ��yv{x��¬~� ¢���r �

r1 = R = 1
��{vr

r2 = 5

�¡t�¦l|��x¢ � 8�ª L ± � ��� ¤¥¨ ���xyv�

C11 =

A1

(b1−r1)∑2
i Ai

(b1−r1)2

= 3

C12 =

A1

(b1−r2)∑2
i Ai

(b1−r2)2

= 1

C21 =

A2

(b2−r1)∑2
i Ai

(b2−r1)2

= −3

2

C22 =

A2

(bj−r2)∑2
i Ai

(b2−r2)2

= −3

2

� 8�ª�= ± �
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�bt���yv¤¥¢�wz����� � 8�ª L&9 � yv{x�­¬~� ¢���r �

C1 =

2∑

j=1

Cj1

bj
=

5

8
� 8�ª�=&L �

C2 =

2∑

j=1

Cj2

bj
= − 1

24
� 8�ª�=3= �

� ����{�����t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x������®x���g|��x� � 8�ª L38 � ��¬~� ¢��[|�{vr�{}t�¦�|��x¢W|�©}t����

ψ(u) =
5

8
e−u − 1

24
e−5u � 8�ª�=&M �

�Y; � %3/21TX ��R�S�S��W(���'T��"$F0S	�B"
��¢«���[wz���x�����xyv�K|���yv��� ���s¬�©x�
�$®xyvyv{ � ¯ � bj ����{}|�{x¢���yx£z¢
�

p(x) = A1p1(x) + A2p2(x) � 8�ª�= K �
yv� �

5xª p1(x) = b21e
−b1xx , b1 = 3 −

√
3

¯ ª p2(x) = b22e
−b2xx , b2 = 3 +

√
3

��{vr�{x¢W�[t�r tvuv¤¥�x¢ �}t��x��¤¥�����xyv��¦}|~r�u � 5 c � ¯ � A1 = 1
2

��{vr
A2 = 1

2

� |�¦}|���¤¥¨ ���xyv� �

p(x) =
1

2
(3 −

√
3)2e−(3−

√
3)x +

1

2
(3 +

√
3)2e−(3+

√
3)x � 8�ª M ° �

�bt���yv¤¥¢�wz�«� uv©x���g|��x� � 8�ª�= ¯ �mwz��t������ r ��yv{x��¬~� ¢���r �

r1 = R = 0.506, r2 = 1.756, r3 = 3.544
��{vr

r4 = 5.685

�¡t�¦l|��x¢ � 8�ª�= 5 � � ¤¥¨ ���xyv� �

C
′

1 =

∑2
j=1Aj

3−2r1
bj

(bj−r1)2∑2
j=1Aj

3bj−r1

(bj−r1)2

= 0.517

C
′

2 =

∑2
j=1Aj

3−2r2
bj

(bj−r2)2∑2
j=1Aj

3bj−r2

(bj−r2)2

= −0.070

C
′

3 =

∑2
j=1Aj

3−2r3
bj

(bj−r3)2∑2
j=1Aj

3bj−r3

(bj−r3)2

= 0.089

C
′

4 =

∑2
j=1Aj

3−2r4
bj

(bj−r4)2∑2
j=1Aj

3bj−r4

(bj−r4)2

= −0.036

9TM



� ����{�����t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W¨ ���x��r yv�vt���r £z¢�|�{x��|�� � 8�ª L K � ��¬~� ¢��[|�{vr�{}t�¦�|��x¢W|�©}t����

ψ(u) = 0.517e−0.506u − 0.070e−1.765u + 0.089e−3.544u − 0.036e−5.685u � 8�ª M$5 �
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� ��� +��������������

��|~r �«{x¢�{x¢��[wb|~r ��¤¥�­¬~r {x¬~r ��{x��� �¥�­����¢�£z��� |��x��{x¢�{x¢��[wb|~r ���x�­���x¢�®x��|��x���x���

U(x) =
∞∑

k=0

F ∗k(x)

t�{x�����x��r ® ����r�yv�[��®}uv� �¥¢�¬~r {x��¤¥���x¢���r {}|~��yv{x� t�{x��¤¥¨ ��r�|��«¬��x¢�{}|�¦}|��}|�{­¢�{W�}t��~uv�~��� �����xyv��|��x¢�{x¢�{ �
yv�¥¢�¦�yv�¥¢�� {x�~r ��yv¦d{x¢�{x¢��[£z���[wz¢ ��r { ¤¥¢�{ ���}� ���[���~r yv¤¥¢�� ¨ ���x¢~r ��¦:¬~r ®x��|��xyv{ ª � �}t��~uv�~��r ��yv¦��
{x�}|�¦�� ���x��r ��® � ��{x��|�®}|�{vr ���gyv�[��®}uv�l��{~��yv¦Y{}t�¦ |��x¢���{}|�{x¢���yv�p|¥wz¢��¥¢�¬~r ®xyv�¥��wz¢�¨ ��¦x¢�wz¢lyv� �
|�{ ��© |¥wz¢ {x¢�{x¢��[£z���[wz¢ ª �bt���yv¤¥¢�wz�Y��r { t��~uxuv¤¥� ��{}|�{x¢���yv¤¥�Y� {x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x��� ��� ¢�{vr
¬�©x�����~uv� ¢�{]�}t��~uv�~��r ��|���� uv¦~�����]|¥wz¢pt���® ���[wz¢pt����]{}t�{vr |���©x¢�|�{vr � ���x�~� wz�l{x¢�|~r ��|��������]yv�[|�{ �
��¨ �xyv{}|~r ��yv��©

Laplace
� ���¥¢�£:��r {s®}uxuv�¥����¦vtvwz�­��r {�t�{x��®x¬���r ��yv{���|��

Weibull
��� ¢�{vr�{x¬�©x¢�{}|��l¢�{

����� ������{x¢�{}uv�}|~r ��¦���|�©}t���� ª ��|~r ��t��¥�~r tv|�£z����r �K{x�}|�¤¥����� ¢�{vrvt��~uv©W¨ ���x��r yv�g¢�{«�}t��~uv�~��� �����xyv��t������
���[� ��� ����r �­��{vr�����®}��yv{}|�{g��r {�|��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x��� ª �����vt�¦��Wyv{x������{x�}|�¦s|������¥��®}uv{vr �
��� ¢�{vrx¢�{�{x¢�{x��¤¥�����xyv�z|�{����xyv{x¢�|~r ��¦}|��¥��{�®x¢�w ��{vr}��®}|¥w ����®}��yv{}|�{¡t�������{}|�{x�����¥�x®x��|��}��{x¢ yv¤¥¨ �~r
���xyv�¥��{ ª ��|��Yt�{x��{}��®}|¥w ��¨ �xyv{ ��{v� ¢��x¢�|�{vr4��r4���x�~r ¦}|��¥����r ���}� ����{x����� ���4t���� ¤¥¨ ���x¢l{x��¨ �~uv�~�����
yv�¡|���¬��xy�r ���x����� {s|�¤[|���r wz¢g����{}��yv®}|¥wz¢ ª

± 5
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^ ��®}��yv{}|�{ ��r {�|��x¢W{x¢�{x¢��[wb|~r �������x¢�®x��|��x���

Lorden(1970)
Butterworth & Marshall(1964)Barlow & Proschan(1975)
Siegel & Wunsche(1979)

Brown(1983, 1987, 1990)
Politis & Koutras(2005)

s

��¢�®}uv�~��{�yv��|�{s¨ {x��{}��|��x�~r ��|~r ��®s|��x����{}|�{x¢���yv�x�­t�����¨ ���x��r yv�vt���r ��©x¢�|�{vr���|��x¢g�}t��~uv�~��r ��yv¦
|¥wz¢g����{}��yv®}|¥wz¢ ����{g|�{s¨�wz�~� �����xyv����|~r �­� ���x��|�����r ����{}|��}�����~� �¥���

� � � ^ ��®}��yv{}|�{ t������¡�}t��~uv�~��r ��yv¦��z|����x�z{}t�{vr |�����yv¦x¢��¡|�� ��¢�£z��� |��x� t���£b|��x�"��{vr�|��x�b¬��¥©}|��¥���x�
���vt��x�«��©x��w {}t�¦l|��pyv�x¬�¤¥¢g|��x�­��{}|�{x¢���yv�x�­t����l{}���~uv���~����©x¢ ��r��¥¢�¬~r ®xyv�¥����r�¨ ��¦x¢���r � µ1��{vr

µ2

��{x¢�|~� ��|���r ¨ {
� ª

� � � � ^ ��®}��yv{}|�{ t����Yr ��¨ ©x���x¢p��|��x¢st��¥�~� tv|¥wz��� t���� ��¢�wz�~� �����xyv� |��x¢l{~������r ��|~r ��� ���x¢�®x��|��x���
��{}|�{x¢���yv�x��|¥wz¢W�¥¢�¬~r ®xyv�¥��wz¢g¨ ��¦x¢�wz¢ ª

� � � � � ^ ��®}��yv{}|�{­t����W¨ ���x��r yv�vt���r ��©x¢�|�{vr ��|��x¢¡t��¥�~� tv|¥wz���­t����W�[��|�¦��¡{}t�¦g|��­��¢�£z���­|��x�K{~������r �
��|~r ���x�����x¢�®x��|��x���x����{}|�{x¢���yv�x����� ¢�{vr�{}t�{x��{v� |��}|��W��{vr�� yv�x¢��}|��x¢~� { |��x��{x¢�{x¢��[wb|~r ���x�¡t�� �
��¢�¦}|��}|�{x���

u(x)
wz��t������

x ª

� r { ��®~��� y�r {Y{}t�¦Y|~r �s|�����r ��t�{x��{}t�®x¢�w ��{}|��}�����~� �¥����{ ¨ ���x��r yv�vt���r �x�����xyv��¤¥¢�{x¢p�[t�r tvuv¤¥�x¢
¬~r {x¨�wz�~r ��yv¦ �

5xª �$�¥¢~r ��®g®x¢�w ��{vr���®}|¥wd����®}��yv{}|�{«t����«��r {W|��x¢��¥��{x��yv�~���W|����x�¡��� ¢�{vr�{}t�{x��{v� |��}|��¥�Kyv¦x¢��s��r
{x��¨�r ��¤¥�­t������}t��x��¤¥����r ��|��x����{}|��}�����~� {x�«��|��x¢«�vt���� {�{x¢��}�����x¢ ª

¯ ª ^ ��®}��yv{}|�{s|�{l�vt���� {p�[��|�¦��g{}t�¦p|~r �W{x��¨�r ��¤¥�Wt������}t��x��¤¥����r �W|��x�«��{}|��}�����~� {x�W��|��x¢ �vt���� {
{x¢��}�����x¢ {}t�{vr |���©x¢ �[t�r tvuv¤¥�x¢ � ��{}|�{x¢���yv��|¥wz¢ ¨ ��¦x¢�wz¢ yv�[|�{ ��© |¥wz¢ {x¢�{x¢��[£z���[wz¢�¢�{�{x¢��}����r
������®}t���r {pyv�st�{x��{xyv�[|��~r ������r ���~��¤¥¢���r {p��{}|�{x¢���yx£z¢ � t ª ¨ ª IFR, NBUE, NWUE, DFR,

IMRL
� 2�"��
���0/ ������� ������� �

±x¯



£z��|���¢�{���� ¢�{vr��¥��r ��|����s®xyv�¥��� ��©}� ���~r ����|����x� ª

�¡t�¦�|����x�m���~r ��yv��©x�zt����K¨ ���x��r yv�vt���r �~���}��{x¢ ��|�� �­�¥��®}uv{vr ��¯ ��r {�|��x¢���r ��{}� wb����|��x�z¤¥¢�¢���r {x�
|��x��{x¢�{x¢��[wb|~r ���x�­¬~r {x¬~r ��{x��� {x�­t����v��©}tv|����x¢W|�{s� ���x������®}��yv{}|�{��
� A�9 'T����X � 4Y; �(O�XZ\�f�OZ�Z\xiQkmf7@�XZ\�SMW�_�OeXZ\<kmfnAbP^� �y�Z\xP
�ZXxS&\~g UrO"P^OQP^OQfcUr@�fcCrO�N S&Xnt^O1gjP AbP^OeXbkrp

FAe_�Abf1�a\xPsA�`qO"P^OQP^OQfcC3Ae\~g�p5@Yt^OZi7WBA�`q@B`
U(x)
\ @�S��
fQ\ �

F (x) + 1 ≤ U(x) ≤ 1

1 − F (x)
, � 9 ª25 �

_
[ZXnts�a\xPsAbX"i^OQC � W�in� kYP 1
1−F (x)

P^[ZP
\ AbfQv AbP
\BOQP(\ @�S��
fQ\
F (x) < 1.

 H 9��$%3�21TX
�(O tq[ZXZ]
N7@�Xntekmf�[�CrR5N S&Xntekmf(k:\xP @Yt^O^pq]j` P^OQP^OQfcC3Ae\~g�p �Z\xP
�Z\~gjP
@�vxP Hh�^`nuqP
�^p �Z\xP
�Z\~gjP
@�vxP�@BA�`qO
X
[ZXZvxP,` gjP AbP^OeXbkrp�AbXnt>SMW�_�OeXntskmN SMWY\dA�`qO�[�W<U3A�` P^OQP^OZNcCr@B`,fQv OQP
\Mvx�Z\xPskmf(A�`qO�gjP AbP^OeXbkrp A7CrO
tq[ZXwuKXZv~[�CrO"f�OZ�Z\xiQkmf7@qCrOISMW�_�OQCrOnHTAe_�AbfhN S&Xntekmf �

max Ti ≤
r∑

j=0

Tj = Sr , T0 = 0, S0 = 0

=�3W�P
F ∗r(x) = Pr(Sr ≤ x) ≤ Pr(maxTi ≤ x) ≤ Pr(Ti ≤ x)r = (F (x))r

gjP
\
F ∗1(x) = F (x)

F ∗0(x) = 1[0,∞)(x)

_
[ZXnt
1[0,∞) =

{
1
HMP^O

x ∈ [0,∞)
0
HMP^O

x /∈ [0,∞)?l[ZXbkmN�OQCrR
F (x) + 1 = F (1)(x) + 1 ≤

∞∑

r=0

F ∗r(x) ≤
∞∑

r=0

(F (x))r =
1

1 − F (x)=�3W�P
F (x) ≤ U(x) ≤ 1

1 − F (x)��{l����®}��yv{}|�{s{x�}|�®s¬��¥¢ ¬~� ¢����x¢�{}t��}|��[uv¤¥��yv{}|�{�yv�[��®}uv�x�«{}���~� ����r {x�W������¨ ¤¥���syv�­{x�}|�®�t����
��{�t�{x�����x��r {x��|���©x¢¡��|������x¢�¤¥¨ ��r {­��r {�|��Wuv¦~��� {x�}|�¦W¬��¥¢K��{�{}t��}|��[uv¤¥�����x¢¡{x¢�|~r ����� yv�¥¢�� yv�[uv¤[|��x�
yv{x� ª
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� �b� ( � ��� ���"!&� � � /1� �>!h�s��0&� !l� / �1% � � /
µ1
),���

µ2.

� {­{x¢�{x��¤¥�����xyv� ����®}��yv{}|�{���r {­|��x¢¡{x¢�{x¢��[wb|~r ���­���x¢�®x��|��x���¡t����«¨ ���x��r yv�vt���r ��©x¢�|�{vr � ¦}|�{x¢K��¢�w �
�~� �����xyv��yv¦x¢���|~r �­¬��x��t���£b|��¥�����¥¢�|��~r ��¤¥�«���vt�¤¥��|¥wz¢g¨ ��¦x¢�wz¢gyv�[|�{ ��© |¥wz¢g{x¢�{x¢��[£z���[wz¢ ª
� ������� � ��� ��
����	��
 
 � � 
��
��
������
�����
� �

� Lorden � 5 K = ° � � t�{x�����x��� {x���¡|��l� ���x�����¥¢~r ��¦p®x¢�w=����®}��yv{��

U(x) ≤ x

µ
+
µ2

µ2
:= U1(x) � 9 ª ¯ �

�¥¢�£=��r
Barlow

��{vr
Proschan � 5 K M$5 ��¤¥¬�wz��{x¢W¤¥¢�{����¥¢~r ��¦l��®}|¥w:����®}��yv{��

U(x) ≥ x

µ
:= L1(x) � 9 ª 8 �

� �x¢�¬��x® ���x¢�|�{x�K|��x� � 9 ª ¯ �b��{vr � 9 ª 8 � ��t�{x��{}|��x����©xyv� tvwz�¡��|��«���¥¢~r ���Wt��¥�~� tv|¥wz���«t����W��¢�wz�~� �����xyv�
yv¦x¢�� |~r ��¬��x�]t���£b|��¥�s���vt�¤¥� � ��©x��w {}t�¦ |�� yv�x¬�¤¥¢�� �"�Y{x¢�{x¢��[wb|~r ���Y���x¢�®x��|��x��� ��� ¢�{vr ®x¢�wh��{vr
��®}|¥w=����{}��yv¤¥¢�����{}t�¦�|~r ��t�����¦}|��}|��¥� �

L1(x) =
x

µ
≤ U(x) ≤ x

µ
+
µ2

µ2
= U1(x) � 9 ª 9 �

� ������� �����
�����
� ����� ��� ���	�������������! ��������"����� �	� 	����

��|��x¢�t��¥�~� tv|¥wz���lt���� �l��{}|�{x¢���yv�p|¥wz¢s�¥¢�¬~r ®xyv�¥��wz¢s¨ ��¦x¢�wz¢�yv�[|�{ ��©�|¥wz¢�{x¢�{x¢��[£z���[wz¢�{x¢��}����r
����y�� {�{}t�¦�|~r �«�[t�¦�yv�¥¢��¥�­yv� t�{x��{xyv�[|��~r ��¤¥����{}|��}�����~� �¥�­��{}|�{x¢���yx£z¢ � �

5xª NBUE - NWUE

¯ ª IMRL

8�ª IFR

¤¥¨ ���xyv� {}���~r ��¤¥��|��¥��{­����®}��yv{}|�{���r {­|��x¢¡{x¢�{x¢��[wb|~r ���­���x¢�®x��|��x������� ��¨ ¤¥����yv��|�{����¥¢~r ��®W����®}� �
yv{}|�{pt����Y{x¢�{x��¤¥�����}��{x¢���|��x¢st������}����©xyv�¥¢�� t�{x��®}����{x��� ª �bt�r tvuv¤¥�x¢ ��� ¢�{vr$��{x��¤¥� ¦}|~r ¦����Yt�r �
y�r ��������� ¢�{vr�� ��uv®x���gt�����{x¢��}����r�� {~������r ��|~r ���s���x¢�®x��|��x���«��{}|�{x¢���yv�x����|�¦����st�r �l{}���~r ��¤¥����� ¢�{vr
|��l����®}��yv{ ª
�
2�"��
���0/ ������� ������� �
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��� 5 K M$5 ��r Barlow
��{vr

Proschan
�}t��x��¤[|��x¢�|�{x��� ¦}|~r��g��{}|�{x¢���yv�g|¥wz¢«¨ ��¦x¢�wz¢Wyv�[|�{ ��©W|¥wz¢

{x¢�{x¢��[£z���[wz¢W{x¢��}����r���|��x¢­��uv®x���
NBUE

����{}|�{x�����¥©x{x��{x¢«|��l� ���x��®x¢�w=����®}��yv{��

U(x) ≤ x

µ
+ 1 := U2(x) � 9 ª ± �

�¥¢�£={x¢W{x¢��}����r���|��x¢
NWUE

�

U(x) ≥ x

µ
+ 1 := L2(x) � 9 ª L �

� r { |��x¢Yt��¥�~� tv|¥wz��� t���� � ��{}|�{x¢���yv� |¥wz¢ �¥¢�¬~r ®xyv�¥��wz¢]¨ ��¦x¢�wz¢ yv�[|�{ ��© |¥wz¢ ���xy~��®x¢�|¥wz¢ �
{x¢��}�����x¢ ��|��x¢p��r ���~��¤¥¢���r { ��{}|�{x¢���yx£z¢

IMRL
�

Brown
�b|�� 5 K M °��"t�{x�����x��� {x��� |�� � ���x�l®x¢�w

����®}��yv{��
U(x) ≤ x

µ
+

µ2

2µ2
:= U3(x) � 9 ª�= �

�¥¢�£ |�� 5 K MT= ����� ¬~r �������}� ����{x��¤¥{x��¤¥¬�wz��� ��{vr�¤¥¢�{­��®}|¥w ����®}��yv{­|��x��{x¢�{x¢��[wb|~r ���x�K���x¢�®x��|��x���x�
¦}|�{x¢g� ��{}|�{x¢���yv��¤¥¨ ��r�|��x¢gr ¬~r ¦}|��}|�{

IFR

U(x) ≥ x

µ
+
µ2 − µ2

µ2
:= L3(x) � 9 ª M �

� ��� ( � ��� ���"!&� � � � ! � � / � ��� ! �s#
F

��|��x¢�t�{x��®}����{x���Y{x�}|��l��{pt�{x�����x��r ®x�����xyv�W|�{ ����®}��yv{}|�{p|��x��{x¢�{x¢��[wb|~r ���x� ���x¢�®x��|��x���x�Wt����
��r {K|��x¢ �}t��~uv�~��r ��yv¦�|����x�m¨ ���x��r yv�vt���r ��� |�{vrx�K{~������r ��|~r ���¡���x¢�®x��|��x��� ��{}|�{x¢���yv�x�

F
|¥wz¢ |��x¨ {v� wz¢

yv�[|�{���uv�}|�£z¢­t����s{x¢�|~r ��|���r ¨ ��©x¢ ��|����x���¥¢�¬~r ®xyv�¥�����x�­¨ ��¦x¢����x�«yv�[|�{ ��© |¥wz¢W{x¢�{x¢��[£z���[wz¢ ª
� ������� � ��� ��
����	��
 
 � � 
��
��
������
�����
� ���

��� 5 K L&9 �4��r Butterworth
��{vr

Marshall
� �}t��x��¤[|��x¢�|�{x��¦}|~r4� yv¤¥���l|~r yv� y |��x�g��{}|�{x¢���yv�x�

F
�

��� ¢�{vr�¤¥¢�{x�«t��[t��¥��{x��yv¤¥¢����­t���{}��yv{}|~r ��¦��W{x�~r ��yv¦���� ¬��xyv����� �¥�x��{x¢W|�� � ���x�­��®}|¥w ����®}��yv{s��r {s|��x¢
U(x)

�
U(x) ≥ x

µ
− Fe(x) + 1 := L4(x) � 9 ª K �

¦vt����

Fe(x) =
1

µ

∫ x

0

(1 − F (u))du

� r { y�r ����¤¥��|~r yv¤¥� |����
x
��{vr r ¬~r {v� |��¥��{ ��r { y�r {pt��¥�~r �}¨ �Y��©x��wh{}t�¦Y|��]yv�x¬�¤¥¢l��r

Politis
��{vr

Koutras � ¯}°x°v± � �bt�{x�����x��� {x��{x¢����[ux|~r wzyv¤¥¢�{ ����®}��yv{}|�{ � ��®}|¥w {}t�¦ ���}� ���[���~r yv¤¥¢��¥� ���x¢����}���¥�
±x±



t����st���¤[t���r�¢�{�r ��{x¢��vt���r ��©x¢�|�{�¨ {x��{}��|��x�~r ��|~r ��®�|��x�­��{}|�{x¢���yv�x��|�����¨ ��¦x¢�����yv�[|�{ ��©�|¥wz¢ {x¢�{ �
¢��[£z���[wz¢�� ���­��¨ ¤¥���syv��{x�}|�®�t������x¬����}t��x��¨ {x¢W��r {s|��x¢ {x¢�{x¢��[wb|~r �������x¢�®x��|��x��� ª � yv¤ ����¬����
t���� ¨ ���x��r yv�vt���� �x��{x¢ � ��� ¢�{vr4�p� ���x� ������¨�r ��® �}t��~uv�~��� �����xyv��¤¥¢�{p®x¢�w �l��®}|¥w ����®}��yv{p��r {p|��
uv©x���g|��x��{x¢�{x¢��[wb|~r ���x��� �~� ��wz���x� ª ���l����®}��yv{ {x�}|�¦s|�����r ��®}�����xyv����|��x¢«{x¢�{x¢��[wb|~r ����� �~� ��wz���
yv��{}t��}|�¤[uv�¥��yv{ ¢�{ t����v��©}tv|���r�¤¥¢�{�¢�¤¥�l����®}��yv{ ��r { |��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���Wt����s���x¢��~��wz�
��� ¢�{vr~��{}uv©}|��¥���x�m{}���~� ����r {x� {}t�¦�|��­����®}��yv{¡{}t�¦�|��«�vt���� �«t������x�����b|����}uv®x¨�r ��|��x¢���r {�y�r {Kt��¥�~r �}¨ �
��©x��w={}t�¦s|��lyv�x¬�¤¥¢ ª � ¨ �xyv{}|~r ��®s¤¥¨ ���xyv� �

��¢�{x¢��[wb|~r ���s� �~� ��wz���

��
 ©x���g|��x�­{x¢�{x¢��[wb|~r ���x�����~� ��wz���x�

��^ ��®}��yv{���r {�|�� uv©x���g|��x����¢�{x¢��[wb|~r ���x�«���~� ��wz���x�
� % ����������� ����!$	 ��	���	���� ��% 	
� ����
 ��� ��!

��� ¤¥�l����®}��yv{ ��r {�|��x¢«uv©x��� |��x��{x¢�{x¢��[wb|~r ����� �~� ��wz���x�

��� ¤¥�l����®}��yv{ ��r {�|��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���

� �0S�S�� �<; �(O
F (x)
fQv OQP
\3`�P
]7WYXZ\ @BAe\~g�p @Yt^OZi7WBA�`q@B`�gjP AbP^OeXbkrpqR k:\xP
R�AZtwSIP
vxP
R kmfnAbP7zjuY`aA�pqR

Ae_�Abf1�a\xP
x > 0
\ @�S��
fQ\ �

∫ x

0

x− t

µ
dF (t) =

x

µ
− Fe(x) � 9 ª25 ° �

 H 9��$%3�21TX
∫ x

0

x− t

µ
dF (t) =

x

µ

∫ x

0

1dF (t) − 1

µ

∫ x

0

tdF (t)

=
xF (x)

µ
− 1

µ

(
[tF (t)]x0 −

∫ x

0

dF (t)

)

=
xF (x)

µ
− xF (x)

µ
+

1

µ

∫ x

0

dF (t)

=
x

µ
− Fe(x)

��|�� ���x¢�¤¥¨ ��r { ��{ {x¢�{x��¤¥�����xyv�p¤¥¢�{ t�{x��®x¬���r ��yv{ t���� yv{x� ��r ��®}����rm��|�� yv� ����¬��~uv�~��� { t����
¨ ���x��r yv�vt���� �x��{x¢���r

Politis
��{vr

Koutras � ¯}°x°v± � ª � ©xyv��wz¢�{«yv��|��x¢ Feller � 5 K = 5 �"�­{x¢�{x¢��[wb|~r ���
± L



� �~� ��wz��� t�����r ��{x¢��vt���r ������{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���
U(x)
��� ¢�{vr �

U(x) = 1 +

∫ x

0

U(x− t)dF (t) � 9 ª2535 �
;����x��r yv�vt���r £z¢�|�{x�­|��l����®}��yv{ � 9 ª 8 � ��|��x¢ � 9 ª2535 � ¤¥¨ ���xyv� �

U(x) = 1 +

∫ x

0

U(x − t)dF (t)

≥ 1 +

∫ x

0

x− t

µ
dF (t)

� �$#�#��
1

=
x

µ
+ F̄e(t)

�bt���yv¤¥¢�wz���
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U(x) ≥ 1 +
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µ
dF (t) +
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dF (t)
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∫ x

0

F̄e(x− t)dF (t) +
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gjP
\
a ∈

(0,∞]
Ae_�Abf �
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9 ª F (x) = 1 − e−x(1 + x)

± ª Fe(x) = 1 − 1
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x

µ
+
x[F (x) − Fe(x)]∫ x

0
F̄ (t)dt

:= U10(x) � 9 ª 8&9 �
D z�� L

U(x) ≥ 1 +
x

µ
+
x[F (x) − Fe(x)]∫ x

0
F̄ (t)dt

:= L12(x) � 9 ª 8 ± �
gjP
\

� { �(O ` kmN7@B` Ae\ krp�A�`qR�gjP AbP^OeXbkrpqR
F
N SIfQ\>[Zf�[ZfGW�P
@akmN�O^` kmN7@B` Ae\ krp�Ae_�Abf \ @�S��
Xnt^O AbP

[ZP7W�P
gji A7C @Ytekm[ uY`QW<C:kYP Ae\~gji � W�in� kYP AbP��a\xP fQgjfQv OQP5[ZXnts[�WYX�Aei
]j`qgjP^O�@BAbX � { �
DoP�� L �>A�`qOyP �^�QXnt
@qP [ZfGW�v~[^A7Cr@B`

U(x) ≥ 1 +
x

µ
+
x[µ−1

∫ x

0
F̄e(x)dt− Fe(x)]∫ x

0
Fe(t)dt

:= L13(x) � 9 ª 83L �

L ¯



D z�� L �>A�` �K]
v OeXnt
@qP5[ZfGW�v~[^A7Cr@B`

U(x) ≤ 1 +
x

µ
+
x[µ−1

∫ x

0
F̄e(x)dt− Fe(x)]∫ x

0
Fe(t)dt

:= U11(x) � 9 ª 8T= �

�m� ¢�{vr ���xyv{x¢�|~r ��¦ ¢�{Y{x¢�{x��¤¥�����xyv�gtvwz�s|�{Y����®}��yv{}|�{ t���� t����v��©}tv|����x¢ {}t�¦]|~r � � 9 ª 8 ¯ ����{vr
� 9 ª 838 � ��¬��¥¢g{}t�{vr |���©x¢W|��x¢g©}t�{x� ������®}t���r {x�­|�® ���x�­���vt��x��� µk

� � 5 � ¯ � ª ª ª ��{vr��[t���yv¤¥¢�wz�«yxt�������©x¢
¢�{��¥��{x��yv����|���©x¢W��{vr����¡t��¥�~r tv|�£z����r ��t���� ���[wz���}|~r ��®�¤¥¨ ���xyv��®}t���r ���syv¤¥���g|~r yv� ª
� � � ��� �����
�����
� � ����� � � �	� �����������! �������������� �	� 	����

��|��x¢mt�{x����©x��{��}t����¥¢�¦}|��}|�{ ��{ {x��¨ �~uv�~����©xyv� yv� |������xyxt��¥�~r ������® |¥wz¢�����{}��yv®}|¥wz¢m{x¢�{x¢��[wb|~r ���x�
���x¢�®x��|��x���x���}t�¦�|~r �­� ���x�­¬�©x�st������}t��x��¤¥����r � �

(i)
� {x¢�{x¢��[wb|~r ����t��}��¢�¦}|��}|�{

u(x)
¢�{���� ¢�{vr�yv�x¢�¦}|��x¢�� ª

(ii)
� ��{}|�{x¢���yv� |¥wz¢ ¨ ��¦x¢�wz¢Yyv�[|�{ ��©]¬~r {x¬��}¨�r ��£z¢ {x¢�{x¢��[£z���[wz¢ ¢�{ {x¢��}����rb����y�r { {}t�¦ |~r �
t�{x��{}��®}|¥w:yv� t�{x��{xyv�[|��~r ��¤¥����uv®x����r ����{}|�{x¢���yx£z¢
�

• DFR

• IMRL

� r Shaked
��{vr

Zhu � 5 K3Kv¯ ��{}t�¤¥¬���r ��{x¢ ¦}|~r$��®~��� ��{}|�{x¢���yv�]�Y�vt���� {]{x¢��}����r ��|��x¢l��r ���~��¤¥¢���r {
��{}|�{x¢���yx£z¢

DFR
��¤¥¨ ��r4��� � ¢����x��{l{x¢�{x¢��[wb|~r ���lt��}��¢�¦}|��}|�{ ª 6 ®x���l{x�}|��x�W|��x�Wt�{x��{}|��x���x���x�W��r

Politis
��{vr

Koutras � ¯}°x°v± � ¬~r {}|�©}tvwz��{x¢­|��x¢W� ���x��t���¦}|�{x�����

� A�9 'T����XD� �Y; �(O1tq[ZXZ]
N7@�Xntekmf&[�CrR
F ∈ DFR

HYAe_�Abf&AbX � W�in� kYP(D � { � � LnHKfQv OQP
\�[
\ XhP
gcWY\ zYNQRVP^[Z_
AbX�P^O^Aev @BAbXZ\ S&X5gji A7C � W�in� kYP

L2(x)
D � {��bL�A7CrO

Barlow
gjP
\

Proschan
D ����� � LnHI�^`nuqP
�^p \ @�S��
fQ\

�a\xP
NWUE

1 +
xF (x)∫ x

0
F̄ (t)dt

≥ x

µ

��|��x¢Wt��¥�~� tv|¥wz��� t����
F ∈ IMRL

����r
Politis

��{vr
Koutras � ¯}°x°v± ��{}t�¤¥¬���r ��{x¢g¦}|~r�r ��¨ ©x��r �

U(x) ≥
m∑

k=0

F ∗k − 1

µ

∫ x

0

F ∗m(t)dt � 9 ª 83M �

��� ���}� ���[���~r yv¤¥¢�� ����®}��yv{�¨ ���x��r yv�vt���r ��� |�{vr�wz�W��®}|¥w ����®}��yv{s|����l����®}uvyv{}|����­t�����t����v��©}tv|���r
{}t�¦ |��x¢ t�������¤[� ��r ��� |��x� {x¢�{x¢��[wb|~r ���x� ���x¢�®x��|��x���x� yv�Yt��¥�~r ���[������yv¤¥¢�� � truncating

�l����r ��®
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���x¢��[u�� ���[wz¢ ��¬��}uv{x¬����}t�®x��¨ ��r
m
��|�¤[|���r ��£z��|�� �

U(x) ≈
m∑

k=0

F ∗k(x)

�bt�r tvuv¤¥�x¢s�pr ¬~r ¦}|��}|�{p¦}|~r���®~���­��{}|�{x¢���yv�lt����l{x¢��}����r ��|��x¢
DFR

��r ���~��¤¥¢���r {p��{}|�¢���yx£z¢s��� ¢�{vr
����� uv����yv{x�¡�����~��®x��r���|��x¢W�}t��~uv�~��r ��yv¦p|�����t�{x��{}��®}|¥w:����®}��yv{}|���� �

U(x) ≥ 1 +
x

µF (x)
− xf(x)

F (x)
:= L14(x) � 9 ª 8 K �

� ��A$��'T�0ATX0��X
� � tvwz� ¤¥¨ ���xyv��{x¢�{x��¤¥����rv��r Shaked

��{vr
Zhu � 5 K3Kv¯ � �x{}t�¤¥¬���r ��{x¢Ktvwz� ��®~��� DFR

��{}|�{x¢���yv���v¤¥¨ ��r
��� � ¢����x��{ {x¢�{x¢��[wb|~r ��� t��}��¢�¦}|��}|�{��~�[t���yv¤¥¢�wz�b��|~r �bt��¥�~r tv|�£z����r �"t�������¢�wz�~� �����xyv�"¦}|~r�� ��{}|�{x¢���yv�
|¥wz¢�¨ ��¦x¢�wz¢�t�����yv�[uv�[|�®xyv� ¤¥¨ ��r���� � ¢����x��{m��{~��y�� ¬�{ {}t��}|��x¨�� {x���~yxt�������©xyv�"¢�{�¨ ���x��r yv�vt���r �x�����xyv�
|�{�����®}��yv{}|�{ t����s���~� ��{xyv����|��x¢­t�{x��®}����{x���l{x�}|�� ª
��|�� ���x¢�¤¥¨ ��r {Yt�{x�����x��r ® �����xyv�s¦~uv{]|�{]����®}��yv{}|�{Yt���� {x¢�{x��¤¥�����}��{x¢p��|�� ���¥��®}uv{vr � {x�}|�¦

���x¢��vtv|~r ��® ���«¤ �~r t�� ¢�{}���¥� ª ' t��¥¢����xy�� �����xyv�g¦}|~r4yv� � ���xy~���~u�� �����xyv�W|��x¢ ��{}|��}�����~� {p|¥wz¢�����{}� �
yv®}|¥wz¢ t����]��r { |��x¢ �}t��~uv�~��r ��yv¦ |����x�p{}t�{vr |���©x¢ |��]��¢�£z���Y|��x��t���£b|��x�l��{vr"¬��¥©}|��¥���x�l���vt��x�
��©x��w {}t�¦ |�� yv�x¬�¤¥¢ ��yv� � � |�{W����®}��yv{}|�{«�[����� ¢�{«t���� r ��¨ ©x���x¢­��|��x¢¡t��¥�~� tv|¥wz���«t����W��¢�wz�~� �����xyv�
|��x¢W{~������r ��|~r ���s���x¢�®x��|��x���g��{}|�{x¢���yx£z¢

F
t����s{}���~uv���~�������l¨ ��¦x¢����«yv�[|�{ ��©�¬~r {x¬��}¨�r ��£z¢�{x¢�{ �

¢��[£z���[wz¢ ª ��{vr$|�¤[uv����yv� � � � ���xy~���~u�� �����xyv�g|�{ ����®}��yv{}|�{ �[����� ¢�{ t����Y¨ ���x��r yv�vt���r ��©x¢�|�{vr ��|��x¢
t��¥�~� tv|¥wz��� t����s¤¥¨ ���xyv��� ��{x����{}u�� ����r |���yv�x¢��}|��x¢~� {�|��x�­{x¢�{x¢��[wb|~r ���x��t��}��¢�¦}|��}|�{x� ª
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U1(x) = x
µ

+ µ2

µ2 U4(x) = x
µ

+ µ2F (x)
µ2 + F̄e(x) U9(x) = 1 + xF (x)∫ x

0 F̄ (x)

U5(x) = x
µ

+ rF (x)
µ

+ F̄e(x) U10(x) = 1 + x
µ

+ x[F (x)−Fe(x)]∫ x
0

F̄ (t)dt

U11(x) = 1 + x
µ

+
x[µ−1

∫ x
0

F̄e(x)dt−Fe(x)]∫ x
0

Fe(t)dt

 �� ¢�{}��{x� 9 ª25 �

� � � �

��� �
	 �
�

��� � ���������
� ��� �����

L1(x) = x
µ

L4(x) = x
µ
− Fe(x) + 1 L11(x) = 1 + xF (x)∫ x

0 F̄ (x)

L5(x) =
∫ x

0
F̄e(x− t)dF (t) + x

µ
+ Fe(x) L12(x) = 1 + x

µ
+ x[F (x)−Fe(x)]∫ x

0 F̄ (t)dt

L6(x) = x
µFe(t)

L13(x) = 1 + x
µ

+
x[µ−1

∫ x
0 F̄e(x)dt−Fe(x)]∫ x
0 Fe(t)dt

L7(x) = x
µ

+ rF (x)
µ

+ F̄e(x)

 �� ¢�{}��{x� 9 ª ¯ �
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 �
��� � � ��� � ���

� ��� �����

U2(x) = x
µ

+ 1

(NBUE)

U6(x) = x
µ
− Fe(x) + F (x) + 1

(NBUE)
 �� ¢�{}��{x� 9 ª 8 �

� � � � ��� � ���������
� 	 � � ��������� �
	 ��
 ��� 
 �
��� � � ��� � ���

� ��� �����

L3(x) = x
µ

+ µ2−µ2

µ2

(IFR)

L9(x) = x
µ

+ σ2F (x)
µ2 + F̄e(x)

(IFR)
 �� ¢�{}��{x� 9 ª 9 �

� ����� ��� � ���������
� 	 � � 
�� ������� �

	 ��
 ��� 
 �
��� � � ��� � ���

� ��� �����

U3(x) = x
µ

+ µ2

2µ2

(IMRL)

U8(x) = µ2

2µ2F (x) + x
µ

+ F̄e(x)

(IMRL)

U7(x) = x
µ

+ Fe(x)
F̄ (x)

(IMRL)
 �� ¢�{}��{x� 9 ª ± �
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��� � � ��� � ���

� ��� �����

L2(x) = x
µ

+ 1

(NWUE)

L8(x) = x
µ
− Fe(x) + F (x) + 1

(NWUE)

L14(x) = 1 + x
µF (x)

− xf(x)
F (x)

(DFR)

L10(x) = µ2

2µ2F
(2)
e (x) + x

µ
+ F̄e(x)

(IMRL)
 �� ¢�{}��{x� 9 ª L �

LT=
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��|��x¢�t�{x��®}����{x���¡{x�}|�� ��{�yv�[uv�[|��x�����xyv� |�{ ���x�~r ¦}|��¥��{K����®}��yv{}|�{ |��x�b{x¢�{x¢��[wb|~r ���x�z���x¢�®x��|��x���x�
¦}|�{x¢��p��{}|�{x¢���yv� |¥wz¢��¥¢�¬~r ®xyv�¥��wz¢�¨ ��¦x¢�wz¢lyv�[|�{ ��©p|¥wz¢�{x¢�{x¢��[£z���[wz¢�{}���~uv���~�����$y�r { {}t�¦Y|~r �
t�{x��{}��®}|¥w ��{}|�{x¢���yv¤¥� �

5xª Gamma(3,2) (IFR)

¯ ª Pareto(4,3) (DFR)

� �V��A$S�F���� �
� �z��|¥w ¦}|~r�� �x��r ��|�®xyv�¥¢��W��{}|�{x¢���yv� |���� ¨ ��¦x¢�����yv�[|�{ ��©g|¥wz¢«{x¢�{x¢��[£z���[wz¢«{}���~uv���~����� |��x¢

IFR
��{}|�{x¢���yv�

Gamma(3,2) ª ��¦}|��­r ��¨ ©x���x¢W|�{�� ���x� �

5xª f(x) = 9xe−3x

¯ ª F (x) = 1 − (1 + 3x)e−3x

8�ª E(X) = µ = 2
3

9 ª V ar(X) = 2
9

± ª � {x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x��� U(x)
t���� {x¢�|~r ��|���r ¨ ���m��|��x¢

F
¬~� ¢��[|�{vrz{}t�¦ |��x¢ t�{x��{}��®}|¥w

��¨ ¤¥��� �
U(x) = 1

4
(3 + e−6x + 6x) � ��uv¤[t��� ¡{x��®x��|��xyv{�q �

��¦}|��pyxt�������©xyv�p¢�{ �}t��~uv�~��� �����xyv�p|�{ t�{x��{}��®}|¥w ����®}��yv{}|�{ |¥wz¢Y�vt���� wz¢ � ���¥¢~r ��¦��Y���~r ��yv¦��
¤¥¨ ��r�¬��x��������|~r ��t����~���x��©xyv�¥¢��¥�«�¥¢�¦}|��}|��¥� ª

5xª �$�¥¢~r ��®���®}|¥w=����®}��yv{}|�{ ª
� {	� � L1(x) = x

µ
= 3x

2

� �
� � L4(x) = x
µ

+ 1 − Fe(x) = 1
2
e−3x(2 + 3x(1 + e3x))

� ��� � L6(x) = x
µFe(x)

= 3xe3x

2e3x−3x−2

¯ ª �$�¥¢~r ��®s®x¢�w:����®}��yv{}|�{ ª
� {	� � U1(x) = x

µ
+ µ2

µ2 = 3(1+x)
2

��¦vt����
µ2 = E(X2)

� �
� � U4(x) = x
µ

+ µ2F (x)
µ2 + Fe(x) = 1

2
e−3x(3e3x(1 + x) − 6x− 1)

L3M



8�ª ������© F ∈ NBUE
��¤¥¨ ���xyv��|�{�� ���x�­®x¢�w:����®}��yv{}|�{ ª

� {	� � U2(x) = x
µ

+ 1 = 1 + 3x
2

� �
� � U6(x) = x
µ

+ F (x) + Fe(x) = 1 +
(

3
2
− 3e−3x

2

)
x

9 ª �������[���x¢�¦���¦}|~r F ∈ IFR
�xyv{x�m¬~� ¢���r�|��¡¬��x¢�{}|�¦}|��}|�{K¢�{¡¨ ���x��r yv�vt���r �x�����xyv�b|�{Kt�{x��{}��®}|¥w

��®}|¥w=����®}��yv{}|�{g��r {�|��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x��� �

� {	� � L3(x) = x
µ

+ V ar(X)
µ2 = 1

2
(1 + 3x)

� �
� � L9(x) = x
µ

+ V ar(X)F (x)
µ2 + Fe(x) = 1

2
(1 + 3x + e−3x)

± ª � r { |�� ���}� ���[���~r yv¤¥¢�����{}|�{x¢���yv��¨ ��¦x¢�wz¢�{x¢muv®������xyv� �}t�¦ ��r ¢�yv{x�"|�� yv�x¢��}|��x¢~� { � {x© �����x��{ �
|��x�s{x¢�{x¢��[wb|~r ���x��t��}��¢�¦}|��}|�{x� � u(t) = 1

4
(6 − 6e−6t

� � |�¦}|���yxt�������©xyv�s¢�{ ¨ ���x��r yv�vt���r � �
�����xyv�¡��{vr�|�{�� ���x�­����®}��yv{}|�{ �

� {	� � U10(x) = 1 + x(F (x)−Fe(x))∫ x
0 Fe(x)dx

= e3x(2+3x)−9x2−6x−2
2e3x−3x−2

� �
� � L13(x) = 1 + x
µ

+
x(µ−1

∫ x
0 Fe(t)dt−Fe)∫ x

0
Fe(t)dt

= 1+3x+3x2+e3x(3x2−1)
1+x+e3x(2x−1)

������¨ �xyv{ 9 ª25 ��{vr �s �� ¢�{}��{x� 9 ª�= yv{x�Kt�{x�����x��r ® �����x¢­|��x¢­���xyxt��¥�~r ������®g|¥wz¢����¥¢~r ��£z¢«��®}|¥w
����{}��yv®}|¥wz¢

L1

�
L4

��{vr
L6 ª �m� ¢�{vrz��{x¢��¥��¦ tvwz�p|�� L6

¤¥¨ ��rz|��x¢ ��{}uv©}|��¥��� ���xyxt��¥�~r ������® ���
��¨ ¤¥���pyv�«|�{ ®}uxuv{l¬�©x� ª ��� L4

t�{x��{xyv¤¥¢���r���{}uv©}|��¥���Y{}t�¦ |��
L1

��r {p|~r yv¤¥�g|����
x
y�r ����¦}|��¥���¥�

|���� 9 ª 9 �¥¢�£h��r {Yyv�[��{}uv©}|��¥���¥��|�{ ¬�©x� ����®}��yv{}|�{ |�{x�}|~� ���x¢�|�{vr � yv��{}���~� ����r { t�¤¥¢�|���¬��[��{x¬~r ��£z¢
���x��� wz¢�� ª ���s� ¬~r �����xy~��{v� ¢���rv��{vr���r {«|�� L6

��¦vt����W¦}|�{x¢�� ¨ ��¦x¢���� ���[t��¥��®x����r�|�� ¨ ���x¢~r ��¦s���xyv��� �
± ª ± ��r�|~r yv¤¥��t����syv{x��¬~� ¢���r���� ¢�{vr�� ¬~r �¥�«yv��{x�}|�¤¥��|¥wz¢ L1

��{vr
L4 ª��|�� � ¨ �xyv{ 9 ª ¯Y��{vr"|��x¢] �� ¢�{}��{ 9 ª M t�{x��{}|��x����©xyv�s|��x¢ |���¦vt�� uv��r |����x����� {x�p|¥wz¢ ���¥¢~r ��£z¢

®x¢�w ����{}��yv®}|¥wz¢
U1

��{vr
U4 ª � � |�{x¢s��r4|~r yv¤¥� |���� x ��� ¢�{vr4y�r ����¦}|��¥���¥� |���� 9 ª Kpt�r �Y���x¢�|�® ��|��x¢{x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x���p���~� �����[|�{vr |�� ����®}��yv{

U4

�z�¥¢�£-¦}|�{x¢ |��
x
���[t��¥��®x����r |�� 9 ª KY|�{ ¬�©x�
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x U(x) L1(x) L4(x) L5(x)° 5 ° 5 �
° ª25 5xª ° 8T= ¯ ° ª25 ± 5xª °x° 5 K 9 5xª ° 5 8$535° ª ¯ 5xª25 ¯x± 8 ° ª 8 5xª ° 5 8&9TL 5xª ° 9TL K L° ª 8 5xª ¯ 9�5 8 ¯ ° ª 9 ± 5xª ° 8 Kv± 8 5xª °3K L ¯&K° ª 9 5xª 8T= ¯ L3M ° ª L 5xª ° M$5 K 5 5xª25 ± M$5° ª ± 5xª ± 5 ¯ 9 ± ° ª�= ± 5xª25:9 ° 9TM 5xª ¯ 8 ° 9]=
5 ¯ ª ¯x±}° L ¯ 5xª ± 5xª L ¯ 939]= 5xª�= 5 8 ¯ 9¯ 8�ª�= ± 8 8�ª °x°3K3Kv¯ 8�ª ° 8 °x° 9
8 ± ª ¯x± 9 ª ± 9 ª ±}°x° L3M 9 ª ±}° 8 ° L
9 L�ª�= ± L L�ª °x°x°x° 9 L�ª °x°x°v¯ L
9 ª 8 =�ª ¯ L�ª 9 ± L�ª 9 ±}°x°v¯ L�ª 9 ±}° 5 ¯
9 ª 9 =�ª 8 ± L�ª L L�ª L °x°x° 5 L�ª L °x°x°3K
9 ª M =�ª Kv± =�ª ¯ =�ª ¯ =�ª ¯}°x°x° 8± M�ª ¯x± =�ª ± =�ª ± =�ª ±}°x°x°v¯± ª 9 M�ª M ± M�ª25 M�ª25 M�ª25 °x°x° 5± ª ± K M�ª ¯x± M�ª ¯x± M�ª ¯x±}°x° 5± ª L K ª25 ± M�ª 9 M�ª 9 M�ª 9
L K ª�= ± K K K

 �� ¢�{}��{x� 9 ª�= �

= ¯



x U(x) U1(x) U4(x)° 5 5xª ± 5° ª25 5xª ° 8T= ¯ 5xª L ± 5xª °v± =&8 ±° ª ¯ 5xª25 ¯x± 8 5xª M 5xª25 K L38$5° ª 8 5xª ¯ 9�5 8 ¯ 5xª Kv± 5xª 83M ° M° ª 9 5xª 8T= ¯ L3M ¯ ª25 5xª ± MT= K =° ª ± 5xª ± 5 ¯ 9 ± ¯ ª ¯x± 5xª M ° 8T= 9
5 ¯ ª ¯x±}° L ¯ 8 ¯ ª M ¯x± = ±¯ 8�ª�= ± 9 ª ± 9 ª 9TM383M K
8 ± ª ¯x± L ± ª K3K M3M38
8�ª�= L�ª 8 =�ª °v± =�ª ° 9 K M ¯
9 L�ª�= ± =�ª ± =�ª 9 K3K3Kv¯
9 ª M =�ª Kv± M�ª�= M�ª L K3K3K3K
9 ª K M�ª25 M�ª M ± M�ª M&9 K3K3K± M�ª ¯x± K K
L K ª�= ± 5 ° ª ± 5 ° ª ±
= 535xª ¯x± 5 ¯ 5 ¯

 �� ¢�{}��{x� 9 ª M �

x U(x) L3(x) L9(x) L13(x)° 5 ° ª ± 5 �
° ª25 5xª ° 8T= ¯ ° ª L ± 5xª °v¯}° 9�5 5xª °v¯ L °v±° ª ¯ 5xª25 ¯x± 8 ° ª M 5xª ° = 939�5 5xª °3K 5 M3M° ª 8 5xª ¯ 9�5 8 ¯ ° ª Kv± 5xª25 ± 8 ¯ M 5xª25 M&9 ±° ª 9 5xª 8T= ¯ L3M 5xª25 5xª ¯x±}° L 5xª ¯&Kv± L$5° ª ± 5xª ± 5 ¯ 9 ± 5xª ¯x± 5xª 83L$5 ± = 5xª 9�5 K = ¯
5 ¯ ª ¯x±}° L ¯ ¯ ¯ ª °v¯ 9TM K ¯ ª25 8 ± M&9¯ 8�ª�= ± 8�ª ± 8�ª ±}° 5 ¯ 9 8�ª LT=&8 ¯ L
8 ± ª ¯x± ± ± ª °x°x°x° L ± ª ¯}°x° 9
8�ª�= L�ª 8 L�ª °v± L�ª °v±}°x° 5 L�ª ¯ L °3K3K
8�ª M L�ª 9 ± L�ª ¯ L�ª ¯}°x°x° 5 L�ª 9�5 ¯ 5 L
8�ª K L�ª L L�ª 8 ± L�ª 8 ± L�ª ± L38 ¯ =
9 L�ª�= ± L�ª ± L�ª ± L�ª�= 5:9T8$5± M�ª ¯x± M M M�ª ¯x¯x¯x¯x¯
= 535xª ¯x± 535 535 535xª ¯ 8 ° M

 �� ¢�{}��{x� 9 ª K �
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x U(x) U2(x) U6(x) U10(x)° 5 5 5 �
° ª25 5xª ° 8T= ¯ 5xª25 ± 5xª ° 83M3M3M 5xª ° 8T= 9 ¯° ª ¯ 5xª25 ¯x± 8 5xª 8 5xª25 8 ± 83L 5xª25 ¯ =&L38° ª 8 5xª ¯ 9�5 8 ¯ 5xª 9 ± 5xª ¯ LT= ° 9 5xª ¯ 9 K 9T8° ª 9 5xª 8T= ¯ L3M 5xª L 5xª 9�5 Kv¯ M 5xª 8 Kx° = 5° ª ± 5xª ± 5 ¯ 9 ± 5xª�= ± 5xª ± M ¯ L ± 5xª ± 939 ° M
5 ¯ ª ¯x±}° L ¯ ¯ ª ± ¯ ª 9 ¯x± 8 ¯ ¯ ª 8T= ¯}°v±¯ 8�ª�= ± 9 8�ª K3Kv¯x± L 8�ª K =3= 9]=
8 ± ª ¯x± ± ª ± ± ª 9 K3K 939 ± ª 9 K = ±
9 L�ª�= ± = L�ª K3K3K3K L L�ª K3K3K =&M
9 ª ± =�ª ± =�ª�= ± =�ª�= 9 K3K3K =�ª�= 9 K3K 9
9 ª L =�ª L ± =�ª K =�ª M K3K3K3K =�ª M K3K3Kv±
9 ª�= =�ª M M�ª °v± M�ª ° 9 K3K3K M�ª ° 9 K3K L
9 ª M =�ª Kv± M�ª ¯ M�ª ¯ M�ª25 K3K3K =
9 ª K M�ª25 M�ª 8 ± M�ª 8 ± M�ª 8&9 K3K M± M�ª ¯x± M�ª ± M�ª ± M�ª 9 K3K3K M± ª 9 M�ª M ± K ª25 K ª25 K ª °3K3K3K3K± ª ± K K ª ¯x± K ª ¯x± K ª ¯x±
= 535xª ¯x± 535xª ± 535xª ± 535xª ±

 �� ¢�{}��{x� 9 ª25 ° �

= 9
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5xª f(x) = 324
(2+x)4

¯ ª F (x) = 1 − 81
(3+x)5

8�ª E(X) = µ = 1

9 ª V ar(X) = 2
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5xª �$�¥¢~r ��®s®x¢�w:����®}��yv{}|�{ ª

� {	� � L1(x) = x
µ

= x

� �
� � L4(x) = x
µ

+ 1 − Fe(x) = x + 27
(x+3)3

� ��� � L6(x) = x
µFe(x)

= x
1− 27

(x+3)3

¯ ª �$�¥¢~r ��®���®}|¥w=����®}��yv{}|�{ ª

� {	� � U1(x) = x
µ

+ µ2

µ2 = x + 3
��¦vt����

µ2 = E(X2)

� �
� � U4(x) = x
µ

+ µ2F (x)
µ2 + Fe(x) = 3 + x− 243

(3+x)4
+ 27

(3+x)4
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� {	� � L2(x) = x
µ

+ 1 = x + 1

� �
� � L8(x) = x
µ

+ F (x) + Fe(x) = 1 + x− 81
(3+x)3

+ 27
(3+x)3

� ��� � L10(x) = x
µ

+ F̄ (x) + µ2F
(2)
e (x)

2µ2 = 3
2

+ x + 27
(3+x)3− 27

2(3+x)2

� ¬ � � L14(x) = 1 + x
E(X)F (x)

− xf(x)
F (x)

= 1 + x− 12
3+x

+ 12
2(6+x)

+ 3(24+x)
2(18+x(6+x))

9 ª ������© F ∈ IMRL
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� {	� � U3(x) = x
µ

+ µ2

µ2 = 3
2

+ x

� �
� � U7(x) = x
µ

+ Fe(x)

F (x)
= 1 + 4x

3

� ��� � U8(x) = x
µ

+ µ2F (x)
2µ2 + Fe(x) = 3

2
+ x− 243

2(3+x)4
+ 27

(3+x)3
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� {	� � L12(x) = 1 + x(F (x)−Fe(x))∫ x
0

Fe(x)dx
= e3x(2+3x)−9x2−6x−2

2e3x−3x−2

� �
� � U11(x) = 1 + x
µ

+
x(µ−1

∫ x
0 Fe(t)dt−Fe)∫ x

0
Fe(t)dt

= 1+3x+3x2+e3x(3x2−1)
1+x+e3x(2x−1)

��|�� � ¨ �xyv{ 9 ª ± ��{vr�|��x¢  �� ¢�{}��{ 9 ª2535 ��t�{x�����x��r ® ���x¢�|�{vr�|�{s���¥¢~r ��®���®}|¥w ����®}��yv{}|�{ L1

�
L4��{vr

L6 ª  ¡{x��{}|��x����©xyv�ptvwz�Y|�� L6

��r { |~r yv¤¥� |����
x
y�r ����¦}|��¥���¥�Y|���� ¯x¯ = ��� ¢�{vr�yv�[��{}uv©}|��¥���

{}t�¦p|�{l®}uxuv{�¬�©x� ����®}��yv{}|�{��¥¢�£ ¦}|�{x¢g|��
x
���[t��¥��®x����r�|�� ¯x¯ = |�{x�}|~� ���[|�{vr � yv�­{}���~� ����r {lt�¤¥¢�|��

¬��[��{x¬~r ��£z¢ ���x��� wz¢��¡yv�W|�{
L1

��{vr
L4 ª � � yv��r {l|�� L4

¤¥¨ ��r ��{}uv©}|��¥���p���xyxt��¥�~r ������®p{}t�¦ |��
L1¦}|�{x¢�� ¨ ��¦x¢����Wt��¥�~r ���~� ���[|�{vr4���­|~r yv¤¥�Wy�r ����¦}|��¥���¥�g|���� =&M �¥¢�£ ��r {lyv�[��{}uv©}|��¥���¥�«|�{x�}|~� ���[|�{vr�yv�

|��
L1 ª
���p��¨ �xyv{ 9 ª L ��{vr��l �� ¢�{}��{x� 9 ª25 ¯ yv{x��t��¥�~r ����®x�����x¢g|��x¢W|���¦vt���uv��r |����x����� {x�­|¥wz¢W���¥¢~r ��£z¢

��®}|¥w ����{}��yv®}|¥wz¢
U1

��{vr
U4 ª ��� U4

�}t��¥��|��¥����� ¤¥¢�{x¢�|~r$|����
U1

����{}���~� ����r {Y¦}|�{x¢l|��
x
��� ¢�{vr

y�r ����¦}|��¥���l|���� = ± ���¥¢�£ ��r {syv�[��{}uv©}|��¥���¥��|~r yv¤¥��|���� x |�{s¬�©x������®}��yv{}|�{���� ¢�{vr�� ��{ ª
� � tvwz��{x¢�{x��¤¥��{xyv��|��W���[���x¢�¦��¡¦}|~r�����{}|�{x¢���yv� Pareto(4,3)

¤¥¨ ��r���� � ¢����x��{¡��{~��y�� ¬�{­{}t��}|�� �
¨�� {x�­yv{x��¬~� ¢���r |���¬��x¢�{}|�¦}|��}|�{ ¢�{�¨ ���x��r yv�vt���r �x�����xyv��wz����®}|¥w=����®}��yv{}|�{g��r { |��x¢W{x¢�{x¢��[wb|~r ���
���x¢�®x��|��x���W|�{

L2

�
L8

��{vr
L10 ª ��|��x¢W �� ¢�{}��{ 9 ª25 8 ��{vr�|��l� ¨ �xyv{ 9 ª�= ��{v� ¢��[|�{vr������xyxt��¥�~r ������®|¥wz¢l����{}��yv®}|¥wz¢l{x�}|�£z¢s��{vr$�[t�r tvuv¤¥�x¢l|�{ ���}� ���~� ¢����xyv� yv�g|��

L12

� |��]�vt���� � ¤¥¨ ��r ��{x¢ ��{x��r ���
���x¢����}��� ��r { |��s¨ ���x���g|��������s{x¢�{x¢��[wb|~r ��� t��}��¢�¦}|��}|�{s¢�{���� ¢�{vr���� � ¢����x��{ ª  ¡{x��{}|��x����©xyv�¡tvwz�
��r {�|~r yv¤¥�­|����

x
y�r ����¦}|��¥���¥�«|���� 8 |��pyv�[��{}uv©}|��¥���l��®}|¥w ����®}��yv{���� ¢�{vr�|�� L12

��{vr�|�� ¬��¥©}|��¥���
��{}uv©}|��¥������� ¢�{vr�|��

L8 ª � � |�{x¢�|�� x ���[t��¥��®x����r�|��«|~r yv� 8 �«��{}|�®x��|�{x���W{}uxuv® ����r���{vr�|�� L10

��� ¢�{vr
t�r �p���x¢�|�®���|��x¢g{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x����������¨ ¤¥���syv��|�{��}t�¦~uv��r t�{ ª ��¤[uv���W��� ¢�{vr���{x¢��¥��¦�tvwz�
yv�[|�®­{}t�¦W��®}t���r � ¨ ���x¢~r ��¦����xyv��� � � ∼= 99

� |�{­����®}��yv{}|�{
L2

�
L8

�
L12

��{vr
L14

{}t��v��|���©x¢�|~r �K� ¬~r �¥�
|~r yv¤¥�­yv��{}���~� ����r {�t�¤¥¢�|���¬��[��{x¬~r ��£z¢ ���x��� wz¢ ª

=&L



���­� ¨ �xyv{ 9 ª M ��{vr��� �� ¢�{}��{x� 9 ª25:9 yv{x�bt�{x�����x��r ® �����x¢�|������xyxt��¥�~r ������® |¥wz¢ ®x¢�wY����{}��yv®}|¥wz¢
U3

�
U7

��{vr
U8 ª ��{�����®}��yv{}|�{s{x�}|�®s¨ ���x��r yv�vt���r ��©x¢�|�{vr ¦}|�{x¢g��¢�wz�~� �����xyv�«¦}|~r��s��{}|�{x¢���yv��yv{x�{x¢��}����r ��|��x¢

IMRL
��r ���~��¤¥¢���r { ��{}|�{x¢���yx£z¢ ª �bt�r tvuv¤¥�x¢ ��� ¢��[|�{vr ��{vr �]��©}� ���~r ��� |����x��yv��|��

U11

��|����vt���� �l{}t�{vr |������ {x¢�{x¢��[wb|~r ���gt��}��¢�¦}|��}|�{ ¢�{ ��� ¢�{vr ��� � ¢����x��{ ª �m� ¢�{vr���{x¢��¥��¦�tvwz��|�� U11��r {­|~r yv¤¥� |����
x
y�r ����¦}|��¥���¥� |���� = ���~� �����[|�{vrvt�r �g���x¢�|�®­��|��x¢¡{x¢�{x¢��[wb|~r ���­���x¢�®x��|��x������� ��¨ ¤¥���

yv�¡|�{ ®}uxuv{ ����®}��yv{}|�{ ª �bt�r tvuv¤¥�x¢W|�� U8

��r { |��l¨ ���x¢~r ��¦l¬~r ®x��|��xyv{ � °�� ¯ ����� ¢�{vr t�r �l{}���~r ����{}t�¦
|�{
U3

��{vr
U7

���¥¢�£ ¦}|�{x¢K|��
x
���[t��¥��®x����rx|��x¢�|~r yv�«¯�����{}|�®x��|�{x����{}uxuv® ����rx��{vrx|��

U3

��� ¢��[|�{vrvt�r �
y�r ����¦W{}t�¦«|�{

U7

��{vr
U8 ª � r {�|~r yv¤¥��|���� x yv�[��{}uv©}|��¥���¥�m|���� = �v|��­��®}|¥w ����®}��yv{ U3

¤¥¨ ��r}|��x¢�t�r �
{}���~r ���W���xyxt��¥�~r ������®«��� ��¨ ¤¥���«yv� |�{«�}t�¦~uv��r t�{gyv¤¥¨ �~r�� ¨ ��¦x¢����¡¢�{«��|�®x����rv|�� ���xyv��� �

x = 300
�

¦vt���� t���{}��|~r ��®Y|�{x�}|~� ���[|�{vr$yv�g|�{
U8

��{vr
U11 ª ��� U7

��r {Yyv�[��®}uv�¥��|~r yv¤¥� |����
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� ¨ �xyv{ 9 ª ± � �$��{x��r ��� t�{x��®x��|�{x��� |¥wz¢
L1(x) � • � � L4(x) � • � � L6(x) � • �]��r { |�� ��{}|�{x¢���yv�

Pareto(4,3)
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� ¨ �xyv{ 9 ª L ���$��{x��r ����t�{x��®x��|�{x���W|¥wz¢ U1(x) � • � � U4(x) � • ����r {�|�� ��{}|�{x¢���yv� Pareto(4,3)
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� ¨ �xyv{ 9 ª�= � �$��{x��r ��� t�{x��®x��|�{x���W|¥wz¢ L8(x) � • � � L2(x) � • � � L10(x) � • � � L12(x) � • � � L14(x) � • ���r {�|�� ��{}|�{x¢���yv�
Pareto(4,3)
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4

� ¨ �xyv{ 9 ª M � �$��{x��r ���Wt�{x��®x��|�{x���­|¥wz¢ U3(x) � • � � U7(x) � • � �U8(x) � • � � U11(x) � • �b��r {W|��«��{}|�{ �¢���yv�
Pareto(4,3)

x L1(x) L4(x) L6(x)° ° 5 �
° ª25 ° ª25 5xª °x° L38$5 5xª ° LT= 9° ª ¯ ° ª ¯ 5xª °v¯ 8 K = 5xª25 83L ¯° ª 8 ° ª 8 5xª °v± 5 8$5 5xª ¯}° L38&9° ª 9 ° ª 9 5xª ° M3L Kv± 5xª ¯ =3=3=&L° ª ± ° ª ± 5xª25 ¯&K = 9 5xª 8 ±}° 8 K
5 5 5xª 9 ¯ 5 M3M 5xª�= ¯&K =&8¯ ¯ ¯ ª ¯ 5 L ¯ ª ±x± 5 °v¯
8 8 8�ª25 ¯x± 8�ª 9 ¯ M ± =
9 9 9 ª ° =&MT= ¯ 9 ª 8&9�5.=3=± ± ± ª °v±x¯ =&8 ± ª ¯ =&M38 ±
= = =�ª °v¯ = =�ª25 K 9 ¯ 9
5 ° 5 ° 5 ° ª ° 5 ¯ 8 5 ° ª25 ¯ 939¯}° ¯}° ¯}° ª °x°v¯x¯ ¯}° ª ° 939 ±
9 ° 9 ° 9 ° ª °x°x° 8 9 ° ª ° 5 83L±}° ±}° ±}° ª °x°x°v¯ ±}° ª °x°3K 5
=&M =&M =&M�ª °x°x° 5 =&M�ª °x° 9
= K = K = K = K ª °x° 8 K
M ° M ° M ° M ° ª °x° 83M
5 °x° 5 °x° 5 °x° 5 °x° ª °x°v¯¯}°x° ¯}°x° ¯}°x° ¯}°x° ª °x° 5¯x¯ = ¯x¯ = ¯x¯ = ¯x¯ =�ª °x° 5¯x¯ M ¯x¯ M ¯x¯ M ¯x¯ M

 �� ¢�{}��{x� 9 ª2535 �

= K



x U1(x) U4(x)° 8 5° ª25 8�ª25 5xª 8T= ±}° M° ª ¯ 8�ª ¯ 5xª�= ° L ±x±° ª 8 8�ª 8 ¯ ª °x°v¯x¯ =° ª 9 8�ª 9 ¯ ª ¯ L3M ±x±° ª ± 8�ª ± ¯ ª ± 5 ° 9�5
5 9 8�ª 9]= ¯ L3L¯ ª ± ± ª ± ± ª 8 K LT=&8
8 L ± ª K 8T= ±
9 = L�ª K =3= ± 5± M =�ª K3K 8&9�5
= 5 ° 5 ° ª °x°v¯ =
5 ° 5 8 5 8�ª °x° 83M¯}° ¯ 8 ¯ 8�ª °x° 5:9
8 ° 838 838�ª °x°x°v±
9 ° 9T8 9T8�ª °x°x° 8±}° ± 8 ± 8�ª °x°x°v¯
L ° L38 L38�ª °x°x° 5
= ± =&M =&M�ª °x°x° 5
=&L = K = K
=3= M ° M °
 �� ¢�{}��{x� 9 ª25 ¯ �

x L8(x) L2(x) L10(x) L12(x) L14(x)° 5 5 5 � �
° ª25 5xª25 ¯&Kv¯ 9 5xª25 5xª25 ° 5 ± 8 5xª25 8$5 ¯ 5 ° ª M Kv¯ M&9TM° ª ¯ 5xª ¯x± 5 ± 5xª ¯ 5xª ¯}°v± L ¯ 5xª ¯x± M ± 5 5xª ° 8 °v¯ 9° ª 8 5xª 83L3M38 5xª 8 5xª 8$535 L ± 5xª 83M ¯ 8 K 5xª25 L ¯ M3M° ª 9 5xª 9TM ° M ¯ 5xª 9 5xª 9�5 K 5 8 5xª ±}° 8 ¯ = 5xª ¯&K 5 8T=° ª ± 5xª ± M K3K L 5xª ± 5xª ±x¯ =3= 5xª L ¯ 5:9TM 5xª 9�5 L ¯x¯
5 ¯ ª25 °v± 9]= ¯ ¯ ª ° =&M$5 8 ¯ ª25 M ¯ 9T8 ¯
8 9 ª ° L ¯x± 9 9 ª ¯x± 9 ª ¯ 5:9 ¯&K 9 ª ° L3L3LT=
9 ± ª ° 939 K M ± ± ª 8 ° 8 ¯ 5 ± ª25 Kv± 8 ± ª °v±&K M ±± L�ª ° 8 ¯&K L L L�ª 8&9�5 M L�ª25.=&8 K = L�ª °v±}° 939
= M�ª ° 5 M K M M�ª 8 Kv¯ M�ª25 8 ±&K = M�ª ° 8&9T8
5 ° 535xª °x°3Kv± 535 535xª 9T8 ¯ 9 535xª °3Kv± = 535 ° 5 K =¯}° ¯ 5xª °x° 5 K ¯ 5 ¯ 5xª 9]=&LT= ¯ 5xª ° 83MT= ¯ 5xª °x° 9TM±}° ± 5xª °x°x°v¯ ± 5 ± 5xª 9 Kv± 9 ± 5xª °x° M3L ± 5xª °x°x°v±
= ° = 5xª °x°x° 5 = 5 = 5xª 9 K = ± = 5xª °x° 9]= = 5xª °x°x°v¯
=&L =3=�ª °x°x° 5 =3= =3=�ª 9 K = K =3=�ª °x° 9 =3=�ª °x°x°v¯
=3= =&M�ª °x°x° 5 =&M =&M�ª 9 K = K =&M�ª °x° 8 K =&M�ª °x°x° 5
=&M = K = K = K ª 9 K M = K ª °x° 83M = K ª °x°x° 5
5 °x° 5 ° 5 5 ° 5 5 ° 5xª 9 K3K 5 ° 5xª °x°v¯ 5 ° 5

 �� ¢�{}��{x� 9 ª25 8 �

M °



x U3(x) U7(x) U8(x) U11(x)° 5xª ± 5 5 �
° ª25 5xª L 5xª25 8383838 5xª25 Kx° = 5xª25 8$5 K 5° ª ¯ 5xª�= 5xª ¯ L3L3LT= 5xª 83L ±x¯ L 5xª ¯ L$535.=° ª 8 5xª M 5xª 9 5xª ±x¯ LT= K 5xª 83M3M ° =° ª 9 5xª K 5xª ± 8383838 5xª LT=3=3=&M 5xª ± 5 ¯ M ±° ª ± ¯ 5xª L3L3L3LT= 5xª M ¯}°x° = 5xª L38 ± = 5
5 ¯ ª ± ¯ ª 838383838 ¯ ª 939]= ¯ = ¯ ª ¯x¯ = ¯ =¯ 8�ª ± 8�ª L3L3L3LT= 8�ª ±x¯ 5 L 8�ª 8383M&9TL
8 9 ª ± ± 9 ª ± 8$5 ¯x± 9 ª 9
9 ± ª ± L�ª 838383838 ± ª ±x¯ M$535 ± ª 9T83L K =± L�ª ± =�ª L3L3L3LT= L�ª ±x¯ 8 ° = L�ª 9TL °v± 8
= M�ª ± 5 ° ª 8383838 M�ª ± 5:9TM ± M�ª 9TM3L K L
5 ° 535xª ± 5:9 ª 8383838 535xª ±}° M 535xª ±}° 9¯}° ¯ 5xª ± ¯ =�ª L3L3LT= ¯ 5xª ±}° 5 M ¯ 5xª ± 5:9TL
8 ° 8$5xª ± 9�5 8$5xª ±}°x° L 8$5xª ± 5 83M
9 ° 9�5xª ± ± 9 ª 8383838 9�5xª ±}°x° 8 9�5xª ± 5 ¯x¯±}° ± 5xª ± LT=�ª L3L3LT= ± 5xª ±}°x°v¯ ± 5xª ± 5 ° L
L ° L$5xª ± M$5 L$5xª ±}°x° 5 L$5xª ±}°3K 9
= ° = 5xª ± K 9 ª 8383838 = 5xª ±}°x° 5 = 5xª ±}° M&9
=&L =3=�ª ± 5 °v¯ ª 83838 =3=�ª ±}°x° 5 =3=�ª ±}° = K
=3= =&M�ª ± 5 ° 8�ª L3LT= =&M�ª ± =&M�ª ±}° =&M
5 °x° 5 ° 5xª ± 5 8&9 ª 83838 5 ° 5xª ± 5 ° 5xª ±}° L
8 °x° 8 ° 5xª ± 9 ° 5 8 ° 5xª ± 8 ° 5xª ±}°v¯

 �� ¢�{}��{x� 9 ª25:9 �

M$5
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U(x) = 1 +

∫ x

0

U(x− t)dF (t)

^ �x��r ��® �]yv¤ ����¬����p{x�}|��Yyxt��������b¢�{]�¥��{x��yv����|���� ��{vr"�[t�{x¢�{}uv�}tv|~r ��®��z¬��}uv{x¬�� ��®~����������®Yt����
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D ��� � �bL�gjP
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@BAei
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U(x) = 1 +

∫ x

0

U(x− t)dF (t)

A7CrO � W�Pn� kmi A7CrO([ZXnts[�WYXZg �q[^AbXnt^O"gji
]
f �KX�W�i N S&Xntekmf �

U(x) ≤ x

µ
+
µ2F

∗k(x)

µ2
+ F e(x) +

[
F e ∗

(
F + F ∗2 + ...+ F ∗(k−1)

)]
(x) := Ure,k(x) � 9 ª 9 ° �

 H 9��$%3�21TX
� {}t�¦�¬���r ��� ��{ ��� ¢���r���©xyv��wz¢�{dyv�Y|��x¢ {x��¨ � |��x� yv{~���xyv{}|~r ���x�]�[t�{}� wb���x� ª � r {d� � 5 ¤¥¨ ��r
{}t���¬���r ¨�|���� � Politis

��{vr
Koutras � ¯}°x°v±�� ª � r {�� � ¯ ��¤¥¨ ���xyv� �

U(x) ≤ 1 +

∫ x

0

x− t

µ
+
µ2F (x− t)

µ2
+ F e(x− t)dF (t)

≤ 1 +

∫ x

0

x− t

µ
dF (t) +

∫ x

0

µ2F (x− t)

µ2
dF (t) +

∫ x

0

F e(x− t)dF (t)

� �$#�#��
1

= 1 +
x

µ
− Fe(x) +

µ2F
∗2(x)

µ2
+ (F e ∗ F )(x)

� 9 ª 9�5 �

� �z��|¥w=¦}|~r�����¨ ¤¥��� � 9 ª 9 ° � r ��¨ ©x��r���r {�� � l

U(x) ≤ x

µ
+
µ2F

∗l(x)

µ2
+ F e(x) +

[
F e ∗

(
F + F ∗2 + ... + F ∗(l−1)

)]
(x)

M ¯



��{�{}t���¬���� �����xyv��¦}|~r�r ��¨ ©x��r���{vr���r {
l+1

� �z¨ ���xyv� �

U(x) ≤ 1 +

∫ x

0

(
x− t

µ
+
µ2F

∗l(x− t)

µ2
+ F e(x− t)dF (t)

)
+

+

∫ x

0

([
F e ∗

(
F + F ∗2 + ...+ F ∗(l−1)

)]
(x− t)

)
dF (t)

= 1 +
x

µ
− Fe(x) +

µ2F
∗(l+1)(x)

µ2
+ (F e ∗ F )(x) +

[
F e ∗

(
F ∗2 + F ∗3 + ...+ F ∗l

)]
(x)

=
x

µ
− Fe(x) +

µ2F
∗(l+1)(x)

µ2
+
[
F e ∗

(
F + F ∗2 + ... + F ∗l

)]
(x)

� A�9 'T����X �I�<; �3fQgj\ O�UrO^AbP
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U(x) ≥
x
µ

+ σ2

µ2

L,gjP
\TkmfnAei�P^[Z_,g^���Z\xP
�ZXxS&\~gjNQR�P^O^Ae\~gjP AbP
@BAei
@�fQ\ R5@BAbX,�Zf��jAbfGWYX�kmN�uKXZR,A�`qR�P^OQP^OQfcC3Ae\~g�pqR
fc� v @qCr@B`qR

U(x) = 1 +

∫ x

0

U(x− t)dF (t)

A7CrO � W�Pn� kmi A7CrO([ZXnts[�WYXZg �q[^AbXnt^O"gji
]
f �KX�W�i N S&Xntekmf �

U(x) ≥ x

µ
+
σ2F ∗k(x)

µ2
+ F e(x) +

[
F e ∗

(
F + F ∗2 + ...+ F ∗(k−1)

)]
(x) := Lre,k(x) � 9 ª 9 ¯ �

 H 9��$%3�21TX
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Gamma(2,2)
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Brown
��{x¢�|~� ��|���r ¨ {�yv¤¥¨ �~r���{vr���{vr�|��x¢«|�¤[|�{x��|�� �[t�{x¢�®}uv� ������� ¢�{vr �

U1(x) =
3

2
+ x

Ure,1(x) =
3

2
+ x− 1

2
e−2x(1 + 4x)

Ure,2(x) =
1

6
e−2x(3e2x(3 + 2x) − 8x3 − 6x2 − 12x− 3)

Ure,3(x) =
1

30
e−2x(15e2x(3 + 2x) − 8x5 − 10x4 − 40x3 − 30x2 − 60x− 15)

Ure,4(x) =
1

630
e−2x(315e2x(3 + 2x) − 16x7 − 28x6 − 168x5 − 210x4 − 840x3 − 1260x− 315)

��{vr � 9 ª 9T8 �

L3(x) = x +
1

2

Lre,1(x) =
1

2
+ x +

e−2x

2

Lre,2(x) =
1

2
+ x + e−2x

(
1

2
+ x2

)

Lre,3(x) =
1

6
e−2x(3 + 6x2 + 2x4 + e2x(3 + 6x))

Lre,4(x) =
1

90
e−2x(45 + 90x2 + 30x4 + 4x6 + 45e2x(1 + 2x))

��|��x¢¡t�� ¢�{}��{ 9 ª25 ± ����{v� ¢��x¢�|�{vrx|�{«����®}��yv{}|�{�t����­t����v��©}tv|����x¢��[t�{x¢�{}uv�}tv|~r ��®����[��r ¢�£z¢�|�{x��{}t�¦W|��
����®}��yv{W|����

Lorden � 5 K = ° � ª �m� ¢�{vr ��{x¢��¥��¦�tvwz����r { y�r ����¤¥��|~r yv¤¥�¡|���� x |�{g¢�¤¥{ ����®}��yv{}|�{Wt����
t����v��©}tv|����x¢K��®~���m������®¡t�{x�����x��r ® �����x¢ ���[ux|~r wzyv¤¥¢��¡���xyxt��¥�~r ������® ª �z¢�£ ¦����­{x� ��®x¢���r}�«{x�~r ��yv¦��
|¥wz¢K�[t�{x¢�{}uv� ���[wz¢ |�¦����W{x� ��®x¢���r}��{vrx�W¨ ���x¢~r ��¦������~� ���x¢�|�{x� t�����|��W¢�¤¥�W����®}��yv{���� ¢�{vrx��{}uv©}|��¥���
{}t�¦ {x�}|�¦ {}t�¦ |�� �vt���� � ��{}|�{x�����¥�x®x��|��}��� ª � r {Yt�{x��®x¬���r ��yv{��b{x¢�{x��¤¥�����xyv��¦}|~r"yv� |��x¢lt���£b|��
�[t�{x¢�®}uv� ���l|��]��{vr ¢���©x����r � ����®}��yv{ ��� ¢�{vr4t�r � {}���~r ��� {}t�¦]{x�}|�¦Y|����

Lorden � 5 K = ° ��yv¤¥¨ �~r4��{vr
|�� ���xyv��� �

x = 5
���¥¢�£ yv��|��x¢W|�¤[|�{x��|��s�[t�{x¢�®}uv� �����p¨ ���x¢~r ��¦�� ���~� ���x¢�|�{x�«t����l��� ¢�{vr���{}uv©}|��¥���

|��s¢�¤¥�s����®}��yv{g��|�®x¢���r�yv¤¥¨ �~r���{vr�|��s���xyv��� �
x = 10 ª � r {W|~r yv¤¥�¡|���� x < 0.5

��|��
Lre,4 � |�¤[|�{x��|���[t�{x¢�®}uv� ��� �����xyxt�� tv|���r yv�¡|��x¢«|~r yv�g|��x��{x¢�{x¢��[wb|~r ���x�����x¢�®x��|��x���x� ª �z¢�£ |��p� ¬~r �l���xy~��{v� ¢���r���{vr

��r {]|��
Ure,4

�b��r {]|~r yv¤¥�s|����
x < 0.3 ª � � yv��r {]��{}|�®x��|�{x��� �[t�r ����{}|����"��{vr"��|��x¢lt��¥�~� tv|¥wz���]t����

��{}|�{x�����¥�x® �����xyv�p��®}|¥w;����®}��yv{}|�{ yv�l|��x¢ �[t�{x¢�{}uv�}tv|~r ��� yv¤ ����¬�� � ���[��r ¢�£z¢�|�{x� {}t�¦ |�� ��®}|¥w
����®}��yv{�|����

Brown � 5 K M ° � �  �� ¢�{}��{x� 9 ª25 L � ª ��¤[uv�����4{x�}|�¦pt�����t���¤[t���r ¢�{�t�{x��{}|��x���x�����xyv����{vr
��|����x�]¬�©x� t�� ¢�{}���¥� � 9 ª25 ± � 9 ª25 L �s��� ¢�{vr ¦}|~r�|�{ �[t�{x¢�{}uv�}tv|~r ��® ����®}��yv{}|�{ ��� ¢�{vr�t�r �:{}���~r ��� ��r {
y�r ����® ¨ ���x¢~r ��® ¬~r {x��|��xyv{}|�{ {}t�¦ |�{ ����®}��yv{}|�{ {}t�¦ |�{ �vt���� { t������}u}��{x¢ �m{}uxuv® {x���xyxtv|¥wb|~r ��®
���}� ��u�� ¢����x¢g����{x�}|�® ª

M&9
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� ¨ �xyv{ 9 ª K � �$��{x��r ����t�{x��®x��|�{x��� |¥wz¢
U(x) � • � � U1(x) � • � � Ure,1(x) � • � � Ure,2(x) � • � �

Ure,3(x) � • � � Ure,4(x) � • � ��r {�|�� �$®xyvyv{ � ¯ � ¯ �

1 2 3 4 5
time

1

2

3

4

5

6

7

� ¨ �xyv{ 9 ª25 ° � �$��{x��r ��� t�{x��®x��|�{x��� |¥wz¢
U(x) � • � � L1(x) � • � � Lre,1(x) � • � � Lre,2(x) � • � �

Lre,3(x) � • � � Lre,4(x) � • � ��r {�|�� �$®xyvyv{ � ¯ � ¯ �

M ±



x U(x) L3(x) Lre,1(x) Lre,2(x) Lre,3(x) Lre,4(x)° 5 ° ª ± 5 5 5 5° ª25 5xª ° 5.= ± M ° ª L 5xª °x°3K 8T= 5xª ° 5.= ±x± 5xª ° 5.= ± M 5xª ° 5.= ± M° ª ¯ 5xª ° L ¯ 838 ° ª�= 5xª ° 8 ± 5 L 5xª ° L$5 K = 5xª ° L ¯ 838 5xª ° L ¯ 838° ª 8 5xª25 ¯x± 8 ° ª M 5xª ° = 939�5 5xª25 ¯ 83M 5xª25 ¯x±x¯ M 5xª25 ¯x± 8° ª 9 5xª ¯}°x° 9]= ° ª K 5xª25 ¯ 9TL3L 5xª25 K L ± L 5xª ¯}°x° 8 K 5xª ¯}°x° 9]=° ª ± 5xª ¯ M383M38 5 5xª25 M38 K 9 5xª ¯ = ±&K 5 5xª ¯ M38 ± = 5xª ¯ M383M38
5 5xª�= ± 9 ± M 5xª ± 5xª ± LT=&LT= 5xª�= ° 8 5xª�= 9TM$535 5xª�= ± 9�5 8¯ ¯ ª�= ±}°x° M ¯ ª ± ¯ ª ±}°3K 5 L ¯ ª ± M ¯ 9 ¯ ¯ ª L3M ° 5 ¯ ª�=&8 ¯x¯
8 8�ª�= ± 8�ª ± 8�ª ±}° 5 ¯ 9 8�ª ±x¯ 8 ±x± 8�ª ±&Kx° 9]= 8�ª LT= ° = K
9 9 ª�= ± 9 ª ± 9 ª ±}°x° 5.= 9 ª ±}°v±x± 9 9 ª ± 8&9�5 L 9 ª ±&Kv±x¯ 8± ± ª�= ± ± ± ª ±}°x°x°v¯ ± ª ±}° 535 L ± ª ± 5 ° L ¯ ± ª ± 9 ¯ 5:9
= =�ª�= ± =�ª ± =�ª ± =�ª ±}°x°x° 9 =�ª ±}°x° = 5 =�ª ±}°v±}°v±
M M�ª�= ± M�ª ± M�ª ± M�ª ±}°x°x° 5 M�ª ±}°x° 5 L M�ª ±}° 5:9]=K K ª�= ± K ª ± K ª ± K ª ± K ª ±}°x°x° 8 K ª ±}°x° 8 K
5 ° 5 ° ª�= ± 5 ° ª ± 5 ° ª ± 5 ° ª ± 5 ° ª ± 5 ° ª ±}°x° 5
535 535xª�= ± 535xª ± 535xª ± 535xª ± 535xª ± 535xª ±¯}° ¯}° ª�= ± ¯}° ª ± ¯}° ª ± ¯}° ª ± ¯}° ª ± ¯}° ª ±

 �� ¢�{}��{x� 9 ª25 ± �

x U(x) U1(x) Ure,1(x) Ure,2(x) Ure,3(x) Ure,4(x)° 5 5xª ± 5 5 5 5° ª25 5xª ° 5.= ± M 5xª L 5xª °v¯ L3M K 5xª ° 5.=&L$5 5xª ° 5.= ± M 5xª ° 5.= ± M° ª ¯ 5xª ° L ¯ 838 5xª�= 5xª °3K LT= 5 5xª ° L ¯ = ± 5xª ° L ¯ 838 5xª ° L ¯ 838° ª 8 5xª25 ¯x± 8 5xª M 5xª25 K L38$5 5xª25 ¯ = 5 L 5xª25 ¯x± 8 ¯ 5xª25 ¯x± 838° ª 9 5xª ¯}°x° 9]= 5xª K 5xª 8$5 ± MT= 5xª ¯}°v± L&9 5xª ¯}°x°v± M 5xª ¯}°x° 9TM° ª ± 5xª ¯ M383M38 ¯ 5xª 939TM$5 M 5xª ¯&K 9 K 5xª ¯ M&9�5.= 5xª ¯ M383M&9
5 5xª�= ± 9 ± M ¯ ª ± ¯ ª25 L$5 L3L 5xª M&9 ± M3M 5xª�=&L&9TL3M 5xª�= ±x±x¯ 8¯ ¯ ª�= ±}°x° M 8�ª ± 8�ª 9�5.= ± M 8�ª25:9TM Kv± ¯ ª M K 9 K = ¯ ª�=&M3838&9
8 8�ª�= ± 9 ª ± 9 ª 9TM383M K 9 ª 8T= ¯ 8&9 9 ª25:939]= K 8�ª Kv¯ L3M$5
9 9 ª�= ± ± ª ± ± ª 9 K = 5 ± ± ª 9TL38$5 L ± ª 8&9 ¯&K 8 ± ª25:9 ¯x¯ =± ± ª�= ± L�ª ± L�ª 9 K3Kv±x¯ L�ª 9 Kx° M ¯ L�ª 939T8 ± 8 L�ª 8 ¯ 5 Kv¯
= =�ª�= ± M�ª ± M�ª 9 K3K3K3K M�ª 9 K3Kv± = M�ª 9 Kv± 5.= M�ª 9]=&8&9T8
M M�ª�= ± K ª ± K ª ± K ª 9 K3K 5 K ª 9 K MT=&M K ª 9 K 5:9]=K K ª�= ± 5 ° ª ± 5 ° ª ± 5 ° ª ± 5 ° ª 9 K3K3K 5 ° ª 9 K = ±
5 ° 5 ° ª�= ± 535xª ± 535xª ± 535xª ± 535xª 9 K3K3K 535xª 9 K3K 8
535 535xª�= ± 5 ¯ ª ± 5 ¯ ª ± 5 ¯ ª ± 5 ¯ ª ± 5 ¯ ª 9 K3K M
5 ¯ 5 ¯ ª�= ± 5 8�ª ± 5 8�ª ± 5 8�ª ± 5 8�ª ± 5 8�ª ±¯}° ¯}° ª�= ± ¯ 5xª ± ¯ 5xª ± ¯ 5xª ± ¯ 5xª ± ¯ 5xª ±

 �� ¢�{}��{x� 9 ª25 L �
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��|��]���¥��®}uv{vr � {x�}|�¦ ��{ {}t���¬���� �����xyv��y�r {p��{x��r ��� ��¨ ¤¥��� t����Y���x¢�¬�¤¥��r4|�{ ®x¢�w ����®}��yv{}|�{p|��x�
���x��®x�K|��x�¡��©x¢����[|��x� ���[wzyv�[|��~r ���x�¡��{}|�{x¢���yv�x�K��{vr��[t���yv¤¥¢�wz�¡��{vr�|��x�Kt�r ��{x¢�¦}|��}|�{x�¡¨ ���¥�v���vt�� {x�
yv��|�{���®}|¥w ����®}��yv{}|�{s��r {�|��x¢ {x¢�{x¢��[wb|~r �������x¢�®x��|��x��� ª ��|������x¢�¤¥¨ ��r {��[��yv�[|�{}uxuv�¥�x¦�yv�¥¢���r�|��
��¨ ¤¥��� {x�}|�����{ ¬�£z�����xyv� y�r { ����r ��® {}t�¦]¢�¤¥{ ����®}��yv{}|�{l��r { |��x¢�{x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x���l��{vr
��{ |�{����}� ���~� ¢����xyv��yv�¡|�{��x¬�� ��¢�wz��|�®�����®}��yv{}|�{ ª
����� �
/1�(/10V� !"�*)5� � � / � �>! �s��� ),��� % � � � � � / � 03! �s# � 0V� �

��03!��"�*)5�s#
� �z��|¥w

X1, X2, ...
y�r {�{}���~uv���~� � {�{}t�¦­{x¢�� ��®x��|��}|��¥�m��{vrvr ��¦x¢���yv�¥��|��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥�myv�m{~������r �

��|~r ���«���x¢�®x��|��x���¡��{}|�{x¢���yv�x�
F ª ��¢ � ��� ¢�{vr��[t�� ���x��y�r {­|��x¨ {v� {«yv�[|�{���uv�}|���t����«{}���~uv���~������|��x¢

���[wzyv�[|��~r ������{}|�{x¢���yv��yv�����x¢�®x��|��x���Wt��}��¢�¦}|��}|�{x�
Pr(N = n) = pqn, n = 0, 1, 2... (0 < p <

1, q = 1 − p)
��{vr����vt���� {���� ¢�{vr�{x¢�� ��®x��|��}|���{}t�¦l|~r �

Xi, ∀i
|�¦}|�������{}|�{x¢���yv�s|��x�­���x��®x�­|��x�

��©x¢����[|��x�¡���[wzyv�[|��~r ���x��|��x¨ {v� {x�­yv�[|�{���uv�}|��x�

Y0 =
N∑

i=1

Xi

��� ¢�{vr
ψ(x) = Pr(Y0 > x) = p

∞∑

k=1

qkF ∗k(x) � ± ª25 �
��¢ {x¢�|~r ��{}|�{x��|��x�����xyv� |��x¢m|��x¨ {v� {�yv�[|�{���uv�}|�� � yv�"y�r {K{x¢�{x¢��[wb|~r ����¬~r {x¬~r ��{x��� { {N(x), x ≥ 0}
��|��x¢l�vt���� {]��r �¥¢�¬~r ®xyv�¥����r ¨ ��¦x¢���r yv�[|�{ ��© |¥wz¢p{}t�� ���xy�r £z���[wz¢p¤¥¨ ���x¢p{~������r ��|~r ���Y���x¢�®x��|��x���

MT=



��{}|�{x¢���yv�x�
F
��|�¦}|��K��©xyv��wz¢�{Wyv� |��x¢

Lin � 5 K3K L �z�}t�®x��¨ ��r���¨ ¤¥���«t����g¢�{g���x¢�¬�¤¥��r�|��x¢­��©x¢����[|��
���[wzyv�[|��~r ���syv�¡|��x¢W{x¢�{x¢��[wb|~r ���s¬~r {x¬~r ��{x��� {s{x�}|��g��{vr��s�vt���� {s��� ¢�{vr �

ψ(x) = E[qN(x)], ∀x ≥ 0 � ± ª ¯ �
�z��{x��yv¦ ���x¢�|�{x�­|��x¢W{x¢~r ��¦}|��}|�{

Jensen
��|��x¢ � ± ª ¯ � ��¤¥¨ ���xyv� �

ψ(x) = E[qN(x)] ≥ qE(N(x)) = qU(x) � ± ª 8 �
{}t�¦l¦vt�����t����v��©}tv|���r�r ����¬�©x¢�{xyv{ |��l� ���x����®}|¥w=����®}��yv{ ��r { |��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���

U(x) ≥ ln[ψ(x)]

lnq
� ± ª 9 �

�¡t�¦s|��x¢­|��[uv�¥�}|�{v� {g��¨ ¤¥���Wt�{x��{}|��x����©xyv�Ktvwz��yxt�������©xyv��¢�{g��{}|�{x�����¥�x®x�����xyv����®}|¥w:����®}��yv{}|�{
��r {g|��x¢­{x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x���W{x¢���¢�wz�~� �����xyv�¡|��x¢­{}���~r ���g|~r yv�g�g��®}t���r {�®x¢�wd����®}��yv{}|�{W��r {
|��x¢W���x��®�|��x����©x¢����[|��x�¡���[wzyv�[|��~r ���x���

ψ(x)
¬��}uv{x¬���{x¢

ψ(x) ≤ f(x), ∀x ≥ 0 ⇒

ln[ψ(x)] ≤ ln[f(x)], ∀x ≥ 0 ⇒
ln[ψ(x)]

lnq
≥ ln[f(x)]

lnq
, ∀x ≥ 0 ⇒

U(x) ≥ ln[f(x)]

lnq
� ± ª ± �

�¡t�¦l|��x¢W®}uxuv��yv�¥�~r ®s� � ± ª 8 � yxt���������¢�{s¨ ���x��r yv�vt���r �~��������r {�|��x¢ �}t��~uv�~��r ��yv¦p®x¢�w=����{}��yv®}|¥wz¢
|��x¢Y���x��® |��x�p��©x¢����[|��x�����[wzyv�[|��~r ���x� {x¢ ��¢�wz�~� �����xyv�l��®}|¥w�����®}��yv{}|�{]��r { |��x¢ {x¢�{x¢��[wb|~r ���
���x¢�®x��|��x��� ª

��������� � � ��
 �����
�����
� ����� � � ��� ������� 	  �� ��� � ����� ��
 ��� ��� ��
���� 
 �
� ���
����� ���

��|�� t�{x��®}����{x��� {x�}|��Y��{ {x��¨ �~uv�~����©xyv��yv��|�{ ®x¢�w�����®}��yv{}|�{]t���� ��{}|�{x�����¥©x{x�����
Brown

� 5 K3Kx° � ����r {�|��x¢����x��®�|��x�«��©x¢����[|��x�­���[wzyv�[|��~r ���x�«��{}|�{x¢���yv�x� ª ��{l{}t��}|��[uv¤¥��yv{}|�{���{vr�� ���xy��
���~u�r ��yv¦��Wt�������{�¨ ���x��r yv�vt���r �x�����xyv�«{}���~uv���~����©x¢�|��x¢

Brown � 5 K3Kx° � ª �m� ¢�{vr���¢�wz��|�¦ ¦}|~r���r {
��®~������©x¢����[|��g���[wzyv�[|��~r ������{}|�{x¢���yv�

Y0 =

N0∑

i=1

Xi

¦vt����	�

M3M



• N0 ∼
�$�[wzyv�[|��~r ���

(p)

• N0

{x¢�� ��®x��|��}|�� {}t�¦�|~r ��|��x¨ {v� �¥�­yv�[|�{���uv�}|�¤¥�
Xi, ∀i

• Xi ≥ 0, ∀i yv� µ2 = E(X2
i ) <∞

r ��¨ ©x��r ����r {
p→ 0

�
Y0

E(Y0)

d→ �b�v���[|~r ��� � 5 �

� Brown � 5 K3Kx° ��{}t�¤¥¬���r ����¦}|~r
Y0 ∈ NWU

��{~��£z� �[t�� ���x� ��{vr�¦}|~rx��r {���®~����|��x¨ {v� {­yv�[|�{���uv�}|�� ; yv��|��x¢¡r ¬~r ¦}|��}|�{
NBUE

�
NWUE

r ��¨ ©x��r �

D∗(X∗, µε) ≤ ρX

¦vt����	�

5xª X∗ |��x¨ {v� {�yv�[|�{���uv�}|��gyv��{~������r ��|~r ���s���x¢�®x��|��x���W��{}|�{x¢���yv�x� �

Fe(x) = G(x) = µ−1

∫ x

0

F̄ (t)dt

t������x¢���yv® ���[|�{vr}��{}|�{x¢���yv�­r ���������vt�� {x� � equilibrium
�b���~uv�v��uv�x��wzyv¤¥¢��­���x��® � integrated

tail
�

¯ ª ρX =
∣∣∣ µ2

2µ2 − 1
∣∣∣ = |γ − 1| � µ = E(Xi)

8�ª §Y� µε

���xy~���~u�� �����xyv�¡|��x¢W�[�v���[|~r ������{}|�{x¢���yv��yv��yv¤¥���g|~r yv��y ª

9 ª D∗(F1, F2) = supB∈β |F1(B) − F2(B)| �4¦vt���� β |�� ��©x¢��~uv� ¦~uxwz¢s|¥wz¢s���x¢�¦~uxwz¢ Borel
��|��

R

� ����{��b��{}|�{x�����¥�x® ���x¢�|�{x������®}��yv{}|�{Y��r {Y|��x¢ ¬~r {x������® �[�v���[|~r ���x����{}|�{x¢���yv�x�l{}t�¦ |��Y��©x¢����[|��
���[wzyv�[|��~r ���gyv��|��x¢­yv��|��x¢«� ¬~r �syv¤¥��� ��t����v��©}tv|����x¢«����®}��yv{}|�{«��r {g|��x¢

Y0 ª �bt���yv¤¥¢�wz��¨ ���x��r yv���t���r £z¢�|�{x�­|��x¢Wt�{x��{}��®}|¥w:���xy~���~u�r ��yv¦ �

• F̄Y0 = Pr(Y0 > t)

• E(Xi) = µ
��{vr

E(X2
i ) = µ2

• γ = µ2

2µ2

M K



• E(Y0) = E(N0)E(Xi) = qµ
p

• ��¢g���~� �����xyv� Y =
∑N+1

i=1 Xi

��{vr
Y ∗ =

∑N
i=0Xi

��|�¦}|�� �

F̄Y (t) = q−1F̄Y0(t) � ± ª L �
��{vr

E(Y ) = E(N0 + 1)E(Xi) = E(Xi)/p =
µ

p
¤¥¨ ���xyv��|�{�� ���x�­®x¢�w:����®}��yv{}|�{ ��r {�|~r �­��©x¢����[|��¥�¡���[wzyv�[|��~r ��¤¥�­��{}|�{x¢���yv¤¥���
� A�9 'T����X ���Y; �(O

Xi ≥ 0
kmf

F (0) < 1
gjP
\

µ2 < ∞ H>Ae_�Abf��a\xP�A�`qO Xnt7W�i A�`qR5@ �^OZ]
fnA�`qR�afcC:kmfnAoWY\~g�pqR
Y0
\ @�S��
fQ\Y`5P^OZ\ @�_�A�`aAbP �

F̄Y0(x) ≤ e
− x

E(Y0) +
γp

q
= e−

px
qµ +

γp

q
:= ΨUB,1(x) � ± ª�= �

��� ����®}��yv{st����st�{x�����x��r ®x��|��}����t�{x��{}t�®x¢�w=t�����¤¥��¨ �[|�{vr {}t�¦l|�� � �[£z���xyv{l¯ ª25 |���� Brown

� 5 K3Kx° �g��{vr��[t�r ¬�¤¥¨ �[|�{vrb���[ux|~r £z����r � ��|��x¢Yt��¥�~� tv|¥wz��� t���� ��¢�wz�~� �����xyv� �[t�r tvuv¤¥�x¢ |��x¢ r ¬~r ¦}|��}|�{
���x��{x¢����x�st���� r ��{x¢��vt���r ���z�Y��{}|�{x¢���yv�Y|¥wz¢

Xi ª ��¤[|���r { ����®}��yv{}|�{Y��{v� ¢��x¢�|�{vr"��|��x¢p�[t�¦�yv�¥¢��t���¦}|�{x��� ª
� A�9 'T����X ��>Y;"= ?-@BA7C XZ\Mkr` P7WYO^`aAe\~gjNQR5AZtwSIP
vxfQR(kmfnAbP7zjuY`aAeNQR

Xi
kmf P
]7WYXZ\ @BAe\~g�p�@Yt^OZi7WBA�`q@B`

gjP AbP^OeXbkrpqR
F
D
F (0) < 1

L gjP
\m[Zf�[ZfGW�P
@akmN�O^`,�Zf��jAbfGWB`"WYX
[^p
µ2 < ∞ HIAe_�Abf(�a\xP,A�`qOsXnt7W�i�A�`qR@ �^OZ]
fnA�`qR��afcC:kmfnAoWY\~g�pqR

Y0
\ @�S��
Xnt^O�XZ\Kfc�
pqR}P^OZ\ @�_�A�`aAbfQR��

� { �(O
F ∈ NBUE

HTAe_�AbfhP^[Z_"A�`5@�S&N7@B`,D � { � { � �bLyAbXnt
Brown

D ����� �bL�gjP
\BA�`qO � {��yN S&Xntekmf �

F̄Y0(x) ≤ e
− x

E(Y ) := ΨUB,2(x) � ± ª M �

� { �(O
F ∈ NWUE

HTAe_�AbfhP^[Z_yA�`s@�S&N7@B` D � { � { � LyAbXnt
Brown

D ����� �bL�gjP
\YA�`qO � {��yN S&Xntekmf �
F̄Y0(x) ≤ q

(
pρX + e−

x
E(Y )

)
:= ΨUB,3(x) � ± ª K �

� { �(O
F ∈ NBU

HTAe_�AbfhP^[Z_yA�`s@�S&N7@B` D � { � { � LyAbXnt
Brown

D ����� �bL1gjP
\YA�`qO � {��(N S&Xntekmf �

F̄Y0(x) ≤ qepe
−x

E(Y ) := ΨUB,4(x) � ± ª25 ° �

� { �(O
F ∈ IFR

HmAe_�AbfhP^[Z_"A�`5@�S&N7@B` D � { � { � L"AbXnt
Brown

D ����� �bL�gjP
\YA�`qO � {��yN S&Xntekmf �

F̄Y0(x) ≤ qe−
x

E(Y ) e2pρX := ΨUB,5(x) � ± ª2535 �

Kx°



 ¡{x��{}|��x����©xyv�gtvwz�s¦~uv{ |�{ ����®}��yv{}|�{ t����Y{x¢�{x��¤¥�����}��{x¢st��¥�~r ¤¥¨ ���x¢p|�� t�r ��{x¢�¦}|��}|�{
p ª �

Brown
|��x¢~� ����r4tvwz�g|�{ ����®}��yv{}|�{�t���� ¤¥¬�wz���Wuv��r |����x������©x¢�{}t��}|��[uv�¥��yv{}|~r ��®l��r { y�r ����¤¥� |~r yv¤¥�

|����
p � 0 ≤ p ≤ 0.5

����{vr�¬~� ¢����x¢ r ¬~r {v� |��¥��{�{}���~r ���s{}t��}|��[uv¤¥��yv{}|�{�{x���xyxtv|¥wb|~r ��® ��r {
p→ 0

��{vr
yv�[��®}uv{�¨ ���x¢~r ��®s¬~r {x��|��xyv{}|�{ ª

��������� � �
��
 �����
�����
� � ��� � � ��� �	� �	� ��
 � ��
�� 	 �����	� � ��	�� ����������� � �
����� � ����� �	��
 �����
�����
� � � ��� �������	� � ����	  �� ��� � ��� � ��
 ��� �
��� ��
���� 
 �
� �	����� ��� �

��|��x¢�t�{x��®}����{x���Y{x�}|��s��{lt�{x�����x��r ®x�����xyv�«��®}|¥w ����®}��yv{}|�{l��r {p|��x¢s{x¢�{x¢��[wb|~r ���p���x¢�®x��|��x���
t������¥��¨ ¦�yv�¥¢�{g{}t�¦�®x¢�w ����®}��yv{}|�{­|��x�K{x¢�|~� ��|���r ¨ �x�����x��®x�K|��x�K��©x¢����[|��x� ���[wzyv�[|��~r ���x�K��{}|�{x¢����
yv�x�gyv�«|�{

Xi

t���� {}t��}|��[uv��©x¢�|�� |��x¨ {v� � ���[wzyv�[|��~r ��¦Y®~������r ��yv{p¢�{p¤¥¨ ���x¢�|��x¢�� ¬~r {l��{}|�{x¢���yv�
yv��{x�}|��«|����g¨ ��¦x¢����gyv�[|�{ ��©«|¥wz¢­{x¢�{x¢��[£z���[wz¢ ª ��¤[|���r ��� ��� ¬����x��yv�[|�{x������®W����{}��yv®}|¥wz¢K���~� ������r
�¥��{x��yv�~������|�� yv�[uv¤[|�� |��x�"t�r ��{x¢�¦}|��}|�{x�b¨ ���¥�v���vt�� {x�m��� ¨ {x��|������}uv®}��r {�{x����{}u�r ��|~r ��£z¢��[|�{vr ����r £z¢
¦vt����­��rx|��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥�mt������[������® �����x¢K|��«yv¤[��� ����� |��x�mtv|�£z���x��|�����tvuv�¥�x¢�®x��yv{}|�������®}|¥w
{}t�¦­|���t������}����©xyv�¥¢��W{}t��x���¥yv{}|~r ��¦

Li

��{vrx�­¨ ��¦x¢���� yv�[|�{ ��©¡|¥wz¢�{}t�� ���xy�r £z���[wz¢�¤¥¨ ���x¢�|��x¢K� ¬~r {
��{}|�{x¢���yv� ª � �b|���r�{x¢g���[wz���x�����xyv�«¦}|~r�|��l��|~r ��yv��t����py�r {l{}t�{v� |��x����{x¢�{}� ��® ����r�|�� tvuv�¥¦x¢�{x��yv{
¢�{�t�¤¥����r}��®}|¥w {}t�¦­|��«t������}����©xyv�¥¢��W{}t��x���¥yv{}|~r ��¦W¤¥¨ ���xyv��{x¢�{x¢�¤[wz�����x|�¦}|��m{x¢���¢�wz�~� �����xyv� ¤¥¢�{
®x¢�w:����®}��yv{g��r { |��x¢­t�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x����yxt�������©xyv��¢�{ �}t��~uv�~��� �����xyv��¤¥¢�{ ��®}|¥w:����®}��yv{
��r {g|���{x¢�{xyv�¥¢�¦�yv�¥¢���tvuv�~�����

Li

��|��g¬~r ®x������r { |���� ¨ ��¦x¢��������Ky�r {gt��[t��¥��{x��yv¤¥¢�� � terminating
�

{x¢�{x¢��[wb|~r ��� ¬~r {x¬~r ��{x��� { � ��uv¤[t�� Feller (1971), XI6
� ª ��¢l{x¢�|~r ��{}|�{x��|��x�����xyv�­|~r � � ± ª�= � � � ± ª M � �

� ± ª25 ° � � � ± ª2535 � � � ± ª K � ��|��x¢ � ± ª ± � � |�¦}|���¤¥¨ ���xyv��{x¢�|~� ��|���r ¨ { �

* %&"��)(�RU(�R�'T� �VA$R���S���'T�

U(x) ≥
ln
(
e
− x

E(Y0) + γp
1−p

)

ln(1 − p)
=
ln
(
e
− px

(1−p)µ + γp
1−p

)

ln(1 − p)
:= LGeom,1(x) � ± ª25 ¯ �

OQA$R���S���'T�U[ H 9Z���G1$FY[G��� �0� � SE/ �$� ��HIF ' [GC\/2��+

• ��¢ F ∈ NBUE

U(x) ≥
ln
(
e−

x
E(Y )

)

ln(1 − p)
=

−xp
µln(1 − p)

:= LGeom,2(x) � ± ª25 8 �

K 5



• ��¢ F ∈ NBU

U(x) ≥
ln
(
q
(
epe−

x
E(Y )

))

ln(1 − p)
=

p− x
E(Y )

ln(1 − p)
+ 1 =

p− xp
µ

ln(1 − p)
+ 1 := LGeom,3(x) � ± ª25:9 �

• ��¢ F ∈ IFR

U(x) ≥
ln
(
qe−

x
E(Y ) e2pρX

)

ln(1 − p)
=

− x
E(Y )

+ 2pρX

ln(1 − p)
+ 1 =

−xp
µ

+ 2pρX

ln(1 − p)
+ 1 := LGeom,4(x)

� ± ª25 ± �
OQA$R���S��U[ H 9 � � / "$FY[G��� �0� � SE/ �$� ��HIF ' [GC\/2��+

• ��¢ F ∈ NWUE

U(x) ≥
ln
(
q
(
e

−x
E(Y ) + pρX

))

ln (1 − p)
=

=
ln
(
e

−x
E(Y ) + pρX

)

ln(1 − p)
+ 1 =

ln
(
e

−xp
µ + pρX

)

ln(1 − p)
+ 1 := LGeom,5(x) � ± ª25 L �

� ��A$��'T�0ATX0��X
� ���x¢�®x��|��x���

K(p) =
ln(f(x, p))

ln(1 − p)
, ∀p ∈ (0, 1)

��{vr
0 < f(x, p) < 1

��� ¢�{vr���� � ¢����x��{ ���x¢�®x��|��x���g|����
p ª

 H 9��$%3�21TX
� ���x¢�®x��|��x���

f(x, p)
���xy~���~u�� ����r���®}t���r �p®x¢�w=����®}��yv{ |��x��t�r ��{x¢�¦}|��}|�{x�­¨ ���¥�v���vt�� {x�W��{}��¦�yv{

��{vr4|��x¢s{}���~r ���p|~r yv�p|��x� ª �bt���yv¤¥¢�wz��� ���x¢�®x��|��x��� f(x, p)
��� ¢�{vr${x© �����x��{p���x¢�®x��|��x���s|����

p
�

¬��}uv{x¬�� ��r {
p1 < p2 ⇒ f(x, p1) < f(x, p2) ª � {]{}t���¬���� �����xyv�s¦}|~r K(p1) > K(p2) ª ������©

p1 < p2 ⇒ 1 − p1 > 1 − p2 ⇒ ln(1 − p1) > ln(1 − p2) ⇒ 1
ln(1−p1)

< 1
ln(1−p2)

ª � ����{��
ln(f(x,p1))
ln(1−p1)

> ln(f(x,p1))
ln(1−p2)

> ln(f(x,p2))
ln(1−p2)

ª �bt���yv¤¥¢�wz� K(p1) > K(p2) ª�bt���yv¤¥¢�wz�«¦�����y�r ����¦}|��¥���p��� ¢�{vr |��l®x¢�w:����®}��yv{ ��r {�|��x¢«���x��®�|��x����©x¢����[|��x�¡���[wzyv�[|��~r ���x�
|�¦����lyv�[��{}uv©}|��¥������� ¢�{vr |�����®}|¥w=����®}��yv{ |��x��{x¢�{x¢��[wb|~r ���x�­���x¢�®x��|��x���x� ª
� A�9 'T����X ��N:; �(O `�gjP AbP^OeXbkrp A7CrO f�OZ�Z\xiQkmf7@qCrO"SMW�_�OQCrO kmfnAbP^� � A7CrO P^OQP^OQfcUr@�fcCrO P^O^pqgjfQ\
@BA�`qO"XZ\~gjXZ�aN�OQfQ\xP�gjP AbP^OeXbkdUrO

IFR
Ae_�Abfh\ @�S��
fQ\ �

L3(x) ≤ LGeom,4(x)
P^O�gjP
\<km_�OeXyP^O

x ≤
1 + 2pρX

ln(1−p)
− V ar(X)

µ2

1
µ

(
1 + p

ln(1−p)

) � ± ª25.= �

Kv¯



 H 9��$%3�21TX
�¡t�¦�|~r �­��¨ ¤¥����r � � 9 ª M ����{vr � ± ª25 ± ��t����s���~� �����x¢g|�{�����®}��yv{}|�{ L3

��{vr
LGeom,4

��¤¥¨ ���xyv� �

x

µ
+
V ar(X)

µ2
≤ 1 +

2pρX − x
E(Y )

ln(1 − p)
⇔

x

µ
+

x

E(Y )ln(1 − p)
≤ 1 +

2pρX

ln(1 − p)
− V ar(X)

µ2
⇔

x

(
1

µ
+

p

µln(1 − p)

)
≤ 1 +

2pρX

ln(1 − p)
− V ar(X)

µ2
⇔

x ≤
1 + 2pρX

ln(1−p)
− V ar(X)

µ2

1
µ

(
1 + p

ln(1−p)

)

¦vt����
1 +

p

ln(1 − p)
=
ln(1 − p) + p

ln(1 − p)
≥ 0

{x����©sr ��¨ ©x���x¢
�

• ��¢ 0 ≤ p ≤ 1
|�¦}|��

ln(1 − p) < 0

• � ���x¢�®x��|��x���
f(p) = ln(1 − p) + p

����� ¢�{vr���� � ¢����x��{�wz�­t������
p � 0 < p < 1

� ª ����{s��r {
p ≥ 0 ⇒ f(p) < 0

� 90A�����S�� >Y; �(O X1SMW�_�OeXZR5kmfnAbP^� ��A7CrO �Z\xP
�ZXxS&\~g UrO P^OQP^OQfcUr@�fcCrO P
gjXwuKXnt
]
fQvIA�`qO gjP AbP^OeXbkrp
Gamma(a,b)

D
a > 1
LnH3Ae_�Abf"AbX @B` kmfQv XsAbXbkrpqR

x0
A7CrO

L3(x)
gjP
\

LGeom,4(x)
Hr�Zv OQfnAbP
\:P^[Z_sAbX�O

A �q[ZX �
x0 = µ− µ

a

 H 9��$%3�21TX
�¡t�¦�|��x¢ � ± ª25.= � ��¤¥¨ ���xyv� �

x0 =
1 + 2pρX

ln(1−p)
− V ar(X)

µ2

1
µ

(
1 + p

ln(1−p)

) � ± ª25 M �

� � yxwz�­r ��¨ ©x���x¢W|�{s� ���x� �

• V ar(X)
µ2 = a/b2

a2/b2
= 1

a

• ρx = |γ − 1| =
∣∣∣ µ2

2µ2 − 1
∣∣∣ =

∣∣∣V ar(X)+µ2

2µ2 − 1
∣∣∣ =

∣∣∣V ar(X)
2µ2 + −1

2

∣∣∣ =
∣∣ 1
2a

− 1
2

∣∣ ª � ����{­¤¥¨ ���xyv�
|~r �­� ���x�­¬�©x��t��¥�~r tv|�£z����r � �

K 8



5xª ��¢ a > 1 � IFR
� � |�¦}|�� �

ρx = 1
2
− 1

2a

¯ ª ��¢ a < 1 � DFR
� ��|�¦}|�� �

ρx = 1
2a

− 1
2

�bt���yv¤¥¢�wz����� � ± ª25.= ����� ¢��[|�{vr �

x0 =
1 + p

ln(1−p)
− p

aln(1−p)
− 1

a

1
µ

(
1 + p

ln(1−p)

)

= µ− µ

a

�¡t�¦l|���t�¦��~r ��yv{ t����v��©}tv|���r�¦}|~r�|��l���xyv��� ��|���yv�x��|¥wz¢
L2(x)

��{vr
LGeom,4(x)

����� ¢�{vr �

5xª x0 = 0.5
��r {�|��

Gamma(2,2)

¯ ª x0 = 1
��r {�|��

Gamma(3,2)

8�ª x0 = 2.5
��r {�|��

Gamma(6,2)

9 ª x0 = 4.5
��r {�|��

Gamma(10,2)

��|�{ ��¨ �xyv{}|�{ ± ª25 �m± ª ¯ �m± ª 8 �m± ª 9 �z± ª ± ��uv¤[t����xyv��|�{ ����®}��yv{}|�{ LGeom,1

�
LGeom,2

�
LGeom,3

LGeom,4

�
LGeom,5

t���� t������x����{x¢g{}t�¦�|�{�{x¢�|~� ��|���r ¨ {s®x¢�w:|����
Brown ª  ¡{x��{}|��x����©xyv�Ktvwz�­¦����

t�r �«y�r ��������� ¢�{vr}�K|~r yv�K|��x�mt�r ��{x¢�¦}|��}|�{x�
p
�x|�¦�����t�r �«{}���~r ������� ¢�{vr~|�{¡����®}��yv{}|�{K|��x��{x¢�{x¢��[wb|~r ���x�

���x¢�®x��|��x���x� ª

K 9



1 2 3 4 5
time

1

2

3

4

� ¨ �xyv{�± ª25 � �$��{x��r ���;t�{x��®x��|�{x��� |�����®x¢�w�����®}��yv{}|����
LGeom,1

|����
Brown

yv�
Li ∼

Gamma(2, 2)
��r {

p = 0.01 � • � � p = 0.1 � • � � p = 0.2 � • � � p = 0.5 � • �

1 2 3 4 5
time

1

2

3

4

5

� ¨ �xyv{�± ª ¯ � �$��{x��r ���;t�{x��®x��|�{x��� |�����®x¢�w�����®}��yv{}|����
LGeom,2

|����
Brown

yv�
Li ∼

Gamma(2, 2)
��r {

p = 0.01 � • � � p = 0.1 � • � � p = 0.2 � • � � p = 0.5 � • �

Kv±



1 2 3 4 5
time

1

2

3

4

5

� ¨ �xyv{�± ª 8 � �$��{x��r ���;t�{x��®x��|�{x��� |�����®x¢�w�����®}��yv{}|����
LGeom,3

|����
Brown

yv�
Li ∼

Gamma(2, 2)
��r {

p = 0.01 � • � � p = 0.1 � • � � p = 0.2 � • � � p = 0.5 � • �

1 2 3 4 5
time

1

2

3

4

5

� ¨ �xyv{�± ª 9 � �$��{x��r ���;t�{x��®x��|�{x��� |�����®x¢�w�����®}��yv{}|����
LGeom,4

|����
Brown

yv�
Li ∼

Gamma(2, 2)
��r {

p = 0.01 � • � � p = 0.1 � • � � p = 0.2 � • � � p = 0.5 � • �

K L



5 10 15 20
time

-10

-5

5

10

15

20

� ¨ �xyv{�± ª ± � �$��{x��r ���;t�{x��®x��|�{x��� |�����®x¢�w�����®}��yv{}|����
LGeom,5

|����
Brown

yv�
Li ∼

Gamma(0.5, 2)
��r {

p = 0.01 � • � � p = 0.2 � • � � p = 0.4 � • � � p = 0.5 � • �

K =



���b� +���� ����%�� +-#
��|��x¢gt�{x��®}����{x��� {x�}|�� ��{x��r ��¦�yv�¥¢���r���|��x¢g{x¢~r ��¦}|��}|�{ � ± ª 9 � ��{��}t��~uv�~��� �����xyv�«|�{���®}|¥w ����®}� �
yv{}|�{s��r {l|��x¢ {x¢�{x¢��[wb|~r ���l���x¢�®x��|��x���s��|~r �«t��¥�~r tv|�£z����r �Wt����l����{}|�{x¢���yv��|����l¨ ��¦x¢����pyv�[|�{ ��©
|¥wz¢g{x¢�{x¢��[£z���[wz¢«{}���~uv���~������y�r {�{}t�¦�|~r ��t�{x��{}��®}|¥w=yv������¤¥���

• Gamma (IFR)

• §Y��� ����¯ �b�v���[|~r ��£z¢ �­{}|�{x¢���yx£z¢ (DFR)

• Weibull � 8 � 1
2

�

• Pareto � 8 � ¯ �

� �V��A$S�F���� �
� �z��|¥w �«¦}|~r¡��r¡�¥¢�¬~r ®xyv�¥����r¡¨ ��¦x¢���r

Xi

yv�[|�{ ��© |¥wz¢d{x¢�{x¢��[£z���[wz¢ {}���~uv���~����©x¢d|�� ��{}|�{x¢���yv�
Gamma(2,2)

� |�¦}|���r ��¨ ©x���x¢W|�{�� ���x���

5xª f(x) = 4e−2xx

¯ ª F (x) = 1 − e−2x(1 + 2x)

8�ª E(X) = 1

9 ª V ar(X) = 1
2

± ª Fe(x) = 1
E(X)

∫ x

0
F̄ (u)du = 1 − e−2x(1 + x)

L�ª U(t) = 3
4

+ e−4t

4
+ t � ��uv¤[t��� ¡{x��®x��|��xyv{ q �

§Y����®x���W|�{gt�{x��{}t�®x¢�w ¨ {x��{}��|��x�~r ��|~r ��®��}t��~uv�~��� �����xyv��|�{ � ���x�¡��®}|¥w:����®}��yv{}|�{g��r {g|��x¢«{x¢�{ �
¢��[wb|~r ���s���x¢�®x��|��x��� �

5xª �$�¥¢~r ��®���®}|¥w=����®}��yv{}|�{

� {	� � L1(x) = x
E(X)

= x

� �
� � LGeom,1(x) =
ln

[
e
− px

(1−p)µ + γp
1−p

]

ln[1−p]
=

ln

[
e
−px
1−p + 3p

4(1−p)

]

ln[1−p]
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¯ ª ������©g�W��{}|�{x¢���yv� Gamma(2,2)
{x¢��}����r ��|��x¢

IFR
��r ���~��¤¥¢���r {���{}|�{x¢���yx£z¢­yxt�������©xyv�¡¢�{

¨ ���x��r yv�vt���r �x�����xyv��|�{ t�{x��{}��®}|¥w=����®}��yv{}|�{ �

� {	� � L3(x) = x
E(X)

+ V ar(X)
(E(X))2

= x+ 1
2

� �
� � L9(x) = x
E(X)

+ V ar(X)F (x)
(E(X))2

+ F̄eq(x) = x + 1
2

+ e−2x

2

� ��� � LGeom,4(x) =
ln((1−p)( −x

E(Y )
+2ppX))

ln(1−p)
= 1 +

ln( −x
E(Y )

+2ppX)
ln(q)

= 1 +
p
2
−px

ln[1−p]

��� � ¨ �xyv{ ± ª L ��{vrz�  �� ¢�{}��{x� ± ª25 yv{x�lt�{x�����x��r ® �����x¢ |�� ���xyxt��¥�~r ������® |¥wz¢Y����{}��yv®}|¥wz¢

L1

��{vr
LGeom,1

��r {Y¬~r ®x�������¥��|~r yv¤¥� |��x� t�{x��{xyv¤[|������ � t�r ��{x¢�¦}|��}|�{x� � p
¦}|�{x¢l� ��{}|�{x¢���yv� |����

¨ ��¦x¢����]yv�[|�{ ��© |¥wz¢ {x¢�{x¢��[£z���[wz¢l{}���~uv���~����� |�� ��{}|�{x¢���yv�
Gamma(2,2) ª  ¡{x��{}|��x����©xyv��¦}|~r

¦���� {x� ��®x¢��[|�{vr4� |~r yv� |����
p
|�¦���� ¨ ��r ���}|��¥���¥©x��r � ���xyxt��¥�~r ������® |����

LGeom,1 ª �bt�r tvuv¤¥�x¢p��r {¤¥¢�{gy�r ����¦�¨ ���x¢~r ��¦�¬~r ®x��|��xyv{«��©x��w {}t�¦ |��syv�x¬�¤¥¢���{vr����}� ���[���~r yv¤¥¢�{g��r {W|�� � °�� ° ª M �b|�� LGeom,1¤¥¨ ��r�{x��¢��}|~r ��¤¥�¡|~r yv¤¥� ª ����¬~r ®x��|��xyv{g{x�}|�¦�y�r ����{v� ¢���r�¦������g|~r yv�g|���� p tvuv�x��r ® ����r�|���yv�x¬�¤¥¢ ª ���
¨ {x��{}��|��x�~r ��|~r ��¦�{x�}|�¦K��®x¢���r�|������}� ���[���~r yv¤¥¢�������®}��yv{ ���¥¢~r ��®¡{}��{}|�®}uxuv�}uv����r { |��x¢mt�������¤[� ��r ���
|��x� � ���[|~r ���x� �­{x¢�{x¢��[wb|~r ���x�����x¢�®x��|��x���x� ª ��¤[uv������� ¢�{vr ��{x¢��¥��¦ tvwz��|�� L1

��� ¢�{vr yv�[��{}uv©}|��¥���
{}t�¦ |��

LGeom,1

��r {Y¦~uv�¥��|~r ��¨ ���x¢~r ��¤¥�l��|~r ��yv¤¥� ª �bt���yv¤¥¢�wz�lyv�[|�{ ��© |¥wz¢p¬�©x� ����{}��yv®}|¥wz¢l|��
��{}uv©}|��¥�������xyxt��¥�~r ������®�¤¥¨ ��r�|��

L1 ª��{l��¨ �xyv{}|�{�± ª�= ��± ª M ��± ª K���± ª25 °s��{vr��  �� ¢�{}��{x�W± ª ¯�t�{x�����x��r ® �����x¢ |��x¢g|���¦vt��puv��r |����x����� {x�
|¥wz¢p����{}��yv®}|¥wz¢

L3

�
L9

��{vr
LGeom,4

��r {Y¬~r ®x�������¥�s|~r yv¤¥�s|��x��t�{x��{xyv¤[|������
p ª � �}� ���[���~r yv¤¥¢�{

t�{x��{}|��x����©xyv� tvwz�z¦����Kt�r ��y�r ����¦���� ¢�{vr���� ¢�{vr�|��
p
|�¦����K��{}uv©}|��¥��� ��� ¢�{vr�� ���xyxt��¥�~r ������® |����K����®}� �

yv{}|����
LGeom,4 � ��{vr����[ux|~r £z¢��[|�{vr ¦���� t��¥��¢�®x��r4� ¨ ��¦x¢���� � ª ��|��x¢s �� ¢�{}��{ ± ª ¯s��{vr |�{ � ¨ �xyv{}|�{± ª�= � ± ª M t�{x��{}|��x����©xyv�Wtvwz�g|�� LGeom,4

���xyxt�� tv|���r � yv�Wt�������¤[� ��r ���pt�¤¥¢�|��g¬��[��{x¬~r ��£z¢ ���x��� wz¢��
yv��|�� ��®}|¥w�����®}��yv{

L3

�m��r { y�r ����¤¥�p|~r yv¤¥�p|����
p
��{}��¦�yv{ ��{vrz{x¢Y|��

x
��� ¢�{vrz��¨ �[|~r ��® y�r ����¦ ª

� r {gt�r �lyv�[��®}uv�¥�¡|~r yv¤¥��|��x�¡t�{x��{xyv¤[|������
p
|�{ ����®}��yv{}|�{

L3

��{vr
LGeom,4

|�¤¥yv¢��x¢�|�{vr ��|��s���xyv��� �

x0 = 0.5 ª ���p|�yv�xyv{ |���� LGeom,4

t���� ���~� �����[|�{vr�¬�� �~r ®�{}t�¦l|�� ���xyv��� �l|���yv�x�«��� ¢�{vr�t�r � {}���~r ���
{}t�¦«|��«{x¢�|~� ��|���r ¨ �W|����

L3

�v�¥¢�£ ��r {�|��«����yvyv®}|~rxt����K���~� �����[|�{vrv{x�~r ��|��¥��®­r ��¨ ©x��rx|��W{x¢�|~� ��|�������� ª
�bt�� ���x����� ¢�{vr��¥yv��{x¢�¤¥�¡tvwz��¦�����{x� ��®x¢��[|�{vr �g|~r yv�g|����

p
� |�¦����st�r �l{}���~r ���g��� ¢��[|�{vr |���{x�~r ��|��¥��¦

|�yv�xyv{s{}uxuv®s{}t�¦l|��x¢g®}uxuv�syv�¥�~r ®s|��p¬�� �~r ¦p����yvyv®}|~r�{}t��v��|�®x��r�¬�©x��¨ ���x��|������xyxt��¥�~r ������® ª �bt����
yv¤¥¢�wz�­|��

LGeom,4

��r {�yv�[��®}uv�¥��|~r yv¤¥�­|��x��t�r ��{x¢�¦}|��}|�{x�
p
yxt���������¢�{s¨ ���x��r yv�vt���r �~������yv¦x¢��l��r {

����{x¨ �x¨ ��¦x¢~r �¥�Kt����}��uv¤�����r � ª ��� L9

��� ¢�{vr�|��g��®}|¥w ����®}��yv{«t����«t�{x�����x��r ® ����r����x¢��~u�r ��®W|��­��{}uv© �
|��¥���«���xyxt��¥�~r ������®«��� ��¨ ¤¥���«yv� |�{

L3

��{vr
LGeom,4

|����}uv®x¨�r ��|��x¢���r {«y�r ����¤¥�K|~r yv¤¥��|����
x ª � �b|���r

��r { |�� ���}� ���[���~r yv¤¥¢�� ��{}|�{x¢���yv� t���� � ���[|�® �����xyv� {x¢
x < 5.7

|�¦}|��g|��
L9

� ¤¥¨ ��r$|��p��{}uv©}|��¥���
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���xyxt��¥�~r ������®g���K��¨ ¤¥���gyv��|�{g®}uxuv{g¬�©x������®}��yv{}|�{�� �¥¢�£ ��r {g|~r yv¤¥�¡|����
x
yv�[��{}uv©}|��¥���¥�K|�����± ª�=

��{vr$��r {
p = 10−6

���xyxt�� tv|���r4yv� {x�}|�® � yv� {}���~� ����r { t�¤¥¢�|��g¬��[��{x¬~r ��£z¢����x��� wz¢�� ª ��{ ��¨ �xyv{}|�{
± ª25:9 ��± ª25 ± ����{vr��  �� ¢�{}��{x�g± ª 8 yv{x�W��{x¢��¥��£z¢����x¢ ¦}|~r����~r {}��®l��r {s|~r yv¤¥�«|���� p

t����s|���� ¢����x¢���|��
yv�x¬�¤¥¢ � 10−12

��{vr
10−14

�$|��«����®}��yv{
LGeom,4

��� ¢��[|�{vr}t�r �«yv�[��®}uv�­{}t�¦­|�{
L3

��{vr
L9 � yv�m{}���~� ����r {t�¤¥¢�|���¬��[��{x¬~r ��£z¢����x��� wz¢�� {}��¦�yv{���{vrx��r {���¨ �[|~r ��®�y�r ����¤¥��|~r yv¤¥��|����

x � ± ª 8 ��{vrv¯ ª K�{x¢�|~� ��|���r ¨ { � ª
� �[t�r uv�~���g|���� ¨ ���x¢~r ����©s¬~r {x��|��xyv{}|����Kt���� ¨ ���x��r yv�vt���r ��� |�{vr���|�{g¬~r {}����®xyvyv{}|�{g¤[��r ¢��Kyv�¡�����vt�¦
|��x¢p��{}uv©}|��¥���Yt�{x�����x��� {x���Y|����x� ª ��¤[uv���l��|�{ � ¨ �xyv{}|�{ ± ª2535 �z± ª25 ¯ �z± ª25 8 �"t�{x��{}|��x����©xyv� tvwz�
¦����l{x� ��®x¢��[|�{vr�� |~r yv�g|��x��t�{x��{xyv¤[|������

a
��¦}|�{x¢g� ��{}|�{x¢���yv� |����s¨ ��¦x¢����syv�[|�{ ��©g|¥wz¢g{x¢�{x¢��[£ �

���[wz¢W{}���~uv���~������|��x¢­��{}|�{x¢���yv�
Gamma(a,b)

� |�¦����st�r �p¬�� �~r ®�yv�[|�{}|��vt�� ���[|�{vr���|��x¢W® ���x¢�{ |����
¨ ��¦x¢����l|�� ���xyv��� � |���yv�x�W|¥wz¢

L3

��{vr
LGeom,4 ª �bt���yv¤¥¢�wz�g|�� LGeom,4

t�{x��{xyv¤¥¢���r�yv�[��{}uv©}|��¥���
{}t�¦�|��

L3

��r {�t��¥�~r ����¦}|��¥���l¨ ��¦x¢�� ª
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time
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� ¨ �xyv{ ± ª L � �$��{x��r ���-t�{x��®x��|�{x��� |¥wz¢
U(x) � • � � L1(x) � • � � LGeom,1(x) � • � � p = 0.1

� �
LGeom,1(x) � • � � p = 0.2

� �
LGeom,1(x) � • � � p = 0.5

����r {�|��
Gamma(2,2)
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� ¨ �xyv{�± ª�= ���$��{x��r ���¡t�{x��®x��|�{x����|¥wz¢ U(x) � • � � L3(x) � • � � LGeom,4(x) � • �4��r {K|�� Gamma(2,2)yv�
p = 0.01 ª  ¡{x��{}|��x����©xyv�¡tvwz��|�{�����®}��yv{}|�{ L3(x)
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���xyxt�� tv|����x¢ ª
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time
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� ¨ �xyv{�± ª M ���$��{x��r ���¡t�{x��®x��|�{x����|¥wz¢ U(x) � • � � L3(x) � • � � LGeom,4(x) � • �4��r {K|�� Gamma(2,2)yv�
p = 0.1
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U(x) � • � � L3(x) � • � � LGeom,4(x)(p = 0.01) � • � �

LGeom,4(x)(p = 0.1) � • � � LGeom,4(x)(p = 0.3) � • � LGeom,4(x)(p = 0.5)
� � • � LGeom,4(x)(p =

0.8) � • � � L9(x)(−−)
��r {�|��

Gamma(2,2)
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� ¨ �xyv{ ± ª25 ° � �$��{x��r ��� t�{x��®x��|�{x��� |¥wz¢
U(x) � • � � L3(x) � • � � LGeom,4(x)(p = 0.01) � • � �

LGeom,4(x)(p = 0.1) � • � � LGeom,4(x)(p = 0.3) � • � LGeom,4(x)(p = 0.5)
� � • � LGeom,4(x)(p =

0.8) � • � � L9(x)(−−)
��r {�|��

Gamma(2,2)
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U(x) � • � � L3(x) � • � � LGeom,4(x)(p = 0.01) � • � �

LGeom,4(x)(p = 0.1) � • � � LGeom,4(x)(p = 0.3) � • � LGeom,4(x)(p = 0.5)
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Gamma(3,2)
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U(x) � • � � L3(x) � • � � LGeom,4(x)(p = 0.01) � • � �

LGeom,4(x)(p = 0.1) � • � � LGeom,4(x)(p = 0.3) � • � LGeom,4(x)(p = 0.5)
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Gamma(6,2)
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U(x) � • � � L3(x) � • � � LGeom,4(x)(p = 0.01) � • � �

LGeom,4(x)(p = 0.1) � • � � LGeom,4(x)(p = 0.3) � • � LGeom,4(x)(p = 0.5)
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x U(x) L1(x) LGeom,1(x)(p = 10−6) LGeom,1(x)(p = 10−1)° 5 ° � ° ª�= ± � ° ª�= ±&K = ° 8° ª25 5xª ° 5.= ± M ° ª25 � ° ª L ± � ° ª L3L ¯ 8 K3K° ª ¯ 5xª ° L ¯ 838 ° ª ¯ � ° ª ±x± � ° ª ± L ± 5.= K° ª 8 5xª25 ¯x± 8 ° ª 8 � ° ª 9 ± � ° ª 9TL3M ° 9T8° ª 9 5xª ¯}°x° 9]= ° ª 9 � ° ª 8 ± � ° ª 8T= °3K3K 9° ª ± 5xª ¯ M383M38 ° ª ± � ° ª ¯x± � ° ª ¯ = 9 ° 8° ª L 5xª 8T= ¯ L3M ° ª L � ° ª25 ± � ° ª25.=3= 5 ± 9° ª�= 5xª 9TL ±x¯ ° ª�= � ° ª °v±}°x°x°x° 8 � ° ª ° M ° 83L ± M° ª M 5xª ± L ° 5 K ° ª M ° ª ° 9 K3K3K3K = ° ª ° 5 L3838383L° ª K 5xª L ± L3M38 ° ª K ° ª25 ± ° ª2535 ¯&K 9T8
5 5xª�= ± 9 ± M 5 ° ª K ° ª ¯}°3K 9TL38¯ ¯ ª�= ±}°x° M ¯ 5xª ¯x± 5xª25 L K 9 K
8 8�ª�= ± 8 ¯ ª ¯x± ¯ ª2535 Kv± 5
9 9 ª�= ± 9 8�ª ¯x± 8�ª °v± M ±&K± ± ª�= ± ± 9 ª ¯x± 8�ª K M ± = 9
5 ° 5 ° ª�= ± 5 ° K ª ¯x± M�ª 9 ° 9 °v±¯}° ¯}° ª�= ± ¯}° 5 K ª ¯x± 5 ± ª LT=3=&M±}° ±}° ª�= ± ±}° 9 K ª ¯x± ¯ 8�ª25 ± 939

 �� ¢�{}��{x�«± ª25 �
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x U(x) L3(x)
LGeom,4(x)

p = 10−6 L9(x)
LGeom,4(x)

p = 10−1
LGeom,4(x)

p = 10−5° 5 ° ª ± ° ª ± 5 ° ª ±x¯x± 9T8 K ° ª ±}°x°x°x° 8° ª25 5xª ° 5.= ± M ° ª L ° ª L 5xª °x°3K 8T= ° ª L ¯}° 8 ± 5 ° ª L °x°x°x°v¯° ª ¯ 5xª ° L ¯ 838 ° ª�= ° ª�= 5xª ° 8 ± 5 L ° ª�= 5 ±x¯ L38 ° ª�= °x°x°x°v¯° ª 8 5xª25 ¯x± 8 ° ª M ° ª M 5xª ° = 939�5 ° ª M$5 ° 5.=&L ° ª M °x°x°x° 5° ª 9 5xª ¯}°x° 9]= ° ª K ° ª K 5xª25 ¯ 9TL3L ° ª Kx°v±}° M3M ° ª Kx°x°x°x° 5° ª ± 5xª ¯ M383M38 5 5 5xª25 M38 K 9 5 5
5 5xª�= ± 9 ± M 5xª ± 5xª ± 5xª ± LT=&LT= 5xª 9]= 9 ± L 5xª ±¯ ¯ ª�= ±}°x° M ¯ ª ± ¯ ª ± ¯ ª ±}°3K 5 L ¯ ª 9 ¯ 83L3M ¯ ª 9 K3K3K3K
8 8�ª�= ± 8�ª ± 8�ª ± 8�ª ±}° 5 ¯ 9 8�ª 8T= ¯ M$5 8�ª 9 K3K3K3K
9 9 ª�= ± 9 ª ± 9 ª ± 9 ª ±}°x° 5.= 9 ª 8 ¯ 5 K 8 9 ª 9 K3K3K M± ± ª�= ± ± ª ± ± ª ± ± ª ±}°x°x°v¯ ± ª ¯ = 5 °v± ± ª 9 K3K3K M± ª ± L�ª ¯x± L L L�ª °x°x°x° 5 ± ª�= 9 ± L$5 ± ª K3K3K3K3K =± ª�= L�ª 9 ± L�ª ¯ L�ª ¯ L�ª ¯}°x°x° 5 ± ª K 8 ± 939 L�ª25 K3K3K =± ª M L�ª ±x± L�ª 8 L�ª 8 L�ª 8 L�ª ° 8 ° 8 ± L�ª ¯&K3K3K =± ª K L�ª L ± L�ª 9 L�ª 9 L�ª 9 L�ª25 ¯x±x¯ L L�ª 8 K3K3K =
L L�ª�= ± L�ª ± L�ª ± L�ª ± L�ª ¯x¯}° 5.= L�ª 9 K3K3K =
5 ° 5 ° ª�= ± 5 ° ª ± 5 ° ª ± 5 ° ª ± 5 ° ª ° 5 LT= 5 ° ª ±
5 °x° 5 °x° ª�= ± 5 °x° ª ± 5 °x° ª ± 5 °x° ª ± Kv± ª 9T8T=3= 5 °x° ª ±
5 °x°x° 5 °x°x° ª�= ± 5 °x°x° ª ± 5 °x°x° ª ± 5 °x°x° ª ± K 9 K ª L&9TM 5 °x°x° ª ±¯}°x°x° ¯}°x°x° ª�= ± ¯}°x°x° ª ± ¯}°x°x° ª ± ¯}°x°x° ª ± 5 M K M�ª�=3= ¯}°x°x° ª 9 K±}°x°x° ±}°x°x° ª�= ± ±}°x°x° ª ± ±}°x°x° ª ± ±}°x°x° ª ± 9]= 9TL�ª25:9 ±}°x°x° ª 9TM
5 °x°x°x° 5 °x°x°x° ª�= ± 5 °x°x°x° ª ± 5 °x°x°x° ª ± 5 °x°x°x° ª ± K 9 K 5xª�= ± 5 °x°x° ª ±

 �� ¢�{}��{x�«± ª ¯ �

5 ° =



x U(x) L3(x)
LGeom,4(x)

p = 10−14 L9(x)
LGeom,4(x)

p = 10−12° 5 ° ª ± ° ª 9 K3K L 5 ° ª 9 K3K3K M K° ª ± 5xª ¯ M383M38 5 5 5xª25 M38 K 9 ° ª25
5 5xª�= ± 9 ± M 5xª ± 5xª ±}°x° 9 5xª ± LT=&LT= 5xª ±}°x°x° 5¯ ¯ ª�= ±}°x° M ¯ ª ± ¯ ª ±}° 5 ¯ ¯ ª ±}°3K 5 L ¯ ª ±}°x°x° 8¯ ª�= 8�ª 9 ±}°x° 5 8�ª ¯ 8�ª ¯}° 5.=&L 8�ª ¯}°v¯x¯ L 8�ª ¯}°x°x°v±¯ ª M 8�ª ±x± 8�ª 8 8�ª 8 ° 5 M&9 8�ª 8 ° 5 M ± 8�ª 8 °x°x°v±¯ ª K 8�ª L ± 8�ª 9 8�ª 9 ° 5 Kv¯ 8�ª 9 ° 5 ± 5 8�ª 9 °x°x°v±
8 8�ª�= ± 8�ª ± 8�ª ±}°v¯ 8�ª ±}° 5 ¯ 9 8�ª ±}°x°x° L
9 9 ª�= ± 9 ª ± 9 ª ±}°v¯ M 9 ª ±}°x° 5.= 9 ª ±}°x°x° M± ± ª�= ± ± ª ± ± ª ±}° 83L ± ª ±}°x°x°v¯ ± ª ±}°x° 5± ª ¯ ± ª Kv± ± ª�= ± ª�= ° 8T=&L ± ª�= °x°x°v¯ ± ª�= °x° 5± ª 8 L�ª °v± ± ª M ± ª M ° 83M&9 ± ª M °x°x° 5 ± ª M °x° 535
L L�ª�= ± L�ª ± L�ª ±}° 939 L�ª ± L�ª ±}°x° 5 ¯
= =�ª�= ± =�ª ± =�ª ±}°v±x¯ =�ª ± =�ª ±}°x° 5:9
M M�ª�= ± M�ª ± M�ª ±}° L M�ª ± M�ª ±}°x° 5.=K K ª�= ± K ª ± K ª ±}° L3M K ª ± K ª ±}°x° 5 K
5 ° 5 ° ª�= ± 5 ° ª ± 5 ° ª ±}° =&L 5 ° ª ± 5 ° ª ±}°x°v¯¯}° ¯}° ª�= ± ¯}° ª ± ¯}° ª ± 5 ± L ¯}° ª ± ¯}° ª ±}°x° 9
8 ° 8 ° ª�= ± 8 ° ª ± 8 ° ª ±x¯ 83L 8 ° ª ± 8 ° ª ±}°x° =
9 ° 9 ° ª�= ± 9 ° ª ± 9 ° ª ± 8$5 L 9 ° ª ± 9 ° ª ±}°x°3K±}° ±}° ª�= ± ±}° ª ± ±}° ª ± 8 K L ±}° ª ± ±}° ª ±}° 535
L ° L ° ª�= ± L ° ª ± L ° ª ± 9]=&L L ° ª ± L ° ª ±}° 5 8
= ° = ° ª�= ± = ° ª ± = ° ª ±x±x± L = ° ª ± = ° ª ±}° 5 ±
M ° M ° ª�= ± M ° ª ± M ° ª ± L383L M ° ª ± M ° ª ±}° 5 MKx° Kx° ª�= ± Kx° ª ± Kx° ª ± = 5 L Kx° ª ± Kx° ª ±}°v¯
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F̄ (u)du = 1 − 1

10
e−7x(3 + 7e4x)

L�ª U(t) = 2 + 1
25

(105t− 4e−5t − 21) � ��uv¤[t��� ¡{x��®x��|��xyv{ q �

§Y�z��®x���¡|�{�t�{x��{}t�®x¢�w ¨ {x��{}��|��x�~r ��|~r ��®�|��x����{}|�{x¢���yv�x� ��{vrx|��«���[���x¢�¦�� ¦}|~rv��yv��� �����[�v���[|~r ��£z¢
��{}|�{x¢���yx£z¢ {x¢��}����r���|��x¢]��r ���~��¤¥¢���r {

DFR � ��uv¤[t�� Barlow
��{vr

Proschan � 5 K M$5 �����[u�� ¬�{ 8T= �
�}t��~uv�~��� �����xyv�­yv�¡|��W�����~����r { |������}t��~uv�~��r ��|~r ����©�t����~����®xyvyv{}|����

Mathematica
|�{�� ���x����®}|¥w

����®}��yv{}|�{ ��r {�|��x¢W{x¢�{x¢��[wb|~r �������x¢�®x��|��x��� �

5xª �$�¥¢~r ��® ��®}|¥w ����®}��yv{}|�{ � {}t�{vr |���©x¢�|��x¢�©}t�{x� ��� |¥wz¢l���vtv£z¢lyv¤¥¨ �~r$��{vr$¬��¥©}|��¥���x� |�® ���x���
µ2 = E(X2)

�

� {	� � L1(x) = x
E(X)

= 21x
5

� �
� � LGeom,1(x) =
ln

(
e
− x

E(Y0) + γp
q

)

ln(1−p)
=
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x U(x) L2(x) L8(x) L12(x) U11(x)° 5 5 5 � �
° ª25 5xª 9TM ¯&K L 5xª 9 ¯ 5xª 9TL3M3M ± 5xª 9TM$5.= 5 5xª 9TMT=3= ±° ª ¯ 5xª K 9�535:9 5xª M&9 5xª Kx°x° 939 5xª K 838T= 5xª Kv±x±}° M° ª 8 ¯ ª 83M&9T8 ¯ ª ¯ L ¯ ª 8$5 L3M ¯ ¯ ª 83L ±x± ¯ ª 9 ° =&8 ¯° ª 9 ¯ ª M$5 M38 ± ¯ ª L3M ¯ ª�= ¯ M ° M ¯ ª�=&M&9]=3= ¯ ª M&9TMT= 5° ª ± 8�ª ¯ 9TL3MT= 8�ª25 8�ª25 83M ±&K 8�ª25 K = ° = 8�ª ¯ M ¯ 9]=
5 ± ª 8 ± M Kv¯ ± ª ¯ ± ª ¯}°3K =&M ± ª ¯ 9 ¯x±x± ± ª 8 K MT= 9¯ K ª ±x±&K3K3K K ª 9 K ª 9 °x°v± K ª 9 ° 9�5.= K ª ± M&9]=3=¯ ª L 5 ¯ ª ° M 535xª Kv¯ 535xª Kv¯}° 5 535xª Kv¯}°3K 5 ¯ ª °3K M K¯ ª�= 5 ¯ ª ± 5 ¯ ª 8&9 5 ¯ ª 8&9 ° 5 5 ¯ 8&9 ° = 5 ¯ ª ± 5 M$5¯ ª M 5 ¯ ª Kv¯ 5 ¯ ª�=&L 5 ¯ ª�=&L 5 ¯ ª�=&L °v± 5 ¯ ª K 8T= 9¯ ª K 5 8�ª 8&9 5 8�ª25 M 5 8�ª25 M 5 8�ª25 M ° 9 5 8�ª 8 ± L3M
8 5 8�ª�=&L 5 8�ª L 5 8�ª L 5 8�ª L °x° 8 5 8�ª�=3=&L ¯
8�ª25 5:9 ª25 M 5:9 ª °v¯ 5:9 ª °v¯ 5:9 ª °v¯}°v¯ 5:9 ª25 Kv± L
8�ª ¯ 5:9 ª L 5:9 ª 939 5:9 ª 939 5:9 ª 939 °v¯ 5:9 ª L$5 ± 5
8�ª 8 5 ± ª °v¯ 5:9 ª M3L 5:9 ª M3L 5:9 ª M3L ° 5 5 ± ª ° 8&9TL
8�ª 9 5 ± ª 939 5 ± ª ¯ M 5 ± ª ¯ M 5 ± ª ¯ M ° 5 5 ± ª 9 ± 9�5
8�ª ± 5 ± ª M3L 5 ± ª�= 5 ± ª�= 5 ± ª�= °x° 5 5 ± ª MT=&8T=
8�ª L 5 L�ª ¯ M 5 L�ª25 ¯ 5 L�ª25 ¯ 5 L�ª25 ¯}° 5 5 L�ª ¯&K 838
8�ª�= 5 L�ª�= 5 L�ª ± 9 5 L�ª ± 9 5 L�ª ± 9 5 L�ª�= 5 ¯&K
8�ª M 5.=�ª25 ¯ 5 L�ª K L 5 L�ª K L 5 L�ª K L 5.= 5 8 ¯x±
9 5.=�ª K L 5.=�ª M 5.=�ª M 5.=�ª M 5.=�ª K = 5 K± ¯x¯ ª25 L ¯x¯ ¯x¯ ¯x¯ ¯x¯ ª25 L K 9
L ¯ L�ª ¯ ¯ L�ª ¯ ¯ L�ª ¯ ¯ L�ª ¯ ¯ L�ª 83LT=3=
= 8 ° ª 9 8 ° ª 9 8 ° ª 9 8 ° ª 9 8 ° ª ± L3L3L
5 ° 9T8 9T8 9T8 9T8 9T8�ª25 L&9 ±¯}° M ± M ± M ± M ± M ± ª25 L ¯x¯±}° ¯ 535 ¯ 535 ¯ 535 ¯ 535 ¯ 535xª25 L$5
5 °x°x° 9 ¯}° 5 9 ¯}° 5 9 ¯}° 5 9 ¯}° 5 9 ¯}° 5xª25 L¯}°x°x°x° M&9 °x° 5 M&9 °x° 5 M&9 °x° 5 M&9 °x° 5 M&9 °x° 5xª ¯
8 °x°x°x° 5 ¯ L ° 5 5 ¯ L ° 5 5 ¯ L ° 5 5 ¯ L ° 5 5 ¯ L ° 5xª25

 �� ¢�{}��{x�«± ª 9 �
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x LGeom,5(x)(p = 10−1) LGeom,5(x)(p = 10−2) LGeom,5(x)(p = 10−7)° ° ª M&9 K 8&9T8 ° ª M&9 °3Kv¯&K ° ª M&9° ª25 5xª ¯ 9�5 ± L 5xª ¯x± M$5 L 5xª ¯ L° ª ¯ 5xª L3838 ±x¯ 5xª LT= ± 83M 5xª L3M° ª 8 ¯ ª °v¯x± 5 K ¯ ª °3Kv¯ L ¯ ª25° ª 9 ¯ ª 9�5 L ± L ¯ ª ±}°3K M ¯ ¯ ª ±x¯° ª ± ¯ ª M ° =&L&9 ¯ ª Kv¯ = ° 9 ¯ ª K 9
5 9 ª�= ± = K L ± ª ° 5 8 ° M ± ª ° 9¯ M�ª L ¯ = ¯ 8 K ª25 M&9 K 8 K ª ¯ 9¯ ª L 5 ° ª Kv¯x¯ 8 535xª L3MT= K 535xª�=&L¯ ª�= 535xª 8 °v¯ 9 5 ¯ ª25 °v± 5 ¯ ª25 M¯ ª M 535xª L3M$5 M 5 ¯ ª ±x¯x¯x¯ 5 ¯ ª L¯ ª K 5 ¯ ª ° L ° 9 5 ¯ ª K 8 K 8 5 8�ª °v¯
8 5 ¯ ª 9T83M$5 5 8�ª 8 ± L ± 5 8�ª 939
8�ª25 5 ¯ ª M$5 ± 5 8�ª�=3=&83L 5 8�ª M3L
8�ª ¯ 5 8�ª25 K 535 5:9 ª25 Kx° M 5:9 ª ¯ M
8�ª 8 5 8�ª ± L3L ¯ 5:9 ª L ° = K 5:9 ª�=
8�ª 9 5 8�ª K 9 ° 9 5 ± ª °v¯x± 5 ± ª25 ¯
8�ª ± 5:9 ª 8$5 83L 5 ± ª 939 ¯ 5 ± ª ± 9
8�ª L 5:9 ª L3M ± M 5 ± ª M ±&K 8 5 ± ª K L
8�ª�= 5 ± ª °v± L K 5 L�ª ¯ =&L&9 5 L�ª 83M
8�ª M 5 ± ª 9 ¯ L K 5 L�ª L K 8 ± 5 L�ª M
8�ª K 5 ± ª�= Kv± M 5.=�ª2535 ° L 5.=�ª ¯x¯
9 5 L�ª25 L38 ± 5.=�ª ±x¯ =3= 5.=�ª L&9± 5 K ª�=&L3L ¯ 5xª L K M3L ¯ 5xª M&9
L ¯ 8�ª25 K L ± ¯x± ª M3L Kv¯ ¯ L�ª ° 9
= ¯ L�ª 8 K 9]= 8 ° ª ° 8 K 9 8 ° ª ¯ 9
5 ° 838�ª K = 5.= 9 ¯ ª ± 9]=&L 9 ¯ ª M&9¯}° 9 ° ª2535 ± 8 M&9 ª ¯ 535 ¯ M&9 ª M&9±}° 9 ° ª ¯ 9]=&M ¯}° M�ª L ± = ¯ 5 ° ª M&9
5 °x°x° 9 ° ª ¯ 9]=&M L&9�5xª ±x± 5 9 ¯}°x° ª M&9¯}°x°x°x° 9 ° ª ¯ 9]=&M L&9�5xª ±x± 5 M&9 °x° ª M
8 °x°x°x° 9 ° ª ¯ 9]=&M L&9�5xª ±x± 5 5 ¯ L ° 5

 �� ¢�{}��{x�«± ª ± �
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5xª f(x) = 3e−3
√

x

2
√

x

¯ ª F (x) = 1 − e−3
√

x

8�ª E(X) = µ = 2
9

9 ª V ar(X) = 20
81

± ª Fe(x) = 1
E(X)

∫ x

0
F̄ (x)dx = 1 − e−3

√
x(1 + 3

√
x)
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� {	� � L1(x) = x
E(X)
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2

� �
� � LGeom,1(x) =
ln
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E(Y0) + γp
q

)
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=

ln
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e

−9px
2(1−p) + 3p

1−p

)
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f(x) = pqn, n = 0, 1, 2, ...
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2
)
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� {	� � L2(x) = x
E(X)

+ 1 = 1 + 9x
2

� �
� � L8(x) = x
E(X)

+ F (x) + F̄e(x) = 1 + 3
√
xe−3

√
x + 9x

2

� ��� � LGeom,5(x) =
ln(q( −x

E(Y )
+pρX))

ln(1−p)
= 1 +

ln( −x
E(Y )

+pρX)
ln(1−p)

= 1 +
ln
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e
−9px

2 +2p

)

ln(1−p)
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DFR
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� {	� � L12(x) = 1 + x
E(X)

+ x(F (x)−Fe(x))∫ x
0 F̄ (t)dt

= e3
√

x(2+9x)−9x−6
√

x−2

2(e3
√

x−3
√

x−1)

535 ±



� �
� � U11(x) = 1 + x
E(X)

+
x

( ∫x
0 1−Fe(t)dt

E(X)
−Fe(x)

)

∫ x
0 Fe(t)dt

= e3
√

x(27x2+18x3/2+18x+12
√

x+4

2(2+6
√

x+6x+e3
√

x(2x−2))
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x L2(x) L8(x) L12(x) U11(x)° 5 5 � �
° ª25 5xª 9 ± 5xª M$5.=&83M ¯ ª25 ¯ 8T=&L ¯ ª 9]= ± 9�5° ª ¯ 5xª K ¯ ª ¯x±}° =&8 ¯ ª�= 5 83M&9 8�ª ¯x¯ L K 8° ª 8 ¯ ª 8 ± ¯ ª L3LT=&8 8�ª ¯x¯ =&83L 8�ª M3LT= ± =° ª 9 ¯ ª M 8�ª ° M&9 ± 8 8�ª�= °v± L3M 9 ª 9 ± 83M K° ª ± 8�ª ¯x± 8�ª ±}° 9 ¯&K 9 ª25 L&9 ¯x¯ ± ª °x° =&8&9
5 ± ª ± ± ª L&9 K 83L L�ª 838 Kv¯ L =�ª ± 8 K 83M
5xª ± =�ª�= ± =�ª M&9T8 ¯ 5 M�ª 9TL383M ¯ K ª Kx°v± 8&9¯ 5 ° 5 ° ª ° L$5 5 ° ª ±&K 8&9 5 ¯ ª ¯}° =3=
8 5:9 ª ± 5:9 ª ±x¯ M3M 5:9 ª Kx°v¯ 8 5 L�ª�=&8T= ¯
8�ª ± 5 L�ª�= ± 5 L�ª�=3= °v± 5.=�ª ° M ° M 5 M�ª K M ±&K
9 5 K 5 K ª ° 5:9 K 5 K ª ¯ = ¯ 9 ¯ 5xª ¯ 8 ° 8± ¯ 8�ª ± ¯ 8�ª ±}° M ¯ ¯ 8�ª L3M3L ¯x± ª�= 5 8$5
= 8 ¯ ª ± 8 ¯ ª ±}°v¯ M 8 ¯ ª ± M K L 8&9 ª LT=&L$5
5 ° 9TL 9TL�ª °x°x° = 9TL�ª ° 8 ¯ 9 9TM�ª25 838&9
535 ±}° ª ± ±}° ª ±}°x°v± ±}° ª ±x¯ 8 ± ±x¯ ª L ¯x¯ L
5 ¯ ±x± ±x± ª °x°x° 8 ±x± ª ° 5.= ¯ ± =�ª2535 8 ¯
5:9 L&9 L&9 ª °x°x° 5 L&9 ª °x°3K 9 L3L�ª °3K =&M
5.= =3=�ª ± =3=�ª ±}°x° 5 =3=�ª ±}° 9 = K ª ± M ° M
5 M M ¯ M ¯ M ¯ ª °x° 8$5 M&9 ª ° =&L383L
5 K M3L�ª ± M3L�ª ± M3L�ª ±}°v¯ 8 M3M�ª ± = ¯ 8¯}° K 5 K 5 K 5xª °x° 5 M K 8�ª ° L3M3L¯x± 535 8�ª ± 535 8�ª ± 535 8�ª ±}° 5 535 ± ª ±x±x±¯ L 535 M 535 M 535 M 5 ¯}° ª °v± 8¯ = 5 ¯x¯ ª ± 5 ¯x¯ ª ± 5 ¯x¯ ª ± 5 ¯ 9 ª ±x± 5
8 ° 5 83L 5 83L 5 83L 5 83M�ª ° 9 ±±}° ¯x¯ L ¯x¯ L ¯x¯ L ¯x¯ M�ª °v¯ =

 �� ¢�{}��{x�«± ª L �
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x LGeom,5(x)(p = 10−1) LGeom,5(x)(p = 10−2) LGeom,5(x)(p = 10−7)° � ° ª�=&8 ° 9 ± 9 � ° ª K = ° 8&9 ± � 5° ª25 � ° ª 8T= ± M3M ¯ � ° ª ± 8$5 8 K = � ° ª ±x±° ª ¯ � ° ª °v¯ 9 °v± M3M � ° ª °3Kv¯ 9TM3MT= � ° ª °3K3K3K3K3K° ª 8 ° ª 8 ¯ 9 K 838 ° ª 8&9TL383M$5 ° ª 8 ±° ª 9 ° ª LT= 5 ° 535 ° ª�=&M ±x¯ 535 ° ª M° ª ± 5xª ° 5:9 °3K 5xª ¯x¯ 9 5xª ¯x±
5 ¯ ª L3M$5 L3L 8�ª 9�5.=&83L 8�ª ±
5xª ± 9 ª ¯ L$5 K 9 ± ª L °3K = 5 ± ª�= ±¯ ± ª�= 9 ± =�ª M ° 5 °v¯ M
8 M�ª 83M ±&K 5 ¯ ª25 M °v± 5 ¯ ª ±
8�ª ± K ª ± 8$5 M3M 5:9 ª 83L3M ± 5:9 ª�= ±
9 5 ° ª ±x± M 5 L�ª ±x±x±x± 5.=± 5 ¯ ª ¯x± = K ¯}° ª Kv¯x±&K ¯ 5xª ±
= 5:9 ª 9T838 ¯&K ª L ¯x± 5 8 ° ª ±
5 ° 5 ± ª�=&L ¯x± 9 ¯ ª�= ° 5.= 939
535 5 ± ª K 9 ±x¯ 9]=�ª ° 8 K3K 9TM�ª ±
5 ¯ 5 L�ª ° L383L ± 5xª 8T= ¯ ± 8
5:9 5 L�ª25 M3M3M L ° ª ° 5 L ± L ¯
5.= 5 L�ª ¯x± L = ¯ ª Kv¯&K = = ± ª ±
5 M 5 L�ª ¯ L$535 =3=�ª ¯ 5 MT= M °
5 K 5 L�ª ¯ L3L&9 M$5xª 9 K3K 8 M&9 ª ±¯}° 5 L�ª ¯ L K = M ± ª�=3= 5 8 M K¯x± 5 L�ª ¯ = 9 K 5 ° L�ª K M3M 53535xª ±¯ L 5 L�ª ¯ = ± 5 53535xª ¯ 535 L¯ = 5 L�ª ¯ = ± 8 535 ± ª 9 ° 5 5 ¯}° ª ±
8 ° 5 L�ª ¯ = ±x± 5 ¯ =�ª Kv¯&K 5 8&9±}° 5 L�ª ¯ = ±x± ¯}° =�ª ± M ± ¯x¯ L

 �� ¢�{}��{x�«± ª�= �

x p L2(x) L8(x) LGeom,5(x)(p = 10−2) L12(x) U11(x)° ° ª ° 5 5 5 � ° ª K = ° 8&9 ± � �
° ª25 ° ª25 5xª 9 ± 5xª M$5.=&83M � ° ª 8T= ± M3M ¯ ¯ ª25 ¯ 8T=&L ¯ ª 9]= ± 9�5° ª ± ° ª25 8�ª ¯x± 8�ª ±}° 9 ¯&K 5xª ° 5:9 °3K 9 ª25 L&9 ¯x¯ ± ª °x° =&8&9° ª K ° ª25 ± ª °v± ± ª ¯ 5 ±x¯ M ¯ ª 8 ± 9TM$5 ± ª K 535 M K =�ª °v±x¯x¯ 5
5 ° ª ° 5 ± ª ± ± ª L&9 K 83L 8�ª 9�5.=&83L L�ª 838 Kv¯ L =�ª ± 8 K 83M
5 ° ª25 ± ª ± ± ª L&9 K 83L ¯ ª L3M$5 L3L L�ª 838 Kv¯ L =�ª ± 8 K 83M
5 ° ª K ± ª ± ± ª L&9 K 83L ° ª�= 9 °v± 939 L�ª 838 Kv¯ L =�ª ± 8 K 83M¯ ° ª25 5 ° 5 ° ª ° L$5 ± ª�= 9 ± 5 ° ª ±&K 8&9 5 ¯ ª ¯}° =3=± ° ª25 ¯ 8�ª ± ¯ 8�ª ±}° M ¯ 5 ¯ ª ¯x± = K ¯ 8�ª L3M3L ¯x± ª�= 5 8$5± ° ª ° 5 ¯ M ¯ M�ª °x° 9]= ¯x± ª ¯&K 5 ± ¯ M�ª25 ¯ M&9 8 ° ª25 K 9 ¯
5 ° ° ª ° 5 9TL 9TL�ª °x°x° = 9 ¯ ª�= ° 5.= 9TL�ª ° 8 ¯ 9 9TM�ª25 838&9¯}° ° ª ° 5 K 5 K 5 M ± ª�=3= 5 8 K 5xª °x° 5 M K 8�ª ° L3M3L±}° ° ª ° 5 ¯x¯ L ¯x¯ L ¯}° =�ª ± M ± ¯x¯ L ¯x¯ M�ª °v¯ =

 �� ¢�{}��{x�«± ª M �
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Pareto(3,2)

� �z��|¥w �«¦}|~r¡��r¡�¥¢�¬~r ®xyv�¥����r¡¨ ��¦x¢���r
Xi

yv�[|�{ ��© |¥wz¢d{x¢�{x¢��[£z���[wz¢ {}���~uv���~����©x¢d|�� ��{}|�{x¢���yv�
Pareto ª ��¦}|��­r ��¨ ©x���x¢W|�{�� ���x���

5xª f(x) = 3·23

(2+x)3+1

¯ ª F (x) = 1 − 8
(2+x)3

8�ª E(X) = 1

9 ª V ar(X) = 3

± ª Fe(x) = 1
E(X)

∫ x

0
F̄ (x)dx = 1 − 4

(2+x)2

L�ª � {x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���g¬��¥¢gyxt���������¢�{s�}t��~uv�~��r ��|���������{x¢�{}uv�}|~r ����yv������� ª
§Y� ��®x��� |�{�t�{x��{}t�®x¢�w]¨ {x��{}��|��x�~r ��|~r ��®�|��x�b��{}|�{x¢���yv�x�z��{vr�|��¡���[���x¢�¦���¦}|~r~����{}|�{x¢���yv�

Pareto
{x¢��}����rz��|��x¢ ��r ���~��¤¥¢���r {

DFR
�}t��~uv�~��� �����xyv�p|�{ � ���x�p��®}|¥w�����®}��yv{}|�{]��r { |��x¢Y{x¢�{x¢��[wb|~r ���

���x¢�®x��|��x��� �

5xª �$�¥¢~r ��®���®}|¥w=����®}��yv{}|�{

� {	� � L1(x) = x
E(X)

= x

� �
� � LGeom,1 =
ln

(
e
− t

E(Y0) + γp
q

)

ln(1−p)
=

ln

(
e
−px
1−p + 2p

1−p

)

ln(1−p)

��¦vt����
Y0

{}���~uv���~�����"|�� ���[wzyv�[|��~r ���
��{}|�{x¢���yv�syv�����x¢�®x��|��x���gt��}��¢�¦}|��}|�{x�

f(x) = pqn, n = 0, 1, 2, ...

¯ ª � ��{}|�{x¢���yv� Pareto
{x¢��}����r���|��x¢

DFR
��r ���~��¤¥¢���r {l��{}|�{x¢���yx£z¢ �[t���yv¤¥¢�wz�«yxt�������©xyv�­¢�{

¨ ���x��r yv�vt���r �x�����xyv��|�{ t�{x��{}��®}|¥w=����®}��yv{}|�{ �

� {	� � L2(x) = x
E(X)

+ 1 = 1 + x

� �
� � L8(x) = x
E(X)

+ F (x) + F̄eq(x) = 8+24x+18x2+7x3+x4

(2+x)3

� ��� � LGeom,5(x) =
ln(q( −x

E(Y )
+pρX))

ln(1−p)
= 1 +

ln( −x
E(Y )

+pρX)
ln(1−p)

=
ln(e−px+p)

ln(1−p)
+ 1

8�ª q�©x� �[t�r tvuv¤¥�x¢p����®}��yv{}|�{pt����v��©}tv|����x¢ {}t�¦]|��]���[���x¢�¦��s¦}|~r$��®~��� DFR
��{}|�{x¢���yv� ¤¥¨ ��r

��� � ¢����x��{ {x¢�{x¢��[wb|~r ����t��}��¢�¦}|��}|�{ ª

� {	� � L12(x) = 1 + x
E(X)

+ x(F (x)−Fe(x))∫ x
0 F̄ (t)dt

= 8+18x+7x2+x3

8+6x+x2
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� �
� � U11(x) = 1 + x
E(X)

+
x

( ∫x
0 1−Fe(t)dt

E(X)
−Fe(x)

)

∫ x
0 Fe(t)dt

= 2+4x+x2

2+x

� � tvwz�K��{vr���|��x¢¡t��¥�~� tv|¥wz���Wt����W�«��{}|�{x¢���yv�«|¥wz¢��¥¢�¬~r ®xyv�¥��wz¢�¨ ��¦x¢�wz¢­{x¢�{x¢�¤[wz���x��{}���~uv��� �
����©x��� |��

Weibull(3,1
2
)
|��W���¥¢~r ��¦ ��®}|¥w ����®}��yv{

LGeom,1

t�{x�����x��r ® ����r�{x��¢��}|~r ��¤¥��|~r yv¤¥� ��r {Wy�r {
{x�����[|�®«yv�[��®}uv��t��¥�~r �}¨ �W|����Wyv�x¬��¥¢�¦�� � � ¨ �xyv{W± ª ¯ 8 �"��{vr��[t�r tvuv¤¥�x¢¡t�{x��{xyv¤¥¢���r�y�r ����¦}|��¥��� {}t�¦W|��
{x¢�|~� ��|���r ¨ ��yv�g{x��¢��}|~r ��¦

L1 � � ¨ �xyv{�± ª ¯x¯ � ª �bt���yv¤¥¢�wz�¡|�� L1

�}t��¥��|��¥����� ���K{}���~� ����r { ���K��¨ ¤¥���
yv�¡|��

LGeom,1 ª��|��x¢  �� ¢�{}��{K± ª25 ° ��{vr�|�{¡� ¨ �xyv{}|�{K± ª ¯x¯ �}± ª ¯ 8 t�{x��{}|��x����©xyv� tvwz�b��r {�|~r yv¤¥�"|���� x y�r ����¦}|��¥���¥�
|���� ° ª�= |��Y����®}��yv{ LGeom,5

��� ¢�{vr4��� � ¢����x��{p���x¢�®x��|��x���s|����
p
�$�¥¢�£ ��r {

x
yv�[��{}uv©}|��¥��� � � ���

|����d° ª�= ��� ¢�{vr {x© �����x��{ ���x¢�®x��|��x��� |���� p ª �bt�� ���x�]|�� LGeom,5

¤¥¨ ��r t��~uv© y�r ����¤¥� |~r yv¤¥�]���
��¨ ¤¥���­yv� |�{­�}t�¦~uv��r t�{g����®}��yv{}|�{���r {­|~r yv¤¥� |����

x
y�r ����¦}|��¥���¥��|��x��yv�x¢�®x¬�{x�����¥¢�£ ¦����g� ¨ ��¦x¢����

{x� ��®x¢��[|�{vrzt��������[� ��� ����r r ��{x¢��vt���r �}|~r ��®d|~r � |~r yv¤¥� |¥wz¢
L2

��{vr
L8 ª ��|��x¢  �� ¢�{}��{ ± ª K ��{vr�|����¨ �xyv{p± ª ¯ 9 �4��{v� ¢��[|�{vr tvwz�W|�� L12

¤¥¨ ��r |��x¢�t�r �Y{}���~r ��� ���xyxt��¥�~r ������®p���W��¨ ¤¥���lyv�W|�{
L2

��{vr
L8 ª � �xyv{x¢�|~r ��¦]��� ¢�{vr4¢�{ {x¢�{x��¤¥�����xyv�W¦}|~r$�p¬~r {x������®p|¥wz¢�����{}��yv®}|¥wz¢ U11

��{vr
L12

t�{x��{xyv¤¥¢���r
y�r ����¦}|��¥���p|��x�gyv�x¢�®x¬�{x�g��r { ¦~uv�l|��p¨ ���x¢~r ��� ¬~r ®x������r {pt���� � ���[|�® �����xyv� ª � t�{x��{}|��x���x����{x�}|��
yxt���������¢�{s{}t���¬���r ¨�������{x¢�{}uv�}|~r ��® ��r {���®~���¡|~r yv��|����

x ≥ 0
��{x����©��

U11(x) − L12(x) =
2 + 4x+ x2

2 + x
− 8 + 18x+ 7x2 + x3

8 + 6x + x2
=

x2

8 + 6x+ x2
< 1

� r { |~r yv¤¥�p|����
x
yv�[��{}uv©}|��¥���¥�p|����UK3K |�{ ����®}��yv{}|�{

L2

��{vr
L8

���xyxt�� tv|����x¢ � yv�p{}���~� ����r { ±
¬��[��{x¬~r ��£z¢ ���x��� wz¢�� ��{vr�{}t��v��|���©x¢g|��x¢ � ¬~r {s|~r yv�syv��|��

L12

¦}|�{x¢g|��
x
���[t��¥��®x����r�|���|~r yv� K3K3K ª

� ���xyxt��¥�~r ������®�{x�}|��¡|¥wz¢¡����{}��yv®}|¥wz¢K��� ¨ ��t�{x��{}|��x���~�����~��{vrv��|~r � t��¥�~r tv|�£z����r � t����­����{}|�{x¢���yv�
|¥wz¢«�¥¢�¬~r ®xyv�¥��wz¢­¨ ��¦x¢�wz¢W{}���~uv���~����©x���K|��x¢­yv��� ��� �[�v���[|~r ��£z¢W{}uxuv®W��{vr�|��

Weibull
��{}|�{x¢���yv���

yv�¡|�� ¬~r {x������®�¦}|~r�� |�{x©}|~r ���g|¥wz¢
L2

�
L8

��{vr
L12

��r ¢�¦}|�{x¢W���¡t�r �l��©x¢�|���yv��¨ ���x¢~r ��¦p¬~r ®x��|��xyv{ ª
� � ��{~���x��|�¤¥���x������{x�}|���������� uv�[|�{vr���|��g��{x�~r ®����x��®�t�����{}t��}|��[uv������{x��r ��¦p¨ {x��{}��|��x�~r ��|~r ��¦ |��x�
��{}|�{x¢���yv�x�

Pareto ª ��¤[uv���m��{vrx���z{x�}|��K|��x¢ t��¥�~� tv|¥wz���¡|�� L12

{}t��}|��[uv���~|��­���x¢��~u�r ��®���{}uv©}|��¥���
����®}��yv{�������¨ ¤¥����yv�m|�{

L2

�
L8

�
LGeom,5

��{vrx|��
L8

¢�{�{}t��}|��[uv���~|��W¬��¥©}|��¥���­��{}uv©}|��¥���«���m����r ��®
{}���~� ����r {x� ª
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� ¨ �xyv{g± ª ¯x¯ � �$��{x��r ���Wt�{x��®x��|�{x���­|¥wz¢ L1(x) � • � � LGeom,1(x) � • � � p = 0.1
� �
LGeom,1(x) � • � (p =

0.001)
�
LGeom,1(x) � • � (p = 0.5)

��r { |��
Pareto(3, 2)
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� ¨ �xyv{g± ª ¯ 8 � �$��{x��r ���Wt�{x��®x��|�{x���­|¥wz¢ L1(x) � • � � LGeom,1(x) � • � � p = 0.1
� �
LGeom,1(x) � • � (p =

0.001)
�
LGeom,1(x) � • � (p = 0.5)

��r { |��
Pareto(3, 2)
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� ¨ �xyv{ ± ª ¯ 9 � �$��{x��r ��� t�{x��®x��|�{x���h|¥wz¢
L2(x) � • � � L8(x) � • � � LGeom,5(x) � • � (p = 0.01)

�
LGeom,5(x) � • � (p = 0.1) L12(x) � • ��� U11(x) � • � � ��r {�|�� Pareto(3, 2)

x L2(x) L8(x) L12(x) U11(x)° 5 5 � �
° ª25 5xª25 5xª25:9T8$5 K 5xª25:9TL&9TL 5xª25:9]=&L ¯° ª ¯ 5xª ¯ 5xª ¯ = ± 5 8 5xª ¯ M3L ± M 5xª ¯&Kx°3K 5° ª 8 5xª 8 5xª 8 K M3L38 5xª 9 ¯ 5 838 5xª 9T8 ° 9T8° ª 9 5xª 9 5xª ± 5 ± = 9 5xª ±x± 5 ±x¯ 5xª ± L3L3LT=° ª ± 5xª ± 5xª L ¯ M 5xª LT=3=3=&M 5xª�=
5 ¯ ¯ ª25:9TM$5 ± ¯ ª ¯ L3L3LT= ¯ ª 838383838
5xª ± ¯ ª ± ¯ ª L38 K3K 9 ¯ ª M$535 L K ¯ ª Kv¯ M ± =¯ 8 8�ª25 ¯x± 8�ª 838383838 8�ª ±¯ ª ± 8�ª ± 8�ª L °3K = 9 8�ª M&9�5 M3M 9 ª °v±x±x± L
8 9 8�ª K3K M3L 9 ª 8&9 ¯ M3L 9 ª L
9 ± ± ª ° = 9 ° = ± ª 838383838 ± ª L3L3L3LT=± L L�ª °v± M38$5 L�ª 8$5.= 9TL L�ª�= 5:9 ¯&K
L = =�ª ° 9TL3M3M =�ª 8 =�ª�= ±
= M M�ª ° 83M&9�5 M�ª ¯ M ¯ M38 M�ª�=3=3=3=&M
5 ° 535 535xª °v¯ 8$5 535xª ¯ 83M$5 535xª M383838¯}° ¯ 5 ¯ 5xª °x° = ± ¯ 5xª25 ± 5 ± ¯ 5xª Kx°3K 5±}° ± 5 ± 5xª °x° 5:9 ± 5xª ° = 5 ¯ ± 5xª K L$5 ±K M K3K K3K ª °x°x° 9 K3K ª ° 83M&9 K3K ª K MK3K 5 °x° 5 °x° 5 °x° ª ° 83M 5 °x° ª K M
5 °x° 5 ° 5 5 ° 5 5 ° 5xª ° 83M 5 ° 5xª K MKx°x° Kx° 5 Kx° 5 Kx° 5xª °x° 9 Kx° 5xª K3K MK3K M K3K3K K3K3K K3K3K ª °x° 9 K3K3K ª K3K MK3K3K 5 °x°x° 5 °x°x° 5 °x°x° 5 °x° 5
5 °x°x° 5 °x° 5 5 °x° 5 5 °x° 5 5 °x°v¯

 �� ¢�{}��{x�«± ª K �
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x LGeom,5(x)(p = 10−1) LGeom,5(x)(p = 10−2) LGeom,5(x)(p = 10−6)° ° ª °3Kv± 8 K ° ª °x°3K3Kv±}° 9�5 1.00011 · 10−6° ª25 ° ª25 M$5 L38&9 ° ª25 ° M&9TL&9 ° ª25 °x°x°x° 5° ª ¯ ° ª ¯ LT=&M ° ª ¯}° L K =3= ° ª ¯}°x°x°x° 5° ª 8 ° ª 8 ± 83M3M3L ° ª 8 °v± 9TM3M ° ª 8 °x°x°x° 5° ª 9 ° ª 9T8 K M K 5 ° ª 9 ° 8 K3K3K ° ª 9° ª ± ° ª ±x¯x± M$5 ± ° ª ±}°v¯x±}° M ° ª ±° ª L ° ª L$535 L ± M ° ª L ° 5 ° 5.= ° ª L° ª�= ° ª L K = 9�5 M ° ª L K3Kv±x¯x± ° ª�=
5 ° ª Kv± 9�5 K M ° ª K3Kv±}° 9 ¯ ° ª K3K3K3K3K3K
5xª ± 5xª 83M ° 9 ± 5xª 9TMT= ±x± 5xª ±¯ 5xª M ° 9 ± 5xª K M °x° 8 ¯
¯ ª ± ¯ ª ¯x¯ L ¯ 9 ¯ ª 9]= ¯ 9 K ¯ ª ±
8 ¯ ª L&9 ±x±&K ¯ ª K L&9 K 8 8
9 8�ª 9]=&LT=&8 8�ª K 9 K = ¯ 8�ª K3K3K3K3K± 9 ª ¯&K = 5:9 9 ª K 8&939�5 9 ª K3K3K3K3K
L ± ª25 ° L °v¯ ± ª K 5 K ± ª K3K3K3K3K
= ± ª Kx°v¯x± 8 L�ª Kx° 8&9 K L�ª K3K3K3K3K
5 ° M�ª ¯}°3Kx° 5 K ª M ± L38$5 K ª K3K3K3K¯}° 5 ± ª�=3=&L ¯ 5 K ª L K 5 K ¯}°
±}° ¯x¯ ª ¯ 8 ±x± 9 K ª25 ¯x¯x± 9 K ª K3K3K3KK M ¯x¯ ª M&9 K 5 Kv± ª M Kv¯ M K =�ª K3K3K3KK3K ¯x¯ ª M&9 K L K L�ª M3L$5 M K M�ª K3K3K3K
5 °x° ¯&K ª M ± K =�ª M38 ° L K3K ª K3K3K3K

 �� ¢�{}��{x�«± ª25 ° �
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ψ(u) = 1 − δ(u) = Pr(L > u) = ... =
θ

1 + θ

∞∑

k=1

(
1

1 + θ

)k

H
∗k

(u) � L�ª25 �

yv�

L =

K∑

i=1

Li, K ∼ Geo(δ(0))
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Gerber H, Goovaerts M, Kaas R (1987))
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{}t�� ���xy�� wz���x� {}���~uv���~����©x¢ |��:���x¢�¬��x{x��yv¦ ¬�©x�:�[�v���[|~r ��£z¢
��{}|�{x¢���yx£z¢ � ��uv¤[t�� �­�¥��®}uv{vr � 8 �$yv�"t�{x��{xyv¤[|������x� 8 � 9 {x¢�|~� ��|���r ¨ {¡��{vr~���x¢�®x��|��x��� t�r ��{x¢�¦}|��}|�{x���

f(x) = 4 · 3e−3x − 3 · 4e−4x

� {­yv�[uv�[|��x�����xyv�z|��x¢Kt�r ��{x¢�¦}|��}|�{­¨ ���¥�v���vt�� {x����{vrv|�{­����®}��yv{}|�{�t����«yxt��������v¢�{�t����v��© �����x¢���r {
|��x¢W{x¢�{x¢��[wb|~r �������x¢�®x��|��x��� ��|~r ��t��¥�~r tv|�£z����r ��t�����|���t��¥�~r ��£z�~r �p{x����{}uv��� {x����� ¢�{vr �

5xª θ1 = 5
7

¯ ª θ2 = p
1−p

= 0.0001
1−0.0001

∼= 0.0001001 (p = 0.0001)

§Y��|��W�����~����r { |�����t����~����®xyvyv{}|����
Mathematica

�}t��~uv�~��� �����xyv� �

5xª FXi
(x) = 1 − e−4x (4ex − 3)

¯ ª E(Xi) = 7
12

8�ª ��¢����xy~���~u�� �����xyv�­yv� Li

|��x¢ |��x¨ {v� {�yv�[|�{���uv�}|���t����l�[������® ����r�|�� yv¤[��� �����«|��x�­tv|�£z���x�
|����Ytvuv�¥�x¢�®x��yv{}|����s��®}|¥w-{}t�¦ |�� t������}����©xyv�¥¢�� {}t��x���¥yv{}|~r ��¦ �b|�¦}|��s¦vtvwz�l{x¢�{x��¤¥�����}���
��|������¥��®}uv{vr � 8 ��� {~������r ��|~r �������x¢�®x��|��x���«��{}|�{x¢���yv�x��|¥wz¢ Li � �}t��¥¢����xy�� �����xyv�¡¦}|~r���� ¢�{vrr ��¦x¢���yv�¥� � ��¬~� ¢��[|�{vr�{}t�¦ �

9 ª FLi
(x) = 1

E(Xi)

∫ x

0
FXi

(t)dt = 1 − 1
7
e−4x (16ex − 9) = H(x)

± ª fLi
(x) =

dFLi(x)

dx
= 12

7
e−4x (4ex − 3) = 16

7
3e−3x − 9

7
4e−4x

�bt���yv¤¥¢�wz��t�{x��{}|��x����©xyv�Ktvwz����{vr�� ��{}|�{x¢���yv�g|¥wz¢
Li

��� ¢�{vr����x¢�¬��x{x��yv¦���¬�©x���[�v���[|~r ��£z¢
��{}|�{x¢���yx£z¢ ª

L�ª ��¢]� ��{}|�{x¢���yv� |¥wz¢]�¥¢�¬~r ®xyv�¥��wz¢Y¨ ��¦x¢�wz¢]yv�[|�{ ��© |¥wz¢Y{x¢�{x¢��[£z���[wz¢ ���[wz���~�����z� ¬~r { yv�
{x�}|��g|¥wz¢

Li

|�¦}|�� �

U(x) =
144e

−37x
7 + 3108x+ 1225

1369

�bt���yv¤¥¢�wz����t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x� ��r {�|���yv��� ����|¥wz¢¡¬�©x�«�[�v���[|~r ��£z¢K��{}|�{x¢���yx£z¢¡yv�b��®x���
|��­yv� ����¬��~uv�~��� {­t����­t��¥�~r ����®x��|��}��� ��|��x¢�|��[uv�¥�}|�{v� {�t�{x��®}����{x���«|���� �­�¥��{}uv{v� ��� 8 ��¬~� ¢��[|�{vrv{}t�¦
|��x¢Wt�{x��{}��®}|¥w |�©}t�� �
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5xª � � |�{x¢«|���t��¥�~r ��£z�~r �p{x����{}uv��� {x�­r ����©}|�{vr�yv� θ1 �

ψ(x) =
5

8
e−x − 1

24
e−5x

¯ ª � � |�{x¢«|���t��¥�~r ��£z�~r �p{x����{}uv��� {x�­r ����©}|�{vr�yv� θ2 �

ψ(x) = 0.999911e−0.000227029x − 0.0000105186e−5.28566x

�bt���yv¤¥¢�wz����¢�wz�~� ���x¢�|�{x� |��pt�r ��{x¢�¦}|��}|�{ ¨ ���¥�v���vt�� {x��yxt�������©xyv�g¢�{ �}t��~uv�~��� �����xyv� |�{ � ���x�
��®}|¥w=����®}��yv{}|�{g��r {�|��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x���gyv��|��W�����~����r { |��x����¨ ¤¥���x� � ± ª 9 � �

5xª
LR,1(x) :=

ln
(

5
8
e−x − 1

24
e−5x

)

ln(7/12)
� L�ª ¯ �

¯ ª
LR,2(x) :=

ln (0.999911e−0.000227029x − 0.0000105186e−5.28566x)

ln(1 − 0.0001)
� L�ª 8 �

' t��~uv�~��� ���x¢�|�{x�«|��W��{~��y�� ¬�{ {}t��}|��x¨�� {x��|¥wz¢
Li

λ(t) =
fLi

(t)

1 − FLi
(t)

= 3 +
9

9 − 16et

t�{x��{}|��x����©xyv� � � ¨ �xyv{ L�ª25 ��tvwz�g��� ¢�{vr�{x© �����x��{l���x¢�®x��|��x����|����p¨ ��¦x¢����l��{vr �[t���yv¤¥¢�wz�g� ���x¢ �
¬~r {x��yv¦��­|¥wz¢ �[�v���[|~r ��£z¢ ��{}|�{x¢���yx£z¢gt�����yv�[uv�[|�®xyv��{x¢��}����r���|��x¢

IFR
��r ���~��¤¥¢���r {l��{}|�{x¢���yx£z¢ ª

��|��­���x¢�¤¥¨ ��r {¡��{­���}� ���~� ¢����xyv��|��W¢�¤¥�W{x�}|�¦W����®}��yv{�yv��|�{­�x¬�����¢�wz��|�®���®}|¥w ����®}��yv{}|�{
L1(x)

� ���¥¢~r ��¦ � � L3(x) � IFR
����{vr

L9(x) � IFR
� ª t����s¬~� ¢��x¢�|�{vr�{}t�¦�|����x��t�{x��{}��®}|¥w:|�©}t����x� �

•

L1(x) =
84x

37

•

L3(x) =
84x

37
+

1081

1369

•

L9(x) =
e−4x (2736 − 720ex + 7e4x(1081 + 3108x))

9583
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� ¨ �xyv{ L�ª25 � �$��{x��r ��� t�{x��®x��|�{x��� |��x� ��{~��y�� ¬�{x�Y{}t��}|��x¨�� {x� (λ(t))
��r { |��:� �x¢�¬��x{x��yv¦d|¥wz¢

�[�v���[|~r ��£z¢W��{}|�{x¢���yx£z¢ ª

��{«� ¨ �xyv{}|�{ L�ª ¯ � L�ª 8 ��{vrv�« �� ¢�{}��{x� L�ª25 yv{x� ��{x¢��¥��£z¢����x¢�tvwz� |��«����®}��yv{ LR,2

t�����t����v��© �
tv|���r�{}t�¦�|�� ��¢�£z��� |��x��t�r ��{x¢�¦}|��}|�{x�­¨ ���¥�v���vt�� {x�«��r {

p = 0.0001
��� ¢�{vr���{}uv©}|��¥���lyv�[|�{ ��© |¥wz¢

��®}|¥w ����{}��yv®}|¥wz¢
L9

��{vr
L3

��r {W|~r yv¤¥�¡|����
x
y�r ����¦}|��¥���¥��|���� 535.=&8�ª ��� LR,2

��� ¢�{vr�t�r ��{x¢�¦}|�{}|�{
��{}uv©}|��¥���Y{}t�¦ |�{ ®}uxuv{p¬��x�Y����®}��yv{}|�{p��{vr4yv�[|�®p|�� 535.=&8 {}tvuv®p|�{p����®}��yv{}|�{p���xyxt�� tv|����x¢�yv�
{}���~� ����r {gt�¤¥¢�|��K¬��[��{x¬~r ��£z¢ ���x��� wz¢ ª ��|���� ¨ �xyv{ L�ª 8 ��{v� ¢��[|�{vr�� ���xyxt��¥�~r ������®W|���� LR,2

¦vt���� �
{}t�¦���|�{x���­|����g{}t�¦g|��x¢�{}���~r ���W|~r yv�­|��x�K{x¢�{x¢��[wb|~r ���x�¡���x¢�®x��|��x���x����� ¢�{vr�|�¦���� y�r �����g������¨ ¤¥���
yv�W{x�}|���|¥wz¢s®}uxuxwz¢�����{}��yv®}|¥wz¢ t����p��{v� ¢��[|�{vr ��{x¢�¢�{l|�{x�}|~� ���x¢�|�{vr ª �¡t�¦ |�{p�}t�¦~uv��r t�{ ����®}� �
yv{}|�{ t�����t�{x�����x��r ® ���x¢�|�{vr���|��x¢g �� ¢�{}��{ L�ª25 |�{ L9

��{vr
L3

��� ¢�{vr���{}uv©}|��¥��{�������¨ ¤¥����yv�¡|�{
L1��{vr

LR,1 ª ��� L9

��� ¢�{vr t�r �l{}���~r ��¤¥�­{}t�¦s|��
L3

��r { |~r yv¤¥��|����
x
y�r ����¦}|��¥���¥��|���� 5xª 838 ± � �¥¢�£ ��r {

|~r yv¤¥�lyv�[��{}uv©}|��¥���¥��|���� 5xª 838 ±Y�Y��{}|�®x��|�{x��� {x¢�|~r ��|���¤¥���[|�{vr yv¤¥¨ �~r |��Y|~r yv� x ∼= 2.2
�b�]�vt���� {

{}t��}|��[uv����|��p¨ ���x¢~r ��¦ ���xyv��� ��t�����{x��¨�� ����r�t���{}��|~r ��®��s|�{x©}|~r ��� |¥wz¢ ¬�©x�l����{}��yv®}|¥wz¢ ª �¡t�¦l|��x¢
®}uxuv�Wyv�¥�~r ®g|�������®}��yv{

LR,1

|�¤¥yv¢���r�|��
L1

��|���¨ ���x¢~r ��¦����xyv��� �
x0 = 2.10141 ª � �b|���r ����r {g|~r yv¤¥�

|����
x
y�r ����¦}|��¥���¥��|����

x0

|��]����®}��yv{
LR,1

�}t��¥��|��¥�����$¤¥¢�{x¢�|~r4|����
L1

� �¥¢�£ ��r { |~r yv¤¥��yv�[��{}uv© �
|��¥���¥�g|����

x0

���xy~��{v� ¢���r�|��Y{x¢�|~� ���[|�� ª � � tvwz� {x¢�{x��¤¥��{xyv�«��{vr$��|��x¢s{x��¨ �p|��x�Wt�{x��{}����®x�����p|��
LR,2

{x���xyxtv|¥wb|~r ��® ��r {�|~r yv¤¥��|����
p→ 0

� t�{x�����x��r ® ����r�|��x¢«t�r �p{}���~r �������xyxt��¥�~r ������®s������¨ ¤¥���
yv� |�{Y�}t�¦~uv��r t�{]����®}��yv{}|�{ yv� |�{ �vt���� { ¤[��r ¢���� ��©}� ���~r ��� ª 6 ¤j��{vr { |�� ����®}��yv{Y{x�}|�¦]��r {Y¢�{
yxt�����¤¥����r4¢�{p¨ ���x��r yv�vt���r �~�����4{}t�{vr |���� � � { ��|��l��¢�£z���l|��x�Wt�r ��{x¢�¦}|��}|�{x�g¨ ���¥�v���vt�� {x��t����p��|~r �
t��¥�~r ����¦}|��¥���¥�g|¥wz¢st��¥�~r tv|�£z���[wz¢s� {}���~r ���x�g|~r yv�l|��x� ¬��¥¢���� ¢�{vr���¢�wz��|��l��{vr � � �¡�lt�r ��{x¢�¦}|��}|�{
p
¢�{���� ¢�{vr ���x¢�|�®���|���yv�x¬�¤¥¢ ª ��|��x¢«t��¥�~� tv|¥wz��� t�����¬��¥¢g��� ¢�{vr��¥��r ��|����sr ��{x¢��vt���� �x����|¥wz¢W�}t����
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��¤¥���[wz¢­{x�}|�£z¢­yxt�������©xyv��¢�{g¨ ���x��r yv�vt���r �x�����xyv�¡|�{g����®}��yv{}|�{
L3

��{vr
L9

t���� �¥yv��{x¢~� �����x¢­|��x¢
{xyv¤¥��wz�¡t�r �p{}t���¬��[��|������xyxt��¥�~r ������® ��r { |������}� ���[���~r yv¤¥¢�� ��{}|�{x¢���yv� |¥wz¢g¨ ��¦x¢�wz¢Wyv�[|�{ ��© |¥wz¢
{x¢�{x¢��[£z���[wz¢ ª ��¢«��{s¤[t����[t��­¢�{s¬~r {}uv¤ �����xyv�­¤¥¢�{s{}t�¦p{x�}|�® |�{�¬�©x��|�¦}|��­{x�}|�¦s��{��}|�{x¢g|�� L9

�
{x����©s��|��l¬~r ®x��|��xyv{ t����s��� ¢�{vr���{}uv©}|��¥���l{}t�¦�|��

L3

����r�¬~r {x������¤¥�­|����x�«��� ¢�{vr�yv�[��{}uv©}|��¥���¥��{}t�¦
{x�}|�¤¥��t����s¤¥¨ ���x¢g��|���¬~r ®x��|��xyv{ t�����|��

L9

��� ¢�{vr�t�r �l{}���~r ��¤¥� ª
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� ¨ �xyv{ L�ª ¯ � �$��{x��r ���¡t�{x��®x��|�{x���K|¥wz¢ U(x) � • � � L1(x) � • � � L9(x) � • � � L3(x) � • � ��{vr LR,1(x) � • ���r {�|��p� �x¢�¬��x{x��yv¦s|¥wz¢g�[�v���[|~r ��£z¢W��{}|�{x¢���yx£z¢gyv�
p = 5/12
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x U(x) L1(x) LR,1(x) L3(x) L9(x) LR,2(x)° 5 ° ° ª L$5 ± L3L3L ° ª�=&M K L ¯ = 5 5° ª25 5xª25 M383M&9 ° ª ¯x¯ = °v¯ = 5xª25:9 ¯ 8 ± 5xª ° 5 L3L ± 5xª25 ±x¯ 8T= 5xª25 M383M38° ª ¯ 5xª 83M ± 9�5 ° ª 9 ± 9 °v± 9 5xª ¯&K3K 9TM 5xª ¯ 9T83L3M 5xª 838 ° =&8 5xª 83M ± 9° ª 8 5xª ±&K = 939 ° ª L3M$5 ° M$5 5xª 9TL3L ¯x¯ 5xª 9]= ° = 5 5xª ±x¯ L$5 ± 5xª ±&K = 9�5° ª 9 5xª M$5 ± L ¯ ° ª Kx° M$5 ° M 5xª L38 Kv¯ L 5xª L K =3= 9 5xª�=&8 ¯ = ± 5xª M$5 ±x± M° ª ± ¯ ª ° 8T=3= 9T8 5xª25 8 ± 5:9 5xª M$5 L&9TL 5xª Kv¯ 9]=&L 5xª K 9TL3L&9 ¯ ª ° 8T=&8 K
5xª 8 8�ª M&9TL ¯ = ¯ ª Kv± 5 8 ± 8�ª ¯ M&9 ± = 8�ª�= 9 °3K M 8�ª�= 9�5 ° 8 8�ª M&9TL$5 ±
5xª 9 9 ª ° =&8 ¯ L 8�ª25.=&M383M 8�ª 9TL K MT= 8�ª K L3M ° 5 8�ª K LT= K 8 9 ª ° =&8$5 8
5xª ± 9 ª 8 °x°v¯ L 8�ª 9 °v± 9�5 8�ª L ±x±x¯x± 9 ª25 Kv±}° 8 9 ª25 K 9 K 5 9 ª 8 °x° 5 ¯
5xª L 9 ª ±x¯ = ¯ = 8�ª L38 ¯ 9T8 8�ª M&9 ° L3M 9 ª 9 ¯x¯}° L 9 ª 9 ¯ 5 Kv¯ 9 ª ±x¯ = 5 ¯¯ ± ª 9T8 ± 83L 9 ª ± 9 °v± 9 9 ª ± M ¯ L&9 ± ª 838 ° 5.= ± ª 838 °x° M ± ª 9T8 ± 5.=¯ ª25 ± ª L3L ¯ 83M 9 ª�=&LT= ± = 9 ª�=&L3M$5 ± ± ª ±x± = ¯ ± ª ±x± = 5 ¯ ± ª L3L ¯ 5 K¯ ª ¯ ± ª M3M K 9�5 9 ª K3K 9 ±&K 9 ª Kv± 83L3M ± ª�=&M&9 ¯x¯ ± ª�=&M&9�5 L ± ª M3M Kv¯ 5
8�ª25 =�ª K 8 ¯ L ± =�ª ° 8T=&M&9 L�ª L ¯ 8&9T8 =�ª M ¯ = 9]= =�ª M ¯ = 9TL =�ª K 8 ¯ 8T=
8�ª ¯ M�ª25 ±&K L3M =�ª ¯ L&9TM3L L�ª M ° M K L M�ª °v± 939 K M�ª °v± 939 K M�ª25 ±&K 8 K
8�ª 8 M�ª 83M3LT= 5 =�ª 9 K 5 M K L�ª K3K 939 K M�ª ¯ M$5 ±x¯ M�ª ¯ M$5 ±x¯ M�ª 83M3L&9�5± 5 ¯ ª ¯ 9TL ¯ 535xª 8 ± 5:9 5 ° ª25:9TM ± 5 ¯ ª25:9�5 5 ¯ ª25:9�5 5 ¯ ª ¯ 9 ± =¯}° 9TL�ª 8 °x°v¯ 9 ± ª 9 °v± 9 ¯ 8�ª 83M$5 M 9TL�ª25 Kv± 9TL�ª25 Kv± 9TL�ª ¯&K M&9±}° 535:9 ª 9 ° M 535 8�ª ± 5:9 ± =�ª L&9 K 5 535:9 ª 8 ° 8 535:9 ª 8 ° 8 535:9 ª 9 ° 9
535.= ¯ ¯ L3L$5xª L ± ¯ L3L ° ª�=&L 5 838 K ª ¯x± ¯ L3L$5xª ±x± ¯ L3L$5xª ±x± ¯ L3L$5xª ±x±
535.=&8 ¯ L3L38�ª Kv¯ ¯ L3L38�ª ° 8 5 8&9 ° ª 8 K ¯ L3L38�ª M ¯ ¯ L3L38�ª M ¯ ¯ L3L38�ª M ¯
535.= 9 ¯ L3L3L�ª25 K ¯ L3L ± ª 8 5 8&9�5xª ± 8 ¯ L3L3L�ª °3K ¯ L3L3L�ª °3K ¯ L3L3L�ª °3K
5 ¯}°x° ¯ = ¯x± ª ¯x¯ ¯ = ¯ 9 ª 8 ¯ 5 8T= 5xª ¯ 8 ¯ = ¯x± ª2535 ¯ = ¯x± ª2535 ¯ = ¯x± ª2535

 �� ¢�{}��{x� L�ª25 �
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� ¨ �xyv{ L�ª 8 � �$��{x��r ���gt�{x��®x��|�{x���«|¥wz¢ L9(x) � • � � L3(x) � • �m��{vr LR,2(x) � • �m��r {g|���� �x¢�¬��x{x��yv¦|¥wz¢g�[�v���[|~r ��£z¢W��{}|�{x¢���yx£z¢gyv�
p = 0.0001
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���b� @�+-� � � ��� ���"!&� � �7� ! �s/ % � � � ! �s# � � / � 03! �s# � 0V� �
��03!��"�*)5�s#
),�"!&�(/1% ���s#

� yv� ����¬��~uv�~��� {st����s�¥��{x��yv¦���|��}����{}t�¦
Politis

��{vr
Koutras � ¯}°x°v± �mt����v����r yv¤¥¢�����¢�{��}t��~uv�~��� �

�����x¢«¢�¤¥{ ����®}��yv{}|�{g��r { |��x¢­{x¢�{x¢��[wb|~r �������x¢�®x��|��x������yxt���������¢�{ �¥��{x��yv����|�������{vr ��r {g|��x¢����[u��
|~� wz����|¥wz¢�����{}��yv®}|¥wz¢K��r {­|��x¢¡���x��®­|��x����©x¢����[|��x�����[wzyv�[|��~r ���x� ��{}|�{x¢���yv�x� ª ��¢����[wz���x�����xyv�
|��x¢ �[uv{}|�|¥wzyv{}|~r ���Y{x¢�{x¢��[wb|~r ��� � �~� ��wz���Yt���� r ��{x¢��vt���r ���z�]���x��®]|��x����©x¢����[|��x�����[wzyv�[|��~r ���x�
��{}|�{x¢���yv�x���

ψ(x) = φF (x) + φ

∫ x

0

ψ(x− t)dF (t) � L�ª 9 �

��{vrz{x¢�|~r ��{}|�{x��|��x�����xyv����|�� ¬��¥©}|��¥��� yv¤[uv���p|��x�p|�{ ��� ¬�� ��¢�wz��|�® ����®}��yv{}|�{ |��x�
ψ(x)

��|�¦}|��
t����v��©}tv|����x¢l¢�¤¥{ ����®}��yv{}|�{ yv�«��{}uv©}|��¥��� ���xyxt��¥�~r ������®p��r {p|����}uv®x¨�r ��|��x¢ly�r ����¤¥� |~r yv¤¥�g|����

x ª
��|��x¢�t�{x��®}����{x����{x�}|�� ��{�{x��¨ �~uv�~����©xyv�byv�"|�� ���[ux|~� wz��� |¥wz¢ ®x¢�w ����{}��yv®}|¥wz¢mt����¡¬��xyv����� �¥�x���
�

Brown � 5 K3Kx° � ª ��¢p���[wz���x�����xyv��tvwz�l|�� ���¥¢~r ��¦ ®x¢�w-����®}��yv{ ΨUB,1

t���� ¦��~r ���l�
Brown

� 5 K3Kx° ��{}t��}|��[uv��� |�{vr�{}t�¦�¬�©x�lyv¤¥����� ¤¥¢�{���|�{~���¥��¦s¦�������{vr�¤¥¢�{��[�v���[|~r ��¦ ��|�¦}|��¡{x�}|�¦���{ ¤¥¨ ��r�|��
yv���������

ΨUB,1(x) = e−Bx + C � L�ª ± �

?#% �BATX0S�� ��� ;1= ?lOQPsi^OQC � W�in� kYP��a\xP�A�`qO(Xnt7W�i�A�`qR�@ �^OZ]
fnA�`qR(�afcC:kmfnAoWY\~g�pqR"gjP AbP^OeXbkrpqR�D�[
\ �
]
P^OZ_�A�`aAbP-SMW�fQXZgjX
[ZvxP
RwL"fQv OQP
\YAbX"fc�
pqR �

ψ(x) = F Y0(x) ≤ φe−Bx

(
1 +B

∫ x

0

eBtF (t)dt

)
:= ΨUNB,1(x), � L�ª L �

∀x ≥ 0
{

?l[
\~[ uKNQX�O1AbX � W�in� kYP1P
tjAe_>fQv OQP
\agjPcu �jAbfGWYXhP^[Z_1AbX>P^O^Aev @BAbXZ\ S&X
ΨUB,1(x)

AbXnt
Brown

D ����� �bL1�a\xP
gji
]
f

x
[ZXnt(\~gjP^OeX
[ZXZ\xfQv A�`qO [ZP7W�P
gji A7C P^OZv @qCr@B` �

B

∫ x

0

eBtF (t)dt ≤ 1

φ
+
CF (x)

φe−Bx
− 1
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 H 9��$%3�21TX
���vt��x���[|�£z¢�|�{x��|��x¢ � L�ª ± � ��|��x¢ � L�ª 9 � ¤¥¨ ���xyv� �

ψ(x) = φF (x) + φ

∫ x

0

(
e−B(x−t) + C

)
dF (t)

= φF (x) + φ

∫ x

0

(e−B(x−t)dF (t) + CF (x)

= φF (x) + φe−Bx

∫ x

0

eBtdF (t) + CF (x)

= φF (x) − φe−Bx

∫ x

0

eBtd (1 − F (t)) + CF (x)

= φF (x) − φe−Bx
[
eBtF (t)

]x
0

+ φe−BxB

∫ x

0

eBtF (t)dt+ CF (x)

= φF (x) − φe−BxeBxF (x) + φe−Bx + φe−BxB

∫ x

0

eBtF (t)dt+ CF (x)

= φe−Bx + φe−BxB

∫ x

0

eBtF (t)dt+ CF (x)

= φe−Bx

[
1 +B

∫ x

0

eBtF (t)dt

]
+ CF (x)

�bt���yv¤¥¢�wz���

ΨUNB,1(x) ≤ ΨUB,1(x)

φe−Bx

[
1 +B

∫ x

0

eBtF (t)dt

]
+ CF (x) ≤ e−Bx + C

[
1 +B

∫ x

0

eBtF (t)dt

]
≤ e−Bx + CF (x)

φe−Bx

B

∫ x

0

eBtF (t)dt ≤ e−Bx + CF (x)

φe−Bx
− 1

B

∫ x

0

eBtF (t)dt ≤ 1

φ
+
CF (x)

φe−Bx
− 1

� ��A$��'T�0ATX0��X

5xª ��|��x¢«t��¥�~� tv|¥wz����|��������¥¢~r ����©s®x¢�w=����®}��yv{}|�������¤¥¨ ���xyv� � B = p
(1−p)µ

��{vr
C = γp

(1−p)

¯ ª ��� ���[£z���xyv{ t���� {x¢�{x��¤¥��{xyv� r ��¨ ©x��r���{vr���r { |�{ ®x¢�w�����®}��yv{}|�{ t���� ¦��~r ���Y� Brown

� 5 K3Kx° �m��|~r ��t��¥�~r tv|�£z����r ��t���� � �x��r ��|�®xyv�¥¢��g��{}|�{x¢���yv� {x¢��}����r���|~r ����r ���~��¤¥¢���r �¥�­��{}|�{x¢����
yx£z¢

NBUE � B = p
µ

�
C = 0

����{vr
NWUE � B = p

µ

�
C = pρX

� ª
5 8 ±



��|�� ���x¢�¤¥¨ ��r { yv¤¥��w-|��x�pt�{x��{}��®}|¥w��¥��{x��yv�~���x�l��{ yv�[uv�[|��x�����xyv�s|�� ���xyxt��¥�~r ������® |¥wz¢]®x¢�w
����{}��yv®}|¥wz¢Y��r { |��x¢]���x��® |��x� ��©x¢����[|��x�����[wzyv�[|��~r ���x� t���� t����v��©}tv|����x¢ {}t�¦ |�{ {x¢�|~� ��|���r ¨ {
®x¢�w;����®}��yv{}|�{ |����

Brown
yv�p|�� yv� ����¬��~uv�~��� { t���� t��¥�~r ����® ��{xyv�p��{~��£z� ��{vrm|�� yv�[|�{x������®

|����x�­���¡��®}|¥w=����®}��yv{}|�{ ��r { |��x¢W{x¢�{x¢��[wb|~r ���s���x¢�®x��|��x��� ª
� �V��A$S�F����
��¢:�}t��x��¤¥�����xyv� ¦}|~r���r�|��x¨ {v� �¥� yv�[|�{���uv�}|�¤¥�

Li

t���� �[������® �����x¢ |��hyv¤[��� ����� |��x� tv|�£z���x�
|���� tvuv�¥�x¢�®x��yv{}|���� ��� ��¨ ¤¥��� yv�p|�� t������}����©xyv�¥¢�� {}t��x���¥yv{}|~r ��¦d{}���~uv���~����©x¢ |�� ��{}|�{x¢���yv�

Gamma(2,2)
|�¦}|�� � ��r {�|�� t�r ��{x¢�¦}|��}|�{�¨ ���¥�v���vt�� {x�W�}t�®x��¨ ���x¢W|�{�� ���x������®}��yv{}|�{ �

• �$�¥¢~r ��®s����®}��yv{}|�{

5xª ���p����®}��yv{ t����s¤¥¨ ��r�t����}|���� ¢���r�� Brown(1990)
����� ¢�{vr�|�� �

UB,1(x) = 0.0000750075 + e−0.00010001x (p = 0.0001)

¯ ª ���p¢�¤¥�l����®}��yv{ t�����t����v��©}tv|���r�{}t�¦�|��x¢ � L�ª 9 � ��� ¢�{vr�|�� �

UNB,1(x) = 0.000075e−0.00010001x+e−2x(−0.000175008−0.000250005x) (p = 0.0001)

• � ��¢�w=����®}��yv{}|�{ ��r {
IFR
��{}|�{x¢���yv�

5xª ���p����®}��yv{ t����s¬��xy�r ��©x�����x����� Brown(1990)
��� ¢�{vr�|�� �

UB,5(x) = 0.9999e0.00005−0.0001x (p = 0.0001)

¯ ª ���s���[ux|~r wzyv¤¥¢�������®}��yv{ ��r {�|��x¢ IFR
��{}|�{x¢���yv�s¬~� ¢��[|�{vr�{}t�¦s|��x¢W|�©}t�� �

UNB,2(x) = 0.99995e−0.0001x+e−2x(−0.0000499937+7.49983·10−9x (p = 0.0001)

�¡t�¦�|�{�t�{x��{}t�®x¢�w:®x¢�w:����®}��yv{}|�{ ��r { |��x¢«t�r ��{x¢�¦}|��}|�{s¨ ���¥�v���vt�� {x� � ���x��®s��©x¢����[|��x�¡���[w �
yv�[|��~r ���x����{}|�{x¢���yv�x� � t����v��©}tv|����x¢g|�{�� ���x����®}|¥w:����®}��yv{}|�{ ��r {�|��x¢W{x¢�{x¢��[wb|~r �������x¢�®x��|��x��� �

• �$�¥¢~r ��®���®}|¥w=����®}��yv{}|�{

5xª L1(x) = x

¯ ª LGeom,1(x) = −9999.5ln (0.0000750075 + e−0.00010001x)

5 83L



8�ª LNGeom,1(x) = 0.000075 + e−0.00010001x + e−2x(−0.000175008− 0.000250005x)

• �­®}|¥w:����®}��yv{}|�{ ��r {
IFR
��{}|�{x¢���yv�

5xª L3(x) = x+ 1
2

¯ ª L9(x) = 1
2

+ x + e−2x

2

8�ª LGeom,4(x) = 0.500025− 9999.5ln (e−0.0001x)

9 ª LNGeom,4(x) = −9999.5ln (0.99995e−0.0001x + e−2x(−0.0000499937 + 7.49983 · 10−9x))

1 2 3 4 5
time

1

2

3

4

5

� ¨ �xyv{ L�ª 9 � �$��{x��r ���gt�{x��®x��|�{x���­|¥wz¢ U(x) � • � � LGeom,1(x) � • � �L1(x) � • �z��{vr LNGeom,1(x) � • ���r {�|��
Gamma(2,2)

yv�
p = 0.0001

��|��x¢Wt�� ¢�{}��{ L�ª ¯g��{v� ¢��x¢�|�{vr |��s���¥¢~r ��¦l®x¢�w:����®}��yv{ � UB,1

�m��{vr�|�������®}��yv{g��r {
IFR � UB,5

�
��{}|�{x¢���yv¤¥�]��{~��£z�]�[t�� ���x�Y��{vr ��r {x¢�|~� ��|���r ¨ �¥� ���[ux|~r £z����r �Y|����x� � UNB,1

�
UNB,5

�¡{x¢�|~� ��|���r ¨ { � ª
 ¡{x��{}|��x����©xyv� ¦}|~r���r {«|~r yv¤¥��|����

x
y�r ����¦}|��¥���¥�K|���� 8�ª M |��«���[ux|~r wzyv¤¥¢�� ����®}��yv{ UNB,1

����� ¢�{vr�t�r �
{}���~r ��¤¥��{}t�¦ |��

UB,1

�$�¥¢�£ ��r {p|~r yv¤¥��yv�[��{}uv©}|��¥���¥�W|���� 8�ª M |�{ ¬�©x�Y{x�}|�®p����®}��yv{}|�{lt���{}��|~r ��®
|�{x�}|~� ���x¢�|�{vr ª � � yv��r {¡��� ¢�{vr~�K��{}|�®x��|�{x��� ��{vr~��r {¡|�{ IFR

����®}��yv{}|�{��}¦vt����¡|��
UNB,5

t�{x�����x��r ® ����r
y�r ����¦}|��¥���¥��|~r yv¤¥��{}t�¦s|��

UB,5

¦}|�{x¢«|��
x
��� ¢�{vr y�r ����¦}|��¥���l|����s¯ ª ¯ � �¥¢�£ ��r { x yv�[��{}uv©}|��¥����|����

¯ ª ¯���{vr�{x�}|�®�|�{«����®}��yv{}|�{�|�{x�}|~� ���x¢�|�{vr ª � � ���Wt�r � y�r �����W��� ¢�{vr��­|~r yv��|���� p ��|�¦����W|�{­����®}��yv{}|�{
��{~���x��|��¥����©x¢ ¢�{�t�¤¥�����x¢ {vr � ���}|�®���®}|¥w {}t�¦¡|��x¢ yv�x¢�®x¬�{ ª ������{vr ¢�¦�yv�¥¢���{x�}|�¦�� ���}����� |�{vr}{}t�¦�|��
���[���x¢�¦��­tvwz�«� t�r ��{x¢�¦}|��}|�{

p
{x¢�|~r ��|���r ¨ ������|��x¢­t�r ��{x¢�¦}|��}|�{syv��¨ ���¥�v���vt�� {x� � δ(0)

� ���[t���yv¤¥¢�wz�
r ��¨ ©x��r �

p→ 0 ⇒ ψ(0) → 1
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2 4 6 8 10
time

1

2

3

4

� ¨ �xyv{ L�ª ± � �$��{x��r ���gt�{x��®x��|�{x���­|¥wz¢ U(x) � • � � LGeom,1(x) � • � �L1(x) � • �z��{vr LNGeom,1(x) � • ���r {�|��
Gamma(6,2)

yv�
p = 0.0001

1 2 3 4 5
time

1

2

3

4

5

� ¨ �xyv{ L�ª L � �$��{x��r ��� t�{x��®x��|�{x��� |¥wz¢ U(x) � • � � LNGeo,4(x) � • � �L9(x) � • ����{vr L3(x) � • ����r {��r {�|��
Gamma(2,2)

yv�
p = 0.0001
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|�¤[uv���­��®}|~r�t������}|�{x¢ {x¢�{xyv�¥¢�¦�yv�¥¢��l��{vr���{v� ¢��[|�{vr���|��x¢g �� ¢�{}��{ L�ª ¯s��� ¢�{vr�¦}|~r�|�{s����®}��yv{}|�{�t����
��{}|�{x�����¥�x® �����xyv����¢�wz�~� ���x¢�|�{x��¦}|~r��W��{}|�{x¢���yv�g��� ¢�{vr

IFR
����� ¢�{vr�t�r ��{}���~r ���g{}t�¦ |�{g{x¢�|~� ��|���r ¨ {

���¥¢~r ��®���¬��}uv{x¬����
UB,1 > UNB,1 > UB,5 > UNB,5

�  �� ¢�{}��{x� L�ª 8 ��{vrx|��g� ¨ �xyv{ L�ª 9 t�{x�����x��r ® �����x¢K|�{����¥¢~r ��®­��®}|¥w ����®}��yv{}|�{���r {�|��x¢K{x¢�{x¢�� �
wb|~r ���«���x¢�®x��|��x�����

L1

�
LGeom,1

��{vr
LNGeom,1

��¦}|�{x¢¡�g¨ ��¦x¢����Kyv�[|�{ ��©­¬~r {x¬��}¨�r ��£z¢�{x¢�{x¢��[£z���[wz¢
{}���~uv���~�����~|��

Gamma(2,2) ª  ¡{x��{}|��x����©xyv�btvwz�m|��­����®}��yv{ LGeom,1

¬~� ¢���r}{x��¢��}|~r ��¤¥�m|~r yv¤¥��¦}|�{x¢
|��

x
��� ¢�{vr y�r ����¦}|��¥��� |����l° ª M�ª §Y�«{}t��}|�¤[uv�¥��yv{�|�� ¨ {x��{}��|��x�~r ��|~r ��¦ |����p{x�}|�¦ ¢�{l|�� ��{~� r ��|�®

¬�©x��¨ ���x��|�� ª ��� LNGeom,1

��t����g{}t��}|��[uv���v���[ux|~� wz���­|����
LGeom,1

� ¤¥¨ ��r���{}uv©}|��¥���W���xyxt��¥�~r ������®��
{x����©l¤¥¨ ��r � ��{}uv��� ����r�|�� �[uv®}|�|¥wzyv{s|����

LGeom,1

� ¬~� ¢��x¢�|�{x�Wyv{x�­���[|~r ��¤¥�W|~r yv¤¥�«��r {
x
y�r ����¦}|��¥���

|���� ° ª M�ª  ¡��¤[t���r�¢�{ �[t�r ���xyv®x¢����xyv� ¦}|~r�¦}|�{x¢]|�� x ���[t��¥��®x����rz|�� M |�{ ¬�©x� {x�}|�® ����®}��yv{}|�{
|�{x�}|~� ���x¢�|�{vr ª ��� L1(x)

|�¤¥yv¢���r�|��
LNGeom,1

��|��p���xyv��� �
x0 = 0.807058 ª � �b|���r ����r {s|~r yv¤¥�­|����

x
y�r ����¦}|��¥���¥�g|����l° ª M |�� LNGeom,1

��� ¢�{vr�yv�[��{}uv©}|��¥��� {}t�¦p|��
L1

� �¥¢�£ ��r {�|~r yv¤¥�gyv�[��{}uv©}|��¥���¥�
|����W° ª M �­��{}|�®x��|�{x���«{x¢�|~r ��|���¤¥���[|�{vr ª � �[t�r uv�~���W�¥¢�¦��¡{}t�¦ |�{ L1

��{vr
LNGeom,1

� ��{x��|�®}|�{vr�{}t�¦
|��x¢]¨ ���x¢~r ��¦ ���~� ���x¢�|�{ t���� ��¤[uv���xyv��¢�{ ��®x¢����xyv�lt���¦}��uv����� ª � r { yv{}�����}¨ ��¦x¢~r �¥� t����}��uv¤�����r �
���x¢��~u�r ��® ��{}uv©}|��¥��� ���xyxt��¥�~r ������® ¤¥¨ ��r4|��

L1

� �¥¢�£ ��r {l����{x¨ �x¨ ��¦x¢~r �¥��¤¥¨ ��r$|��
LNGeom,1 ª ������xyv��� �l|���yv�x�­|¥wz¢

LNGeom,1

��{vr
L1

yxt���������¢�{�yv�[|�{}|��vt�r ��|�����t������«|�{s¬�� �~r ®lyv����{}|�®}uxuv�}uv�s�[t�r �
uv�~���g|¥wz¢�t�{x��{xyv¤[|���wz¢�|��x�K��{}|�{x¢���yv�x� ª ��|���� ¨ �xyv{ L�ª ±«��{v� ¢��[|�{vr��Wt��¥�~� tv|¥wz���W|��x�K��{}|�{x¢���yv�x�

Gamma(6,2)
��¦vt�����|��l���xyv��� ��|���yv�x�¡���~� �����[|�{vr���|��

x1 = 2.56116 ª
�  �� ¢�{}��{x� L�ª 9 ��{vrz|��d� ¨ �xyv{ L�ª L t��¥�~r ����®x�����x¢ |�{ ��®}|¥w�����®}��yv{}|�{ ��r { |��x¢]{x¢�{x¢��[wb|~r �

��� ���x¢�®x��|��x��� ��|��x¢ t��¥�~� tv|¥wz���dt���� ¨ ���x��r yv�vt���r �x�����xyv�]|��x¢
IFR
r ¬~r ¦}|��}|�{ |��x�]��{}|�{x¢���yv�x�

Gamma(2,2) ª  ¡{x��{}|��x����©xyv��tvwz�«|�{�����®}��yv{}|�{ L9

��{vr
LNGeom,4

|�{x�}|~� ���x¢�|�{vr � yv�­{}���~� ����r {p±
¬��[��{x¬~r ��£z¢ ���x��� wz¢���r {�|~r yv¤¥� |����

x
y�r ����¦}|��¥���¥� |����­° ª ± ª �z¢�£ ��r {�|~r yv¤¥� |���� x yv�[��{}uv©}|��¥���¥��|����

° ª ± ��|�� L9

�}t��¥��|��¥����������{}���~� ����r {W¤¥¢�{x¢�|~r�|����
LNGeom,4

yv� |��«¬~r {x������®W|����x�K¢�{W��� ¢�{vr�|��x��|�® ���x�
|����

10−4 � ��|��Y��¨ �xyv{ L�ª L |�{p¬�©x�Y����®}��yv{}|�{l|�{x�}|~� ���x¢�|�{vr � ª ��� � ¬~r �]���xy~��{v� ¢���r���{vr4��r {p|�{ L3��{vr
LGeom,4

� yv�­|��
L3

¢�{�¤¥¨ ��r�|~r yv¤¥�Wyv�[��{}uv©}|��¥���¥�W¦}|�{x¢ |��
x
��� ¢�{vr�yv�[��{}uv©}|��¥���p|��x�Wyv�x¢�®x¬�{x���

�¥¢�£=��r {l¨ ���x¢~r ��¤¥�g��|~r ��yv¤¥�«y�r ����¦}|��¥���¥�«|��x�«yv�x¢�®x¬�{x�«�s��{}|�®x��|�{x���s{x¢�|~r ��|���¤¥���[|�{vr ª � � |�{x¢W|�� x
��� ¢���r�yv�[��{}uv©}|��¥���s|��x��yv�x¢�®x¬�{x��|�¦}|��¡|�{

L3

��{vr
L9

|�{x�}|~� ���x¢�|�{vr � yv��{}���~� ����r {�t�¤¥¢�|���¬��[��{x¬~r ��£z¢
���x��� wz¢�� ª � � yv��r {���{vr�|�{ LGeom,4

��{vr
LNGeom,4

|�{x�}|~� ���x¢�|�{vr���r {�|~r yv¤¥�­|����
x
yv�[��{}uv©}|��¥���¥��|����

5 ° ª ��¤[uv������{ uv¤[��{xyv� tvwz�s���x¢��~u�r ��®Y|��x¢���{}uv©}|��¥���Y���xyxt��¥�~r ������® t�{x�����x��r ® ����r$|�� L9(x)
yv�

y�r �����s¬~r {x������®s{}t�¦�|��
LNGeom,4 ª

5 8 K



x UB,1(x) UNB,1(x) UB,5(x) UNB,5(x)° 5xª °x°x°x° M ° ª K3K3K3K ° ª K3K3K3Kv± ° ª K3K3K3K
5 5xª °x°x°x° = ° ª K3K3K3Kx° 5 ° ª K3K3K3K 9 ° ª K3K3K M K3K° ª ¯ 5xª °x°x°x° L ° ª K3K3K3Kx° 9 ° ª K3K3K3K 8 ° ª K3K3K M K L° ª 8 5xª °x°x°x°v± ° ª K3K3K3Kx° M ° ª K3K3K3Kv¯ ° ª K3K3K M K 8° ª 9 5xª °x°x°x° 9 ° ª K3K3K3K 535 ° ª K3K3K3K 5 ° ª K3K3K M3M3M° ª ± 5xª °x°x°x° 8 ° ª K3K3K3K 5 ± ° ª K3K3K3K ° ª K3K3K M3M ¯° ª K ° ª K3K3K3K M ± ° ª K3K3K3K 5 K ° ª K3K3K M3L ° ª K3K3K M ±x¯
5 ° ª K3K3K3K = ± ° ª K3K3K3K 5.= ° ª K3K3K M ± ° ª K3K3K M&9T8
5xª25 ° ª K3K3K3K L ± ° ª K3K3K3K 5 ± ° ª K3K3K M&9 ° ª K3K3K M38&9¯ ª ¯ ° ª K3K3K M ±x± ° ª K3K3K M&9TL ° ª K3K3K =&8 ° ª K3K3K = ¯&K¯ ª 8 ° ª K3K3K M&9 ± ° ª K3K3K M38T= ° ª K3K3K = ¯ ° ª K3K3K = ¯¯ ª 9 ° ª K3K3K M38 ± ° ª K3K3K M ¯&K ° ª K3K3K = 5 ° ª K3K3K = 5
8�ª�= ° ª K3K3K = °v± ° ª K3K3K = ° 9 ° ª K3K3Kv± M ° ª K3K3Kv± M
8�ª M ° ª K3K3K L Kv± ° ª K3K3K L K 9 ° ª K3K3Kv± = ° ª K3K3Kv± =
8�ª K ° ª K3K3K L3M ± ° ª K3K3K L3M ± ° ª K3K3Kv± L ° ª K3K3Kv± L
9 ° ª K3K3K LT= ± ° ª K3K3K LT= ± ° ª K3K3Kv±x± ° ª K3K3Kv±x±± ° ª K3K3Kv± = ± ° ª K3K3Kv± = ± ° ª K3K3K 9 ± ° ª K3K3K 9 ±¯}° ° ª K3K M ° =3= ° ª K3K M ° =3= ° ª K3K = Kv±x¯ ° ª K3K = Kv±x¯±}° ° ª K3Kv±}° MT= ° ª K3Kv±}° MT= ° ª K3K 9TM3L38 ° ª K3K 9 K L38
5 °x° ° ª K3Kx° 5 ¯ 9 ° ª K3Kx° 5 ¯ 9 ° ª K3K ° ª K3K
5 °x°x° ° ª Kx° 9 Kx° 8 ° ª Kx° 9 Kx° 8 ° ª Kx° 9]= Kv¯ ° ª Kx° 9]= Kv¯
5 °x°x°x° ° ª 83LT= K 5 M ° ª 83LT= K 5 M ° ª 83LT=&M3L$5 ° ª 83LT=&M3L$5¯}°x°x°x° ° ª25 8 ± 83M38 ° ª25 8 ± 83M38 ° ª25 8 ± 8 ¯&K ° ª25 8 ± 8 ¯&K±}°x°x°x° ° ª °x° L3M °3Kv±&K ° ª °x° L3M °3Kv± M ° ª °x° LT=&8T=&L$5 ° ª °x° LT=&8T=&L$5
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x U(x) L1(x) LGeom,1(x) LNGeom,1(x)° 5 ° � ° ª�= ±}°x°x°3K 5° ª25 5xª ° 5.= ± M ° ª25 � ° ª L ±}°x° 5 ¯ ° ª K MT= 9TL$5° ª ¯ 5xª ° L ¯ 838 ° ª ¯ � ° ª ±x±}°x° 5:9 ° ª Kv± M ¯ 5 M° ª 8 5xª25 ¯x± 8 ° ª 8 � ° ª 9 ±}°x° 5.= ° ª Kv¯x¯}°v¯x±° ª 9 5xª ¯}°x° 9]= ° ª 9 � ° ª 8 ±}°x° 5 K ° ª M3M ± L&9 K° ª ± 5xª ¯ M383M38 ° ª ± � ° ª ¯x±}°x°v¯x¯ ° ª M ± 83L38$5° ª L 5xª 8T= ¯ L3M ° ª L � ° ª25 ±}°x°v¯ 9 ° ª M ¯ M3MT=&8° ª�= 5xª 9TL ±x¯ ° ª�= � ° ª °v±}°x°v¯ L K ° ª M$5 8 ° = K° ª M 5xª ± L ° 5 K ° ª M ° ª ° 9 K3K = ° L ° ª M ° = 5° ª K 5xª L ± L3M38 ° ª K ° ª25:9 K3K L3M ° ª M$53535 M ¯
5 5xª�= ± 9 ± M 5 ° ª ¯ 9 K3K L3L ° ª M ¯x± 5 L
5xª25 5xª M ± 8 ° = 5xª25 ° ª 8&9 K3K L38 ° ª M&9TM ±&K =
5xª ¯ 5xª Kv±x¯}° L 5xª ¯ ° ª 939 K3K L$5 ° ª M3M ° M K
5xª 8 ¯ ª °v± 5 83M 5xª 8 ° ª ± 9 K3Kv± M ° ª Kv¯ 5 8&9 ±
5xª 9 ¯ ª25 ±}°3Kv¯ 5xª 9 ° ª L&9 K3Kv± L ° ª K L Kv¯x¯ =
5xª ± ¯ ª ¯x±}° L ¯ 5xª ± ° ª�= 9 K3Kv± 8 5xª °v¯ 83M¯ ¯ ª�= ±}°x° M ¯ 5xª ¯ 9 K3K 9 5xª 8T=&8 ± M
8 8�ª�= ± 8 ¯ ª ¯ 9 K3Kv¯ ¯ ª ¯ = ¯ M ±
9 9 ª�= ± 9 8�ª ¯ 9 K M K 8�ª ¯x± 83M38± ± ª�= ± ± 9 ª ¯ 9 K MT= 9 ª ¯x±}°v± 5
L L�ª�= ± L ± ª ¯ 9 K M&9 ± ª ¯ 9 K3K 9
= =�ª�= ± = L�ª ¯ 9 K M ¯ L�ª ¯ 9 K M38
M M�ª�= ± M =�ª ¯ 9 K = K =�ª ¯ 9 K = KK K ª�= ± K M�ª ¯ 9 K =3= M�ª ¯ 9 K =3=¯}° ¯}° ª�= ± ¯}° 5 K ª ¯ 9 Kv± 5 K ª ¯ 9 Kv±±}° ±}° ª�= ± ±}° 9 K ª ¯ 9TMT= 9 K ª ¯ 9TMT=
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x U(x) L3(x) L9(x) LGeom,4(x) LNGeom,4(x)° 5 ° ª ± 5 ° ª ±}°x°x°v¯x± 5° ª25 5xª ° 5.= ± M ° ª L 5xª °x°3K 8T= ° ª L °x°x°v¯ 5xª °x°3K 8T=° ª 8 5xª25 ¯x± 8 ° ª M 5xª ° = 939�5 ° ª M °x°x° 5 5xª ° = 939�5° ª 9 5xª ¯}°x° 9]= ° ª K 5xª25 ¯ 9TL3L ° ª Kx°x°x°x°v± 5xª25 ¯ 9TL3L° ª ± 5xª ¯ M383M38 5 5xª25 M38 K 9 5 5xª25 M38 K 9° ª L 5xª 8T= ¯ L3M 5xª25 5xª ¯x±}° L 5xª °3K3K3K3K 5xª ¯x±}°v±&K° ª�= 5xª 9TL ±x¯ 5xª ¯ 5xª 8 ¯ 838 5xª25 K3K3K3K 5xª 8 ¯ 8 ¯&K° ª M 5xª ± L ° 5 K 5xª 8 5xª 9 °x°3Kv± 5xª ¯&K3K3K M 5xª 9 °x°3K 9° ª K 5xª L ± L3M38 5xª 9 5xª 9TM ¯ L ± 5xª 8 K3K3K M 5xª 9TM ¯ L&9
5 5xª�= ± 9 ± M 5xª ± 5xª ± LT=&LT= 5xª 9 K3K3K = 5xª ± LT=&L3L
5xª25 5xª M ± 8 ° = 5xª L 5xª L ±x± 9 5xª ±&K3K3K = 5xª L ±x± 8 K
5xª ¯ 5xª Kv±x¯}° L 5xª�= 5xª�= 9 ± 83L 5xª L K3K3K L 5xª�= 9 ± 8&9
5xª 8 ¯ ª °v± 5 83M 5xª M 5xª M38T= 5:9 5xª�= K3K3K L 5xª M38T= 535
5xª 9 ¯ ª25 ±}°3Kv¯ 5xª K 5xª K 8 ° 9�5 5xª M K3K3Kv± 5xª K 8 ° 83M
5xª ± ¯ ª ¯x±}° L ¯ ¯ ¯ ª °v¯ 9TM K 5xª K3K3K3Kv± ¯ ª °v¯ 9TM3L¯ ¯ ª�= ±}°x° M ¯ ª ± ¯ ª ±}°3K 5 L ¯ ª 9 K3K3Kv¯ ¯ ª ±}°3K 535¯ ª ± 8�ª ¯x±}°x° 5 8 8�ª °x° 838T= ¯ ª K3K3K3K 8�ª °x° 8 ¯&K
8 8�ª�= ± 8�ª ± 8�ª ±}° 5 ¯ 9 8�ª 9 K3K MT= 8�ª ±}° 535:9
9 ª ± ± ª ¯x± ± ± ª °x°x°x° L 9 ª K3K3K M K 9 ª K3K3K M± ± ª�= ± ± ª ± ± ª ±}°x°x°v¯ ± ª 9 K3K M ¯ ± ª 9 K3K =3=
L L�ª�= ± L�ª ± L�ª ± L�ª 9 K3K = ± L�ª 9 K3K = ¯
= =�ª�= ± =�ª ± =�ª ± =�ª 9 K3K = =�ª 9 K3K LT=
M M�ª�= ± M�ª ± M�ª ± M�ª 9 K3K L ± M�ª 9 K3K L ¯K K ª�= ± K ª ± K ª ± K ª 9 K3K L K ª 9 K3Kv± =
5 ° 5 ° ª�= ± 5 ° ª ± 5 ° ª ± 5 ° ª 9 K3Kv± 5 ° ª 9 K3Kv±
535 535xª�= ± 535xª ± 535xª ± 535xª 9 K3Kv± 535xª 9 K3Kv±¯}° ¯}° ª�= ± ¯}° ª ± ¯}° ª ± ¯}° ª 9 K3K ¯}° ª 9 K3K±}° ±}° ª�= ± ±}° ª ± ±}° ª ± ±}° ª 9 K = ± ±}° ª 9 K = ±
5 °x° 5 °x° ª�= ± 5 °x° ª ± 5 °x° ª ± 5 °x° ª 9 Kv± 5 °x° ª 9 Kv±
5 °x°x° 5 °x°x° ª�= ± 5 °x°x° ª ± 5 °x°x° ª ± 5 °x°x° ª 9 ± 5 °x°x° ª 9 ±
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��|��x¢ t�{x����©x��{�¬~r tvuxwzyv{}|~r ���l�¥����{x��� {st�{x�����x��r ®x��{xyv��|�{����x�~r ¦}|��¥��{l����®}��yv{}|�{s��r {�|��x¢ {x¢�{x¢�� �
wb|~r ���s���x¢�®x��|��x��� ª � �x¢�� ��� ���x¢�|�{x�«¤¥¨ ���xyv��|�{�� ���x�­���xyxt��¥��®x��yv{}|�{
�

5xª ��{¡����®}��yv{}|�{Kt����Kt�{x�����x��� {x��{x¢ ��r Politis
��{vr

Koutras � ¯}°x°v± � � �­�¥��®}uv{vr � 9 �${}t��}|��[uv��©x¢
���[ux|~� wz���«|¥wz¢�����{}��yv®}|¥wz¢­{}t�¦ |�{W�vt���� {gt������}u}��{x¢���®}|¥wd{}t�¦����}� ���[���~r yv¤¥¢��¥�¡���x¢����}���¥�
t���� t���¤[t���r�¢�{sr ��{x¢��vt���r ��©x¢�|�{vr�{}t�¦s|�{ ¨ {x��{}��|��x�~r ��|~r ��® |��x����{}|�{x¢���yv�x��|¥wz¢W�¥¢�¬~r ®xyv�¥��wz¢
¨ ��¦x¢�wz¢ yv�[|�{ ��©�|¥wz¢ {x¢�{x¢��[£z���[wz¢ ª � ���[ux|~� wz����{x�}|��Kr ��¨ ©x��r�|����}uv®x¨�r ��|��x¢���r {Ky�r {�t��¥�~r �}¨ �
��©x��w {}t�¦]|�� yv�x¬�¤¥¢ �"�¥¢�£ � ���xyxt��¥�~r ������® |¥wz¢p����{}��yv®}|¥wz¢l��� ¢�{vr � ¬~r {]{x���xyxtv|¥wb|~r ��® ª �
�¥��{x��yv�~���­|��x� yv� ��¦�¬����«{x�}|��x� �[t�{x¢�{}uv�}tv|~r ��®­yxt���������¢�{­yv{x��¬�£z����rx��r {«¤¥¢�{­t��[t��¥��{x��yv¤¥¢��
tvuv�~�����K���xyv®}|¥wz¢«��{}uv©}|��¥��{�����®}��yv{}|�{�������¨ ¤¥��� yv��{x�}|�®�{}t�¦�|�{��vt���� {st������}u}��{x¢ ª
¯ ª � yv¤ ����¬���� ��{}|�{x�����¥�x�x�p��®}|¥w�����{}��yv®}|¥wz¢Y��r { |��x¢ {x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x��� ¨ ���x��r yv���
t���r £z¢�|�{x� ®x¢�w ����®}��yv{}|�{]|��x�lt�r ��{x¢�¦}|��}|�{x�p¨ ���¥�v���vt�� {x� � ���x��® ��©x¢����[|��x�����[wzyv�[|��~r ���x�
��{}|�{x¢���yv�x� � � �­�¥��®}uv{vr �l± � ¤¥¨ ��r�|�{�� ���x��¨ {x��{}��|��x�~r ��|~r ��®	�

• � {}���~� ����r {Y|¥wz¢ ����{}��yv®}|¥wz¢���r {Y|��x¢p{x¢�{x¢��[wb|~r ���]���x¢�®x��|��x��� � ��{x��|�®}|�{vr {}t�¦ |��x¢
{x¢�|~� ��|���r ¨ ��{}���~� ����r {�|¥wz¢W����{}��yv®}|¥wz¢«��r {�|��x¢«t�r ��{x¢�¦}|��}|�{s¨ ���¥�v���vt�� {x� ª

• ��{Y��®}|¥w ����®}��yv{}|�{ ��r { |��x¢p{x¢�{x¢��[wb|~r ���Y���x¢�®x��|��x���pt���� t����v��©}tv|����x¢ {}t��v��|���©x¢
|���yv¤[��r ��|��s{}���~� ����r {�|����x��wz��t�������|��x¢«t�{x��®xyv�[|����

p
{x���xyxtv|¥wb|~r ��® ��r {

p→ 0 ª
• ��{�����®}��yv{}|�{Kt�����t�����¤¥��¨ �x¢�|�{vrv{}t�¦­{x�}|�®¡|��x�mt�r ��{x¢�¦}|��}|�{x��¨ ���¥�v���vt�� {x� ��|~r ��t��¥�~r � �
��¦}|��¥���¥� t��¥�~r tv|�£z����r � ¤¥¨ ���x¢K|��x¢�� ¬~r {­{x���xyxtv|¥wb|~r �������xyxt��¥�~r ������®�yv�m|�{­�x¬�����¢�wz��|�®
����®}��yv{}|�{ ª

• � yv� ����¬��~uv�~��� {l{x�}|��s���x¢�¬�¤¥��r�®xyv�¥��{ |��x¢ {x¢�{x¢��[wb|~r �������[wz�~� {syv��|��x¢W���[wz�~� {s¨ ��� �
�v���vt�� {x�
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8�ª � yv¤ ����¬����pt���� ¨ ���x��r yv�vt���� �x��{x¢]��r Politis
��{vr

Koutras � ¯}°x°v± �«��r { |��x¢]�}t��~uv�~��r ��yv¦
¢�¤[wz¢�����{}��yv®}|¥wz¢���r ��®}���x¢�|�{x� |�{ �x¬��p��¢�wz��|�® ����®}��yv{}|�{ ��|��x¢s{x¢�|~� ��|���r ¨ � {x¢�{x¢��[wb|~r ���
� �~� ��wz������yxt���������¢�{ ¨ ���x��r yv�vt���r �~�����z��{vrz��r { |��x¢ ���[ux|~� wz��� |¥wz¢ ®x¢�w�����{}��yv®}|¥wz¢Y|��x�
t�r ��{x¢�¦}|��}|�{x�¡¨ ���¥�v���vt�� {x��|����

Brown � 5 K3Kx° � � �­�¥��®}uv{vr � L � � {x¢�|~r ��{~� r ��|�£z¢�|�{x�K|�{g����®}� �
yv{}|�{ {x�}|�® ��|��x¢l{x¢�|~� ��|���r ¨ �]{x¢�{x¢��[wb|~r ���Y���x¢�®x��|��x���p��r { |��x¢lt�r ��{x¢�¦}|��}|�{Y¨ ���¥�v���vt�� {x� ª
� ���[ux|~� wz���l{x�}|�����{p��¬��}���x����r���{vr$���W¢�¤¥{p����®}��yv{}|�{l��r {p|��x¢s{x¢�{x¢��[wb|~r ��� ���x¢�®x��|��x���
yv�¡|���yv¤ ����¬���t�����t��¥�~r ����®x��|��}������|�� �­�¥��®}uv{vr �l± ª
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��{vr
Laplace-Stieltjes
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�����
Riemann-Stieltjes

8 A�����S:90+ �<; = ?-@BA7C
f, g : [a, b] → R

kmf
g
P �^�QXnt
@qP�@Yt^OZi7WBA�`q@B`�{ �T_�Abf `

f
uKN��afnAbP
\

RS-XwuKXZgeuY`QW<Ur@�\ kr` H CrRy[�WYXZR1A�`qO"P �^�QXnt
@qPy@Yt^OZi7WBA�`q@B`
g
P^O�\ @�S��
fQ\ �

sup {L(f, g, P ) : P
�Z\xPQkmNGWY\ @B`�AbXnt

[a, b]} = inf {U(f, g, Q) : Q
�Z\xPQkmNGWY\ @B`�AbXnt

[a, b]} := I

_
[ZXnt �
L(f, g, P ) =

n∑

i=0

infx∈[ti−ti−1]f(x)(g(ti) − g(ti−1)), P = {a = t0 < t1 < ... < tn = b}
gjP
\
U(f, g, P ) =

n∑

i=0

supx∈[ti−ti−1]f(x)(g(ti) − g(ti−1)), P = {a = t0 < t1 < ... < tn = b}
� {����xy~���~u�� �����xyv��|��x¢ {x�~r ��yv¦ � t�����{x¢�|~r ��|���r ¨ ������|�� RS-

�~uv�v���x��wzyv{s|��x�
g
wz�­t������«|��x¢

f
yv� �

I =

∫ b

a

f(x)dg(x)

8 A�����S:90+ �Y;>= ?-@BA7C
g : [a, b] → R

HmAe_�AbfhX�W�v �7XntekmflCrR}g �ekYP^OZ@B`�A�`qR
g
AbX�O"P7WY\ ] km_ �

V b
a (g) = sup

n∑

i=1

|g(ti) − g(ti−1| : P = {a = t0 < t1 < ... < tn = b,
�Z\xPQkmNGWY\ @B`�AbXnt

[a, b]}

� ���~r ��yv¦��«|����l�~uv�v��uv�x��£zyv{}|���� R-S
�[t��[��|���� ¢��[|�{vr���{vr���r {l���x¢�{x��|��x����r ��t����l¤¥¨ ���x¢�����{}� �

yv¤¥¢�� ��©xyv{x¢���� ª
� A�9 'T����X �<;V= ?-@BA7C

f, g : [a, b] → R
_
[ZXnt

f
k:X�OZ_�AbX�O^`y@Yt^OZi7WBA�`q@B`�gjP
\

g
@Yt^OZi7WBA�`q@B` � W�Pn� kmN7�

O^`qR>g �ekYP^OZ@B`qRcHYUr@BAbf>`
f
OQPyfQv OQP
\

R-S
CrR1[�WYXZR}A�`qO

g
HMAe_�AbflgjP
\B`

g
fQv OQP
\

R-S
XwuKXZgeuY`QW<Ur@�\ kr`

CrR"[�WYXZR1A�`qO
f
gjP
\K\ @�S��
fQ\ �
∫ b

a

f(x)dg(x) = −
∫ b

a

g(x)df(x) + f(b)g(b) ∗ f(a)g(a) � =�ª25 �
� ��¨ ¤¥��� � =�ª25 �­r ��¨ ©x��r$��{vr ��|��x¢�t��¥�~� tv|¥wz��� t����Y��r f,g ��� ¢�{vr ���x¢�{x��|��x����r ������{}��yv¤¥¢��x� ��© �

yv{x¢����x����{vr��[t�r tvuv¤¥�x¢g�
f
��� ¢�{vr����x¢��¥¨ �x� ª

5:9]=



� ���V�)(�*&+������~9 'TXG'$%&+ 'TFY[ F�-YFG(0- X0A �BS���'TF0+
R-S

5xª ∫ b

a
df(x) = V b

a (f)

¯ ª ��¢g� g
��� ¢�{vr�t�{x��{}� wb��� ��r yv�s���x¢�®x��|��x���W|�¦}|���r ��¨ ©x��r � ∫ b

a
fdg(x) =

∫ b

a
fg

′
(x)dx

8�ª ∫ b

a
(f + g)dk(x) =

∫ b

a
fdk(x) +

∫ b

a
gdk(x)

9 ª ∫ b

a
fd(g + k)(x) =

∫ b

a
fdg(x) +

∫ b

a
fdk(x)

± ª ∫ b

a
fdg =

∫ c

a
fdg +

∫ b

c
fdg

5:9TM



� ����������� � � �

� ����� ���
	 ����


8 A�����S:90+<�<;V= ?-@BA7CmH�X��j@Yt^OQP7WBA�pq@�f�� R
f, g : [0, t] → R

{ �(O>`
g
fQv OQP
�jP �^�QXnt
@qPlgjP
�q`

h(x)=f(t-x)fQv OQP
�
Riemman-Stieltjes

XwuKXZgeuY`QW<Ur@�� kr`,CrR [�WYXZR A�`qO
g
H3Ae_�Abf�X�W�v �7fnAbP
�M` @Yt^OZN�u�� �
` A7CrO

f
gjP
�

g
H CrR}fc�
pqR��

(f ∗ g)(t) =

∫ t

0

f(t− x)dg(x) + f(x)g(0) ≡
∫ t

0−
f(t− x)dg(x)

8 A�����S:90+ �Y; �dW�v �7Xntekmfh@qP^O�g^� Aei^�
`qR>@Yt^OZN�u�� �
`,A�`qR
f
kmf}AbX�O"fQt
P Ae_yA�`qRcHmA�`5@Yt^OZi7WBA�`q@B`��

f ∗k(t) = f ∗ f ∗ .... ∗ f︸ ︷︷ ︸
k

=

∫ t

0

f ∗(k−1)(x)df(x)

kmf
f (∗1) = f

gjP
�
f (∗0) = 1

�����~9 'TXG'$%&+ �J[G"$%.-0/21$%&�B"
5
������� g ��� � {�� ��{
!�{#" w$" � % � y � %�& ��' !�| � % �)( |�*}| ��+

(f ∗ g)(t) =

∫ t

0

f(x)g
′
(x)dx

, ����� f, g ��� � {���{
-
.�/ &
%���01%�& � {
!�|�2 %�� � 0 |�*}| � � %�3 - � � + f ∗ g = g ∗ f

4 � (f + g) ∗ h = f ∗ h+ g ∗ h

5 � f ∗ (g + h) = f ∗ g + f ∗ h

6 � f ∗ (ag)(t) = (af) ∗ g = a(f ∗ g)(t), a ∈ R

7 ����� f, g ��� � {���{
-
.�/ &
%���01%�& � {
!�|�2 %�� � 0 |�*}| � � %�3 - � � + f ∗ g ≤ f · g

8 ����� f ��� � {���{
-
.�/ &
% { %�& ��' !�| � % � |�*}| � � %�3 - � � + f ∗n ≤ fn

9 5�:



� ����� F,G %�& � {
!�|�2 %�� � 0 ��{}|�{ � /�y�2 0 y � {
! ��� | � ��� � %�& � ��3 � � | &
3 { � w � y � |�{���� � |�� � ��{�� F ′
=

f ( |�*}| � +
d(F ∗G)(t)

dt
= (f ∗G)(t)

: ����� F %�& ��' !�| � % � ��{}|�{ � /�y�2 0 y � { 0 y � {
! ��� | � � 2 0 | &
3 { � { 0 y � |�{���� � |�2 0 ��{�� F ′
= f ( |�*}| ��+

d(F ∗n)(t)

dt
= (f ∗ F ∗(n−1))(t)

9�6��



� ����������� � � �

� �����	��

�����������������
Laplace �

�	�

Laplace-Stieltjes

�������! #"%$'&)(
(Feller 1971, Vol II) *,+ F -/.0+/1 �32%4 +6587:98;,< proper = ‖F‖ = 1 >,5?-A@81CBDBFE#G%1CB �IH 5

< defective = ‖F‖ < 1> H 1CBJ16+LKJGM5ON � 7P16+RQDBD9�BJ1P;�KTS � 2 G!UD+69 2 BJK [0,∞) BLQDBJ-VKWG!-�BJ1 2DX 9YG%1CB � 2 G!QR;
Laplace-Stieltjes KTSZ. [F-�BJ1 � EM;V-]\P58;�^

F̂ (λ) =

∫ ∞

0

e−λxdF (x)

�������! #"%$?_%( *,+a`b-/.0+/1 � G � 1WGM9c1FS%+69�B �IH 5 2%4 +/- X 58;VB 4dX 1P.�1WG!-�BJ1Fe:@%9�BD5�G!- 2%4 +RfFS3BD9 2 9 H 1CBJ1Rg
+LKJGM58; F =!BLQDBJ-hKTSZ. [FK 4 G!- 2 16+VG!-�BJ1 2DX 9YG%1CB � 2 G!Q Laplace BD98;WB 4dX 1P.�1P;hG!-�BJ1Fe:@%9�BD58;i`j<d5 F>,BD92%4 +RfFS3BD9 2 9kNRK 4 KTSZ. [F-�BJ1 �l2 BJK R+ 16NRQWBJKD+mBLn8NRK�^

L(F )(λ) =

∫ ∞

0

e−λxf(x)dx

oqp � {��qr�{ � � !�* {#� * |�/ &
0 / ! � % y�/ - 0 � / &ts *Pu � ��{ � �vw 0 / y � |�{ %�3 � yv{}| � % y�* 0 Laplace � p � {��
� � s � � 2�� � ! p �v|¥w % � |�/ & y � |�{ %�3 � yv{}| � % y�/ - Laplace-Stieltjes �'v | � %�& �Rw 3 � � {�u�{ s � % / & y � � 'Rx� / � ��0 ��{ % � � w 0 � s � *}| � | ��0 |�/ & y � |�{ %�3 � yv{}| � % y�/ - Laplace-Stieltjes y *�y�/ � ��0 � %�3 -
/ & � ��{�� "�� {«|�/ �
y � |�{ %�3 � yv{}| � % y�* Laplace z �
{�| �I")}Y~l}��6$?}Y�3�� #�R}Y�Z�!�%~% #��}����! #�3�

Laplace-Stieltjes

9 ����� X1, X2 � p � {���{ � � . ' !�| � | ��0 | &
3 { p ��0 y � |�{���� � | w 0 y � %�& ��' !�| � % � ��{}|�{ � /�y�2 0 F1, F2{ � | p % |�/ � 3 { ( |�*}| � + ̂(F1 ∗ F2)(λ) = F̂1(λ)F̂2(λ)

, � F̂ ∗n(λ) =
(
F̂ (λ)

)n

, ∀n ≥ 0

4 � L(F )(λ) = λ−1F̂ (λ)

5 � L(1 − F )(λ) =
∫∞
0
e−λx(1 − F (x))dx = (1−F̂ (λ))

λ

9�6 9



6 � dnF̂ (λ)
dλn = (−1)n

∫∞
0
e−λxxndF (x)

7 ������� � p � {�� y � { %�& � ��3 2 0 | &
3 { p { y � |�{���� � |�2 y � !�/�� / " � ��� 2}|�! � { MX(t)
|�*}| � � %�3 - � � +

L(F )(t) = MX(−t)

9�6
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� ����������� � � 	


�� ��
 ��� ������� 
 �t� 
 ���c���,��� ���
��� 
 ��������� �t��� � 


� � � ��� �! "��
#
 �$�
Mathematica

��� " � w ! p % / & y � | �
� {Cu !�/ � % | � � 2 %�& ��' !�| � % � ��{}|�{ � /�y�2 |�/ & 3 !�* � / & y � |�{
.�- |¥w � { � { � � � x
%�� w � |�*}| � � { � { � � wb| � � 2 %�& ��' !�| � % � y U [t] zis p � � |�{���{#� *�|�/ � ��{
!�{}� ' |¥w={��
" * ! � u�y�/ +

F [u ] := 1 − Integrate[f [x], {x, 0, u}];

T [a ] := LaplaceTransForm[F [u], u, a];

U [t ] := InverseLaplaceTransform[(2 ∗ a ∗ T [a] − 1)/(a2 ∗ T [a]), a, t];

��� " � w ! p % / & y � | �
� � & � � *}| � |�{­| � 0 ��{}|�{ � /�y�2 0 � / & {}� / ��/ & u � p / 3 !�* � / 0 y � |�{
.�-«|¥w � { � { x
� � � %�� w � |�*}| � � { � { � � wb| � � 2 %�& ��' !�| � % � y Usecond[t] zqs p � � |�{���{#� * |�/ � ��{
!�{}� ' |¥w {��
" * ! � u�y�/ +

c[s ] := LaplaceTransform[f [x], x, s];

M [s ] := c[s]/(1 − c[s]);

h[t ] := InverseLaplaceTransform[M [s], s, t];

Usecond[s ] := 1 + Integrate[h[t], t, 0, s];

9�6#4
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� ����������� � � �

� �
�
� � � � ����� ��� ��� � ��� � � � ���c� � 


�������! #"%$ &)(�� � 2 BFE!= ` G � 1tGM9 1FS%+69�B �IH 5 2%4 +/- X 58;OB 4dX 1P.�1tG!-�BJ1Fe:@%9�BD5�G!-k1P7FS%K � 2 B �IH 5 2%4 g
+RfFS3BD9 2 9 H 1CBJ16+LKJGM58; F

H 1 � 2%4 +RfFS3BD9 2 9 N 4PH +RQDBD9�BJ1P; f =MBLQDBJ- KTSZ. [FK 4 G!- 2 16+ie%1P7CG!.��L1�16NRKDB 4dX .�1P;
< failure rate>�BD9?7P-�B �IH 5 2%4 +RfFS3BD9 2 9 λ(t) = G!-VBLn8NRKW^

λ(t) =
F

′
(t)

1 − F (t)
=

f(t)

1 − F (t)
,

∀t ≥ 0.

�������! #"%$�_%(	� � 2 BFE!=)`bG � 1WGM9?1FS%+69�B �IH 5 2%4 +/- X 58; B 4dX 1P.�1�G!-�BJ1Fe:@%9�BD5,G!-!e%1P7CG!.��L1,16NRKDB 4dX .�1P;
λ(t) =!BLQDBJ-V9 2%4 +RfFS3BD9 2 9 H � +
�Rn6+LK 4 KTSZ. [F-�BJ1 � 16NRQ�BJKD+,BLn8NRKW^

Λ(t) =

∫ t

0

λ(s)ds,

∀t ≥ 0.

v |�/ ��� p � {}��{ 8 � 9 r�{ p � / � |�{���* � ��0 / � %�3 w %�� � 0 � / & %�& � s w / & � | � 0 � / % *}| � | ��0 +
f(t), F (t),Λ(t)

��{��
λ(t).

λ(t) F (t) f(t) Λ(t)

λ(t) x F
′
(t)

1−F (t)
f(t)∫∞

t=0 f(s)ds
Λ

′
(t)

F (t) 1 − e−
∫ t
0

λ(s)ds −
∫ t

0
f(s)ds 1 − e−Λ(t)

f(t) λ(t)e−
∫ t
0

λ(s) F
′
(t) − Λ

′
(t)e−Λ(t)

Λ(t)
∫ t

0
λ(s)ds ln(1 − F (t) −ln

∫∞
t=0

f(s)ds −

� p � {}��{ 0 8 � 9 +

�������! #"%$�
%(�� B 4dX 1P.�1�G!-�BJ1Fe:@%9�BD5���7P1 @lUJG!-hQDB � U X - � BD98+ � � � QDBD9�BJ1m^
9�6
6



���
IFR (Increasig Failure Rate) = 16+k9me%1P7CG!.��L1 16NRKDB 4dX .�1P;cBD98;]= λ(t) -/.0+/1 � 1Pn6\/K 4P2 1 2%4 g
+RfFS3BD9 2 9�EM;WNTS%KR; t

�

���
DFR (Decreasig Failure Rate) =�16+ 9 e%1P7CG!.��L1 16NRKDB 4dX .�1P;tBD98;]= λ(t) -/.0+/1 ��� 7P.0+LK 4P2 12%4 +RfFS3BD9 2 9�EM;WNTS%KR; t

�

�������! #"%$��#(
	 � 1 H 1CBJ16+LKJGM5 F 7P1,QDB � U X - � BD98+ � � � QDBD9�BJ1�^
���

IFRA < Increasing Failure Rate in Average>�= 16+,9 2%4 +RfFS3BD9 2 9�^
Λ(t)

t
=

1

t

∫ t

0

λ(s)ds

-/.0+/1 � 1Pn6\/K 4P2 1 2%4 +RfFS3BD9 2 9�BJK 4 t
�

���
DFRA < Decreasing Failure Rate in Average >�= 16+,9 2%4 +RfFS3BD9 2 9�^

Λ(t)

t
=

1

t

∫ t

0

λ(s)ds

-/.0+/1 ��� 7P.0+LK 4P2 1 2%4 +RfFS3BD9 2 9�BJK 4 t
�

�������! #"%$
�%(
	 � 1 H 1CBJ16+LKJGM5 F 7P1 @lUJG!-hQDB � 16+65 H - �l2 BD98+WK �IH K���UD+/- � 1 H 1CBJ16+LKJG��M+C^
���

NBU (New Better than Used) = 16+
R(t |x) ≤ R(t), ∀t ≥ 0, x ≥ 0

���
NWU (New Worse than Used) =#16+

R(t |x) ≥ R(t), ∀t ≥ 0, x ≥ 0

QPNRK 4 ∀t ≥ x ^
R(t |x) =

F (t + x)

F (x)�������! #"%$
�%(
	 � 1 H 1CBJ16+LKJGM5 F 7P1 @lUJG!-hQDB � 16+65 H - �l2 BD98+WK �IH K���UD+/- � 1 H 1CBJ16+LKJG��M+C^
���

NBUE < New Better than Used in Expectation>�16+ � 2DX nP- � ^
< 1�� > � F =#U X - � NR-DNR- SZ1 2 G!UD+69mG!U 2 9�B � GM5�G
< e�� >�� 2DX nP- � 9c16+ � 2 QDBD9�BJ1 ∀x ≥ 0 ^

MTTFx ≤ µ

9�6#7



���
NWUE < New Worse than Used in Expectation>�16+ � 2DX nP- � ^
< 1�� > � F =#U X - � NR-DNR- SZ1 2 G!UD+69mG!U 2 9�B � GM5�G
< e�� >�� 2DX nP- � 9c16+ � 2 QDBD9�BJ1 ∀x ≥ 0 ^

MTTFx ≥ µ

QPNRK 4 ^
•

MTTFx =

∫ ∞

0

R(t |x)dt,

-/.0+/1 � K G!U 2 KR; 4 NRKd@8- � NRQJG!-D+LKR; X SZQD+LKR;V[ E 58; G#KD+Rf �L1P;�NRK 4 9�9�@ �IH .�1cBD98;V-/.0+/1 � x �H 1 �

•
R(t |x) =

Pr(T > t+ x)

Pr(T > x)
,

-/.0+/1 � 9 �R- 2 G!- 4 G!UD+69�N � 7P16+RQDBD9�BJ1i-DN � N @lU/KD+ -DN � e%. E 2 98; G � 1P;!G#KD+Rf �L1P;
� � 1 X S%KD+ �IH Q � � f 2 BD9YG%1
GM5 H K 4 ; t �R- �RKJG!UD+LK 4 QDB � 9�9�@ �IH .�1?BD98;h-/.0+/1 � x �

�������! #"%$��3(
	 � 1 H 1CBJ16+LKJGM5 F 7P1 @lUJG!-hQDB � 16+65 H - �l2 BD98+WK �IH K���UD+/- � 1 H 1CBJ16+LKJG��M+C^
���

IMRL (Increasing Mean Residual Life) =#16+�9 2%4 +RfFS3BD9 2 9�^
∫∞

t
F (x)dx

F (t)

-/.0+/1 � 1Pn6\/K 4P2 1WEM;WNTS%KR; t
�

���
DMRL (Decreasing Mean Residual Life) =#16+,9 2%4 +RfFS3BD9 2 9�^

∫∞
t
F (x)dx

F (t)

-/.0+/1 ��� 7P.0+LK 4P2 1,EM;�NTS%KR; t
�

� � {�| � 0 / � � / " w�� � � ��0 ��{}|�{ � /�y � � � / & { � {Pr w !�{xy � ��{
!�{#� '
��� � %�3 -
/ & � / � � .�2 01%�3 w %�� � 0 +
•

IFR // IFRA

&&MMMMMMMMMM

// NBU // NBUE

DMRL

88qqqqqqqqqq
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•

DFR // DFRA

&&MMMMMMMMMM

// NWU // NWUE

IMRL

88qqqqqqqqqq

� w ��/ 0 u�{�� ! w � � � � {�{ � {Pr w !�/ & y � � � 0 � � �Yu � | � � 2s��{}|�{ � /�y�2 � p � {�� � y�* ��� ��{}|�{ � /�y�2 � / & w 3 � �
| �
� � s � *}| � |�{ � {�{ � 2}� � � | � |�! � yvy w�� { %�� * � ��0 | � 0 y � ��{
!�{xy � |�! � � w 0 / � � / " w�� � � ��0 ��{}|�{ � /�y � � � / &/ ! p % {xy � �

9�6��



����������� � ��� �	� �

 (���
�
���� {�� �

9 ��� {xy � { � / - ��� y 9 :
: 7 z��hBJ1CB � 2 B �IH QR; UA@8- � X KR;VNRK � QDBD9�BJ1P; H 1 � 16\ � KPN � 2 BL.�1 � o � s * %�� � 0 � u�{ � { x
% *�� / & ��/ 0 v ��{�� � {#��{ s ' y � 0 v �

, ��� / & | % *�� / & ��/ 0 (�� � � � y 9 :
:
: zl*,+/1]@lK�� � 2 B �IH f 	 1P7:9YG%1CB �IH f g�� -]EZSZ.�1�� � +
�Rn6+/EM+ � o � s * %�� � 0
v & yvy � |�! p { �

4 � � / � p | � 0 (�� � y ,�� � 5 z! 16+/-DN � 2 BD9YG � 1 H U/; 2 9YG!- � � 2 - � ; 2 BD9"� -]EZSZ.�1 ` SZ-/K H KPNR.�1P; � � { ��� � � � x
!�{�� ')�

5 ��# {}� p � / 0 ($� � y 9 :
:#5 z%�hBJK X 1 2 B �IH U/;OG!U/7PK
�RK � 2 BD98+�-DN � X - � S39 2�� 1 H 5 U SZ- 4 +/1 � � � - 3 / 0 9 (
o � s * %�� � 0 v & yvy � |�! p { �

6 � � ! &
% {Pr p � / &'& � y ,�� � 5 z � � 2 1 ��E �Z5 2 B � ; 2 BJK X 1 2 B �IH U/;h16+/-A@l. \/- � ; � o � s * %�� � 0 v /:r p { �
( (*)����O�'+,
.-'/.�
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